iIme

traf

\
A\ 4
-
\ 4






trafimet

\
A\ 4
\ 4
\ 4



= trafimet

About us [en]

Trafimet is globally renowned for its wide range of welding and cutting torches, designed for
maximising comfort, performance and accessibility for professional welders worldwide.
Founded as an artisan workshop 50 years ago, the company has evolved to more than 22,000
square meters of cutting-edge production facilities located in Italy.

Trafimet proudly maintains its solid “Made in Italy” footprint and remains firmly committed

to its rich heritage.

Since 2019, Trafimet has been part of Kemppi Oy Group, a strategic move that marks the brand's
alignment with a leading welding company.



Chi siamo [it]

Trafimet e riconosciuta a
livello mondiale per la sua
ampia gamma di torce per
saldatura e taglio, progettate
per ottimizzare comfort,
prestazioni e accessibilita per
saldatori professionisti di tutto
il mondo.

Fondata come laboratorio
artigianale 50 anni fa, l'azienda
si & evoluta fino a raggiungere
oltre 22.000 metri quadrati di
stabilimenti produttivi
all'avanguardia situati in Italia.
Trafimet mantiene con
orgoglio la sua solida impronta
"Made in Italy" rimanendo
saldamente fedele al suo ricco
patrimonio.

Dal 2019, Trafimet e parte di
Kemppi Oy Group, una mossa
strategica che segna
I'allineamento del marchio con
un'azienda leader nel settore
della saldatura.

Uber uns [de]

Trafimet ist weltweit bekannt
fur seine grofte Auswahl an
Schweils- und Schneidbren-
nern, die maximalen Komfort,
Leistung und Zuganglichkeit
fur professionelle SchweilRer
auf der ganzen Welt bieten.
Vor 50 Jahren als Handwerks-
betrieb gegriindet, hat sich das
Unternehmen zu einer mehr
als 22.000 Quadratmeter
grollen, hochmodernen
Produktionsstatte in Italien
entwickelt.

Trafimet ist stolz darauf,
seinen soliden "Made in
[taly"-Standort beizubehalten
und bleibt seinem traditionsre-
ichen Erbe fest verpflichtet.
Seit 2019 ist Trafimet Teil der
Kemppi Oy Gruppe, ein
strategischer Schritt, der die
Ausrichtung der Marke auf ein
fihrendes Schweilunterneh-
men markiert.

= trafimet

About us
Trafimet Group SpA

A propos de nous [fr]
Trafimet est mondialement
connu pour sa large gamme
de torches de soudage et de
coupage, réputées pour
maximiser le confort, la
performance et 'accessibilité
pour les soudeurs du monde
entier.

Fondée en tant qu'atelier
artisanal ily a 50 ans, la
société a évolué pour atteindre
plus de 22 000 m? d'installa-
tions de production de pointe
situées en lItalie.

Trafimet revendique fierement
sa solide empreinte "Made in
Italy" et reste profondément
attaché a son riche héritage.
Depuis 2019, Trafimet fait
partie du groupe Kemppi Oy,
un choix stratégique qui scelle
I'alignement de la marque avec
une entreprise leader dans le
domaine du soudage.

Hakkimizda [tr]

Trafimet, profesyonel
kaynakeilar igin konforu,
performansi ve erisilebilirligi en
st duizeye gikaran kaynak ve
kesme torgu Uriinlerinden
olusan genis portfoylyle
diinya gapinda taninmaktadir.
50 yil 6nce bir zanaatkar
atolyesi olarak kurulan sirket,
italya'da 22.000 metrekareden
fazla alana sahip son teknoloji
Uretim tesislerine evrilmistir.
Trafimet, saglam "Made in
Italy" ayak izini gururla
korumakta ve zengin mirasina
siki sikiya bagl kalmaya
devam etmektedir.

Trafimet, 2019 yilindan bu
yana Kemppi Group Oy'un bir
pargasidir ve bu, Trafimet
markasinin 6nde gelen bir
kaynak sirketi ile uyumunu
isaret eden stratejik bir
harekettir.



? tra fi m et trafimet.com

PLASMA MIG

cutting torches welding torches

PLUSCUT 85 10 ERGOPLUS 15 74
PLUSCUT 105 12 ERGOPLUS 24 76
PLUSCUT 85 - AUTO 14 ERGOPLUS 25 78
PLUSCUT 105 - AUTO 16 ERGOPLUS 26 80
EXPRESCUT S25K 20 ERGOPLUS 36 82
EXPRESCUT S35K 22 ERGOPLUS 240 84
EXPRESCUT S25 24 ERGOPLUS 400 86
EXPRESCUT S45 26 ERGOPLUS 500 88
EXPRESCUT S65 28 ERGOPLUS 555 920
EXPRESCUT S75 30 ERGOFRESH 200G 94
EXPRESCUT S105 32 ERGOFRESH 350G 96
EXPRESCUT S125 34 ERGOFRESH 300W 98
EXPRESCUT A81 36 ERGOFRESH 500W 100
EXPRESCUT A101 38 ERGOFRESH 555W 102
EXPRESCUT A141 40 AUTOPLUS 36 104
EXPRESCUT A151 42 AUTOPLUS 500 106
PLASMA AW201 44 EURO CONNECTORS MACHINE SIDE 108
EXPRESCUT CB50 46 EURO CONNECTORS TORCH SIDE 109
EXPRESCUT CB70 48 KITS FOR 5/8-18 UNF CONNECTOR / OTHER CONNECTORS 110
EXPRESCUT CB150 50 ADAPTORS / SPECIAL TORCH HEADS 111
PLASMA CB50 52 COATED STEEL LINERS 112
PLASMA CB70 54 UNCOATED STEEL LINERS 113
PLASMA CB150 REMOVABLE INSULATOR 56 UNCOATED HIGH SLIDING STEEL LINERS 113
AUTOCUT S65P 58 TEFLON® LINERS / LINER SPARE PARTS 114
AUTOCUT S105P 60 LINERS WITH COPPER TERMINAL 115
AUTOCUT A141P 62 LINER ROLLS 116
AUTOCUT AW201P 64 HOSES 116
PLASMA CONNECTIONS 66 CONNECTORS / HOSE-SM / HOSE-AP CLAMPS 117
CENTRAL ADAPTORS 68 CONTACT TIPS 117
TRAFIMECTOR 69 CONVERSION KITS 121
FLOW METERS 70 CONSUMABLE KITS / ERGOPLUS 122
CIRCLE CUTTING GUIDE KITS 71 CONSUMABLES - BLISTER / ERGOPLUS 123

visit trafimet.com

for more details about the products.

6 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



Fa o T 0B

= trafimet

visit trafimet.com

for more details about the products.

TIG ACCESSORIES
welding torches connectors
PAGE
ADAPTIG AIR COOLED 128 QUICK CONNECTORS WATER - MINI GAS 172
ADAPTIG WATER COOLED 129 REDUCTIONS 173
TORCH HEADS / ADAPTIG 130 CABLE CONNECTORS - PANEL SOCKETS / PLUGS 174
TRIGGER KITS / ADAPTIG 132 CABLE CONNECTORS - SOCKETS / PLUGS 176
CONNECTION KITS - CABLE ASSEMBLIES / ADAPTIG 133
HANDLE KITS / ADAPTIG 135
EXPERTIG 9 138
EXPERTIG 17 139
EXPERTIG 18 140
EXPERTIG 20 141
EXPERTIG 26 142
CLASSIC 9 143
CLASSIC 17 144
CLASSIC 18 145
CLASSIC 20 146
CLASSIC 26 147
TIG 9V 148
TIG 17V 149
TIG 26V 150
AUTOTIG 18 151
AUTOTIG 20 152
AUTOTIG 26 153
EASY 400 PLUS 154
CENTRAL ADAPTORS 158
CONNECTORS M12X1 / CONNECTORS 3/8G 159
ELECTRIC PLUGS 160
SWITCHES - BUTTON KITS / EXPERTIG 161
TORCH HEADS / EXPERTIG - CLASSIC - TIG V - AUTOTIG 162
TUNGSTEN ELECTRODES 163
CONSUMABLEKITS 164
TIG9/20/20HC/25-CONSUMABLES 166
TIG17/18/18 HC /26 - CONSUMABLES 167
TIG17 /18 /18 HC /26 - STUBBY CONSUMABLES 168
TIG 24 / 24W - CONSUMABLES 169
TIG SUPER 50 - CONSUMABLES 170
CONSUMABLES - BLISTER 171

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLUSCUT

PLUSCUT [en]

The PLUSCUT torches have been developed for the most demanding industrial and professional
use.

There is a fine line between designing a quality manufactured product and cost savings. PLUSCUT
torches provide you with both. You will achieve the best, fast cuts and save costs with less repeat
work and less consumable consumption.

PLUSCUT torches are suitable for a variety of applications, including ‘Standard’, ‘Extended’, and
‘Gouging’.

visit trafimet.com

for more details about the products.



PLUSCUT [it]

Le torce PLUSCUT sono state
sviluppate per essere utilizzate
nelle applicazioni industriali e
per i professionisti piu
esigenti.

C'@ una linea sottile tra la
progettazione di un prodotto di
qualita e il risparmio sui costi.
Le torce PLUSCUT offrono
entrambi. Garantiscono sia
tagli veloci di altissima qualita
che risparmi sui costi grazie al
minor numero di ripetizioni del
lavoro e al minor consumo
delle parti di ricambio.

Le torce PLUSCUT sono adatte
per un'ampia gamma di
applicazioni, grazie alle
versioni di consumabili per
taglio "Standard" ed "Estesi" e
a quelli per operazioni di
‘Scriccatura’.

PLUSCUT [de]

Die neuen PLUSCUT-Brenner
erflllen die hohen Bedirfnisse
der Anwender und liefern
beste Schneidergebnisse. Sie
wurden fr den anspruchsvol-
len industriellen und professio-
nellen Einsatz entwickelt.

Es ist ein schmaler Grat
zwischen der Entwicklung
eines qualitativ hochwertigen
Schneidbrenners mit hoher
Schneidgeschwindigkeit und
gleichzeitiger Kosteneinspar-
ungen bei den
Verschleilteilen. Die
PLUSCUT-Schneidbrenner
bieten Ihnen beides. Sie
erzielen die besten, schnell-
sten Schnitte und sparen
Kosten durch weniger
Nacharbeit und geringeren
Verbrauch bei den
Verschleil3teilen.
PLUSCUT-Schneidbrenner sind
fur eine Vielzahl von Anwend-
ungen geeignet, darunter
,Standard", ,Extended” und
,Fugenhobeln".

= trafimet

PLASMA
cutting torches

PLUSCUT [fr]

Les torches PLUSCUT ont été
développées pour les
utilisations industrielles et
professionnelles les plus
exigeantes.

Il'y a une différence entre la
conception et la fabrication
d'un produit de qualité et la
réduction des colts. Les
torches PLUSCUT offrent les
deux. Vous obtiendrez des
coupes optimales et rapides
tout en réalisant des écono-
mies, avec moins de taches
répétées et moins de
consommables utilisés.

Les torches PLUSCUT sont
adaptées a de nombreuses
applications, dont « Standard
», « Long » et « Gougeage ».

PLUSCUT [tr]

PLUSCUT torglar, en zorlu
enddstriyel ve profesyonel
uygulamalar igin gelistirilmistir.
Kaliteli bir trtn tasarimi ile
maliyet tasarrufu arasinda ince
bir ¢izgi vardir. PLUSCUT
torglar, size her ikisini de
saglar. Daha az tekrarli
galisma ve daha az sarf
malzemesi tiketimi ile en iyi ve
hizli kesimleri elde edecek ve
boylece maliyetlerinizde gozle
goriltr tasarruf saglaya-
caksiniz.

PLUSCUT torglar; "Standart”,
"Extended (Uzun)" ve "Oluk
Agma" dahil olmak Uzere
cesitli uygulamalar igin
idealdir.




./
4 trafimet PLASMA CUTTING trafimet.com

PLUSCUT 85 C € enoooras

COAXIAL CABLE TECHNICAL DATA
CODE > =1 45A 65A 85A
PAP306M-004-SA3 6m 19.7' 06kg
1.321b
PAP312M-004-SA3 12m 39.4° CENTRAL 004 500
min. 4,5 - max. 5,0 bar
PAP306M-304-SA3 6m 19.7 225 1/min @ 5 bar
Compressed air
PAP312M-304-SA3 12m 39.4’ TRAFIMECTOR
304 100% 100% 100%
Max.Cl
@"z’gcm /:’:“ 10mm 22mm 30mm
Maximum 15mm 26mm 35mm
CABLE ASSEMBLY e 20mm 30mm 40mm
CODE «> = Bz | Pierce 12mm 16mm 19mm
PAP306M-004-SC3 6m 19.7'
PAP312M-004-SC3 12m 39.4' CENTRAL 004
PAP306M-304-SC3 6m 19.7' ‘
PAP312M-304-SC3 12m 39.4' TRAFIMECTOR
304

For Central 004 and Trafimector 304 pin connection scheme please see the relevant page.

CONSUMABLE KITS
CODE [ N
PT1045 ' 45 A consumable kit 1
g
PT1065 = 65 A consumable kit 1
i
PT1085 — 85 A consumable kit 1

CIRCLE CUTTING GUIDE KIT CV0397

10 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

CONSUMABLES FOR CUTTING (STANDARD)

CODE (1)} > PT1045 PT1065 PT1085 PCS X a
45 A 65A 85A
CV0384P 24,4 mm ° ° ° 1
PC0371P 34,8 mm L4 b b 1
PD0403P09 095mm 0,037" | 16,6 mm b 5
PD0403P12 1,2 mm 0,047 | 16,6 mm b 5
PD0403P13 1,35mm 0,053" | 16,9 mm ° 5
PE0363P 23 mm ° b ° 1
PR0362P 29,5mm i ° ° 5
CONSUMABLES FOR CUTTING (EXTENDED) CONSUMABLES FOR GOUGING
CODE 65A 85A pcsx [ CODE 65A 85A pcsx [
CV0385P q b L 1 CV0386P . b L 1
PCO371P . o o 1 PCO371P . o o 1
PD0406P12 L o 5 PD0409P11 - o 5
PD0406P13 g e 5 PD0409P13 = e 5
PE0363P o . . 1 PE0363P . . 1
PRO363P — ° ° 5 PRO362P pa— ® ° 5
CODE [ 5 (~ CODE [ 5 [~
) spring
FH1716P — air tube 2 EA2367 O for coaxial cable 1
X coaxial cable-6m/19.7'
EA1920 e o-ring 5 PH0930-06 ~__ S 146 1
ol e, coaxial cable - 12m / 39.4'
PF1390 r torch head 1 PH0930-12 - J1/4G 1
-"‘-‘ = trigger/lever_kit ! E:::&‘ cable assembly -6 m/19.7
BX0917 i with microswitch 1 PH4170-06 = -1/4 G - Central adaptor L
. . ) E:::&‘ cable assembly - 12 m/ 39.4'
PT0366 | microswitch kit 1 PHA17012 | == 21/46.- Contral adaptor 1
= handle i = T cable assembly -6 m /19.7’
TP0320 s with screws 1 FRATA06E = -1/4 G - Trafimector !
ball joint . — | cable assembly - 12m / 39.4'
BWO311 ‘i for cable assembly 1 PHA4T71-12 = -1/4 G - Trafimector !
FY0043 _— plasma central adaptor- 5pins | 1
TRAFIMECTOR® central adaptor
AITED - - torch side !

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 11




trafimet.com

—— °
- traﬁmet PLASMA CUTTING

PLUSCUT 105

C € ene0974-7

For Central 004 and Trafimector 304 pin connection scheme please see the relevant page.

CONSUMABLE KITS
CODE [ N
PT1105 '“‘_ 105 A consumable kit 1

CIRCLE CUTTING GUIDE KIT CV0397

COAXIAL CABLE TECHNICAL DATA
CODE <« =1 LS NO HF | 105A
PAP406M-004-SA3 6m 19.7 — 06kg
) w 1 m-1_
1.321b
PAP412M-004-SA3 12m 39.4 CENTRAL 004 v PEAK 500
3 g@ min. 4,5 - max. 5,0 bar
PAP406M-304-SA3 6m 19.7 ‘ 250 /min @ 5 bar
Compressed air
PAP412M-304-SA3 12m 39.4' TRAFIMECTOR
304 100%
Max.Cl
@az)zcm/:;n 3 5 mm
Maximum 40mm
CABLE ASSEMBLY i FSoverance 50mm
CODE — '-= _!_: Pierce 22mm
PAP406M-004-SC3 6m 19.7'
PAP412M-004-SC3 12m 39.4' CENTRAL 004
PAP406M-304-SC3 6m 19.7° ‘
PAP412M-304-SC3 12m 39.4' TRAFIMECTOR
304

12 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




PLASMA CUTTING ? trafimet

CONSUMABLES FOR CUTTING (STANDARD)

CODE o «—> PT1105 pcsx A
105A
CV0383P 25mm o 1
PC0370P 348 mm o 1
PD0402P15 1,5mm  0059" |17,5mm o 5
PE0362P 23 mm o 1
PRO362P 29,5mm o 5
CONSUMABLES FOR CUTTING (EXTENDED) CONSUMABLES FOR GOUGING
CODE 105A pcsx [ CODE 105A pcsx [

CV0385P CV0388P

PC0370P

PD0406P15 g o 5
=
—1

PC0370P

PD0410P14 - ° 5
=
d—i

PE0362P PE0362P

PRO363P PRO362P

CODE [ 7 ) CODE [ 7
Frt71oP airtube 4 EA2367 m for c::;iiglgcable 1
EA1920 | o-ring 5 PH0930-06 | v coaxial Cf_’t;'/eA‘g m/19.7 ]
PF1390 "v"“\*- torch head 1 PH0930-12 v coaxial ca_b1I?4— ;I;Zm /39.4 1
-"": trigger/lever kit cable assembly -6 m/ 19.7’

BX0917

h with microswitch 1 PH4170-06 -1/4 G - Central adaptor

cable assembly - 12 m/ 39.4'
-1/4 G - Central adaptor

TP0320 = handle 1 PH4171-06 ——Thgms | cableassembly-6m/197 |
fm—

PT0366 microswitch kit 1 PH4170-12

with screws -1/4 G - Trafimector

cable assembly - 12 m/39.4'
-1/4 G - Trafimector

ball joint

B for cable assembly

1 PH4171-12

FY0043 plasma central adaptor - 5 pins 1

TRAFIMECTOR® central adaptor

P - torch side

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 13




./
4 trafimet PLASMA CUTTING trafimet.com

PLUSCUT 85 - AUTO C € enoooras

CABLE ASSEMBLY TECHNICAL DATA
CODE <« =1 LS NO HF | 45A 65A 85A
ARG ) 0,5kg
PAP306P-019-TB3 6m 19.7 ™
1.11b
PAP312P-019-TB3 12m 39.4 CENTRAL 019 v PEAK 500
3 g@ min. 4,5 - max. 5,0 bar
PAP306P-319-TB3 6m 19.7 225 1/min @ 5 bar
"i"_!_ Compressed air
PAP312P-319-TB3 12m 39.4' TRAFIMECTOR o . 5 5
319 X % 100% 100% 100%
M@a;;g/l:;n 10mm 22mm 30mm
For Central 019 and Trafimector 319 pin connection scheme please see the relevant page. I 15mm 26mm 35mm
Severance 20mm 30mm 40mm
CONSUMABLEKITS Pierce 12mm 16mm 19mm
CODE [ (~
PT2045 ' 45 A consumable kit 1
—
PT2065 = 65 A consumable kit 1
mim
PT2085 — 85 A consumable kit 1
© o
~ ™
Q Q
] 139 mm
44 450 mm |
T T
494 mm )
T

14 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

CONSUMABLES FOR CUTTING (STANDARD)

CODE (1)} > PT2045 PT2065 PT2085 PCS X a
45 A 65A 85A

CV0390P

20,3 mm L4 L 1

PC0371P 34,8 mm °

PD0403P09 095mm 0,037 | 16,6 mm °

PD0403P12 12mm  0,047" | 16,6 mm

PD0403P13 1,35mm 0,053" | 16,9 mm

PE0363P 23 mm i

PRO362P

29,5 mm L4

°
°
°
°
°
bl bly -6 19.7
torch head 1 PH4173-06 R cable assembly -6 m / ;

CODE [ 5 [~ CODE [ [~
bl bly -6 19.7
FH1716P — air tube 2 PHA4172-06 o ae cenval arga/ptor 1
cable assembly - 12m / 39.4'
EA1920 e o-fing 5 PH4172-12 -1/46- Cen’t'ral ada;tor 1
PIFISIT _q,_ -1/4 G - Trafimector
cable assembly - 12m / 39.4°
PT0366 | microswitch kit 1 PH4173-12 o _Tryaﬁmectg ; 1
v, * . .
protection shell kit .
TP0321 g for torch head 1 FY0043 plasma central adaptor - 5 pins 1
” tube handle TRAFIMECTOR® central adaptor
TP0322 e with spring support L REE - torch side !

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 15




. J
4 trafimet PLASMA CUTTING trafimet.com

PLUSCUT 105 - AUTO C € encosra7

CABLE ASSEMBLY TECHNICAL DATA
CODE «—> =l LS NO HF | 105A
ARG ) 0,5kg
PAP406P-019-TB3 6m 19.7 Hmj
1.11b
PAP412P-019-TB3 12m 39.4 CENTRAL 019 v PEAK 500
3 g@ min. 4,5 - max. 5,0 bar
PAP406P-319-TB3 6m 19.7 250 I/min @ 5 bar
"i"_!_ Compressed air
PAP412P-319-TB3 12m 39.4 TRAFIMECTOR o 5
319 X % 100%
Max.Clean 35mm
@ 25¢cm/min.
For Central 019 and Trafimector 319 pin connection scheme please see the relevant page.
Maximum 40mm
Severance 50mm
CONSUMABLE KITS piorce 2mm
CODE [ (]
—
PT2105 - 105 A consumable kit 1
i
o 0
~ ™
&‘ Q
‘ ] 139 mm
45 450 mm |
T T
495 mm )
T

16 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

CONSUMABLES FOR CUTTING (STANDARD)

CODE o > PT2105 pcsx A
105A
CV0387P 21,3 mm ° 1
PC0370P 34,8 mm L 1
PD0402P15 1,5mm  0,059" |17,5mm L4 5
PE0362P 23 mm L4 1
PR0O362P 29,5 mm L4 5
CODE [ 7 [~ CODE E [~
) - cable assembly -6 m/19.7'
FH1716P —— air tube 2 PH4172-06 #— ~1/4.G - Central adaptor 1
X - cable assembly - 12m / 39.4°
e f— o-ring 5 il #— - 1/4 G - Central adaptor 1
. o cable assembly -6 m /19.7'
PF1391 < . — torch head 1 PH4173-06 - ~1/4 G - Trafimector 1
. . . #Ea___q# cable assembly - 12m / 39.4°
PT0366 __. microswitch kit 1 PH4173-12 -1/4 G - Trafimector 1
P . .
TP0321 g pr?(t)?ct:gfcnhshheegldklt 1 FY0043 _— plasma central adaptor - 5 pins | 1
# tube handle TRAFIMECTOR® central adaptor
TP0322 = with spring support ! FY0090 = - torch side !

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 17




18

EXPRESCUT

¢ g

R ORSY
e
AT e

EXPRESCUT [en]
The range of EXPRESCUT torches covers a wide field of applications from 20 to 150 Amps for

machines with and without high frequency. The EXPRESCUT offers a wide range of connections to
fit with most machines in the market.

The renewed and further improved plasma cutting torches come in a new design and with a new
safety switch.

The wear parts of EXPRESCUT torches are manufactured by Trafimet and guarantee maximum
performance, thanks to the right choice and high quality of raw materials and precise production.

visit trafimet.com

for more details about the products.



//’WM

EXPRESCUT [it]

La gamma di torce EXPRES-
CUT copre una vasta tipologia
di applicazioni da 20-150 A per
le macchine con e senza alta
frequenza. Le torce EXPRES-
CUT offrono svariati configu-
razioni di connessione e,
pertanto, si adattano alla
maggior parte delle macchine
disponibili sul mercato.

Le torce per il taglio al plasma
sono state rinnovate e
ulteriormente migliorate con
un nuovo design e un nuovo
pulsante di sicurezza.

| consumabili delle torce
EXPRESCUT sono prodotti da
Trafimet e garantiscono le
massime prestazioni grazie
alla selezione e all'alta qualita
delle materie prime e alla
precisione della produzione.

ey \

EXPRESCUT [de]

Das Sortiment der EXPRES-
CUT-Schneidbrenner deckt
einen breiten Anwendungs-
bereich von 20 bis 150
Ampere flir Maschinen mit
und ohne Hochfrequenz ab.
Der EXPRESCUT bietet eine
groRe Auswahl von Anschlis-
sen, die zu den meisten
Maschinen auf dem Markt
passen.

Die Uberarbeiteten und weiter
verbesserten Plasmaschneid-
brenner kommen in einem
neuen Design und mit einem
neuen Sicherheitsschalter.
Die VerschleiRteile der
EXPRESCUT-Brenner werden
von Trafimet hergestellt und
garantieren dank der richtigen
Auswahl und der hohen
Qualitat der Materialien sowie
der aullerordentlich prazisen
Fertigung maximale Leistung
und Lebensdauer.

= trafimet

PLASMA
cutting torches

EXPRESCUT [fr]

La gamme de torches
EXPRESCUT couvre une large
palette d'applications de 20 a
150 amperes pour les
machines dotées ou non de la
haute fréquence. LEXPRES-
CUT propose un grand nombre
de connexions pour s'adapter
a la plupart des machines du
marché.

Renouvelées et encore
améliorées, les torches de
découpe plasma bénéficient
d'un nouveau design et d'un
nouvel interrupteur de
sécurité.

Les pieces d'usure des torches
EXPRESCUT sont fabriquées
par Trafimet et garantissent
des performances maximales,
grace au choix judicieux et a la
haute qualité des matieres
premieres, accompagnées
d'une fabrication précise.

EXPRESCUT [tr]

EXPRESCUT torg serisi, yiksek
frekansli veya yliksek
frekanssiz makineler igin 20 ile
150 Amper arasinda genis bir
uygulama aralidini kapsar.
EXPRESCUT, pazardaki birgok
makineye uyacak genis bir
baglanti yelpazesi sunmak-
tadir.

Yenilenmis ve daha da
gelistirilmis plazma kesme
torglari, yeni bir tasarim ve yeni
bir givenlik mekanizmali tetik
ile birlikte sunulur.

Trafimet tarafindan Uretilen
EXPRESCUT sarf malzemeleri;
dogru, yiksek kaliteli
hammadde segimi ve hassas
uretim teknikleri sayesinde
maksimum performansi
garantiler.

19




—— °
- traﬁmet PLASMA CUTTING

trafimet.com

EXPRESCUT S25K

CODE <>

=

C E EN60974-7

PAS004M-096-WB3 4m

%@

DIRECT
4 WIRES

TECHNICAL DATA

K Series Torches for Integrated Compressors

Plasma
Cutting Machine

o Exprescut Torch

CIRCLE CUTTING GUIDE KIT CV0025

L W NO HF | EXPRESCUT $25K
im 04 kg 088 1b
V peak 500

0 % 2 bar
5 E 31 I/min
X 35% 20 A
= 46 mm ‘ 5/32"-1/4"

|
ol

20 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




PLASMA CUTTING

= trafimet

N CONTACT DRAG GOUGING ~—
CODE k «—> = - = = - REF | gy
CV0024 stand off guide 23,5 mm 33 mm (] 1
nozzle

—a - - 4
PD0103-09 e 40 A 09mm | .035" |258mm o 10
PD0103-65 20A 065mm | .025" |258mm o 10
PD0116-06 20A 06mm | .023" |173mm — 10
PpOT16:08 | Gl 30 A 08mm | .030" |173mm . 10
PD0116-09 40 A 09mm | .035" |173mm o 10

PE0106 ! Swirl ring 4,6 mm - . 60028 | 2

PRO106 [ electrode 30,5 mm ° 10

PRO110 CI=m electrode 21,8 mm - 10

CODE [ 5 =~ CODE [ Ny

EA0330 O o-ring 10 TP0301 ’ handle kit 1

T
. S25K - S35K - $25 - $45 —
PFO127 J torch head 1 BW0424 ‘ spring joint 1
TP0310 / trigger kit 1 PH4015 ? cable aj.semb'y -4m/12 1
- direct 4 wires

STANDARD == cONTACTSHORT HM CONTACTLONG ™ DRAGSHORT HM DRAGLONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

21



= trafimet

EXPRESCUT S35K

PLASMA CUTTING

trafimet.com

C € EN60974-7

CODE «—> =
PAS104M-096-WB3 4m 12.5' %

DIRECT

4 WIRES

TECHNICAL DATA

K Series Torches for Integrated Compressors

Plasma
Cutting Machine

o Exprescut Torch

CIRCLE CUTTING GUIDE KIT CV0025

L W NO HF | EXPRESCUT 35K
im 04 kg 088 1b
V peak 500

b % 2,5 bar
8 60 1/min
X 35% 32A
= 6-8 mm ‘ 1/4"-5/16"

|
ol

22 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




PLASMA CUTTING

= trafimet

N CONTACT DRAG GOUGING -~
CODE [ 5 o «—> = - = = - | FEF =~
CV0024 stand off guide 23,5mm 33 mm ° 1
nozzle
PCO0135 W (2 rings) 28 mm - ° 4
PD0103-09 40 A 0,9 mm .035” 25,8 mm ° 10
PD0103-65 20A 0,65 mm .025” 25,8 mm ° 10
PD0116-06 20 A 0,6 mm .023” 17,3 mm (] 10
PD0116-08 @ 30A 0,8 mm .030” 17,3 mm - 10
PDO0116-09 40 A 0,9 mm .035” 17,3 mm (] 10
PE0106 A Swirl ring 46 mm - . 60028 | 2
PRO106 ] electrode 30,5 mm ° 10
PRO110 electrode 21,8 mm - 10
CODE [ 7 CODE [ 7
EA0330 O o-ring 10 TP0301 ._,’ handle kit 1
e
7 S25K - S35K - S25 - S45 L
PF0127 J torch head 1 BW0424 ‘ spring joint 1
TP0310 / trigger kit 1 PH4015 ? cable assembly - 4m /12 1
- direct 4 wires
STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING
All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 23




./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT S25

CODE -« . = TECHNICAL DATA
L W NO HF | EXPRESCUT $25
PAS204M-095-WB3 4m 12.5 gy I 04 kg 0,88 Ib

PWIRES V peak 500
0 % 5 bar

5 95 I/min
X 60% 25A

= 6-8 mm | uwesne

CIRCLE CUTTING GUIDE KIT CV0025

24 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING

= trafimet

CODE k o -CONTAC; _ DRAG - GOtleG REF |
CV0024 iy stand off guide 23,5mm 33 mm . 1
PCO116 w (ngrﬂz) 28 mm - o 60389 | 4

PD0103-09 =) 40 A 09mm | .035" |258mm o 10
PD0103-65 20 A 0,65mm | .025" |258mm o 10
PD0116-06 20 A 06mm | .023" |173mm . 10
P00116-08 | llf 30A 08mm | 030" |173mm . 10
PD0116-09 40 A 09mm | .035" |173mm 10

PE0106 A Swirl ring 4,6 mm . 60028 | 2
PRO106 —m electrode 30,5 mm . 10
PRO110 electrode 21,8 mm 10
CODE [ 7 [~ CODE [ 7
EA0330 O o-ring 10 TP0301 w’ handle kit 1
PF0127 Jg—b S25K 'tiffhKh'ezzdS ~S45 1 BW0424 ‘ spring joint 1
TPO310 / trigger kit 1 PH4016 ? cable aj:gg"\’,wr‘ésr“ 1z

== oONTACTSHORT  HM CONTACTLONG ™ DRAGSHORT M DRAGLONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

25



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT S45

CODE > = TECHNICAL DATA
" Lol NO HF | EXPRESCUT $45
PAS304M-000-WB3 4m 12.5' — ey 04 Kkg 088 1b
1/4 GAS Vv
Cable Assembly PEAK 500
L % 5 bar
KTy~
PAS304M-004-WB3 4m 19.7' ki 115 /min
CENTRAL 004
Cable Assembly X LR 40A
== 812 mm ‘ 5/16” - 15/32"
PAS306M-000-WA3 6m 19.7'
1/4 GAS
Coaxial n ‘
PAS306M-004-WA3 6m 19.7' ‘
CENTRAL 004
Coaxial
PAS306M-304-WA3 6m 19.7' . / ‘
TRAFIMECTOR 304 |
Coaxial
]
CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG. )

Trigger 5 ’
! -
Safety —— =m
Current Cable n
w Pilot 7

Arc

Central Adaptor n ?

CIRCLE CUTTING GUIDE KIT CV0025

26 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING

= trafimet

CODE k 0 -CONTACT - _ DRAG - GOlfING REF =
743.0149
CV0010 ﬂ stand off 18,5 mm . 0618. | 10
guide 0408-2053
CV0024 Stgﬂi‘fjgﬁ 23,5 mm 33 mm . 1
PCO116 m (ngrlzr']z) 28 mm . - . 60389 4
PD0102-08 " 30A 08mm | .030" |133mm . 10
PD0102-10 50 A 1,0mm | .040" |133mm . 10
PD0103-09 == 40A 09mm | .035" |258mm . 10
PD0103-65 20A 065mm | .025" |258mm o 10
PD0116-06 20A 06mm | .023" |173mm o 10
PD0116-08 i 30A 08mm | .030" |173mm - 10
PD0116-09 40 A 09mm | .035" [173mm o 10
PE0106 ! Swirl ring 4,6 mm ° - ° 2
PR0O105 =m electrode 17,8 mm o 10
PRO106 —=n electrode 30,5 mm o 60028 10
PRO110 electrode 21,8 mm - 10
CODE [ N CODE [ ] Ny
EA0330 o-ring 10 iF]  PH4127 / cable ass?rmlye' 4m/iz 1
PF0127 ;" - S25K 'tiffhKh'ezzds ~S45 1 11 BWO0147 - cable support 10
TP0310 / trigger kit 1 11 FY0023 - plasma central adaptor - 5 pins 1
rossy | (R handie ki 1) B rooo | | o oehede |
BW0424 ‘ spring joint 1 EA0254 ———{ ) | pin extractor for central adaptor | 1
PH4027 g °°aXi_a: fjtge(ng ;‘n/) 197 1 PT0202 Béaume— male spring pins kit (5 pcs) | 1
== oONTACTSHORT  HM CONTACTLONG ™ DRAGSHORT M DRAGLONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

27



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT S65 C € eneoora7

CONTACT Consumables -«—> = TECHNICAL DATA
L W NO HF | EXPRESCUT S65
PAS406M-000-WA3 6m 19.7 = 04 kg 0,88 1b
1/4 GAS V peak 500
=Y xS
‘t .
PAS406M-004-WA3 6m 19.7 ek 100 I/min
CENTRAL 004 X 60% 60 A
== 16-20 mm ‘ 5/8" - 25/32"
PAS406M-304-WA3 6m 19.7
TRAFIMECTOR®
— o
DRAG Consumables <> E
PAS406D-000-WA3 6m 19.7'
1/4 GAS ’
PAS406D-004-WA3 6m 19.7' ‘
CENTRAL 004
PAS406D-304-WA3 6m 19.7 ‘
TRAFIMECTOR®
304
CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG. Y
Trigger f
g B
Safety n
Current Cable -
w Pilot (3 Y |

Arc

CIRCLE CUTTING GUIDE KIT CV0025 n y

Central Adaptor ?

C

28 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




PLASMA CUTTING ? trafimet

CONSUMABLES FOR CUTTING (CONTACT)

CODE i g > -CONTAC; — DRAG - GOlfING REF #I
CV0299 E gouging shield 20,8 mm . 2
CV1118 E:u stand off guide 25,5 mm 2
PC0098 ﬁ nozzle 29 mm 2
PC0198 m long life nozzle 29 mm ° 2

PD0098-08 @ 40 A 0,8 mm .030” 17,7 mm ° 10
PD0098-10 60 A 1,0 mm .040” 17,7 mm - 10
PD0199-16 @ gouging tip 1,6 mm .063" | 17,7 mm . 10

PE0106 ! Swirl ring 4,6 mm (] 60028 | 2

PR0098 =m electrode 24,8 mm (] 10
CONSUMABLES FOR DRAG

CODE ‘ Q c 3 -CONTAC; — DRAG GOfING REF &l
CV0298 stand off guide 37,9 mm 2
PC0198 long life nozzle 29 mm 2

PD0198-08 40 A 0,8 mm .030” 18 mm 10
PD0198-10 60 A 1,0 mm .040” 18 mm 10

PEO106 Swirl ring 4,6 mm 60028 2
PRO106 electrode 30,5 mm 10
CODE ‘ #’ CODE E #’
EA0330 o-ring 10| [ROY PH4027 coaxialcable 6 m /197 1

-1/4 G (no pin)

PF0128 S65 torch head 1 11 BW0147 cable support 10

TRAFIMECTOR® central

handle kit 1 12 FY0090 adaptor - torch side

TP0301

BW0424

TP0310 / trigger kit 1 11 FY0023 - plasma central adaptor - 5 pins | 1
== -
C — =

spring joint 10 EA0254 pin extractor for central adaptor | 1

PT0202 i male spring pins kit (5 pcs) 1

STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 29



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT S75

CODE > = TECHNICAL DATA
Lol NO HF | EXPRESCUT S75
PAS506M-000-WA3 6m 197 g gy I 07 kg 1,54 1b
1/4 GAS V peak 500
0 % 5 bar
PAS506M-071-WA3 6m 197 § Kide 150 I/min
3/8 GAS X 60% 70 A
‘ X 100% 50 A
PAS506M-004-WA3 6m 19.7 —= 18-23mm ‘ 23/32"-29/32
CENTRAL 004
PAS506M-304-WA3 6m 197 ‘

TRAFIMECTOR®
304

CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG.

Trigger

Safety
Current Cable

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0052

30 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

CODE E ¢ > -CONTACé = DRAG ! GOgING REF &i
CV0026 @ stand off guide 25,5 mm . 2
CV0028 E stand off guide 20,5 mm - 10
CV0033 E stand off guide 26 mm . 2
CV0051 E stand off guide 24,3 mm 31T mm ° 1
CV0076 U for PCO114 9,7 mm 10
poorra (1L HENE 395 mm : 2

PD0114-10 @ 50 A 1,0 mm .040" 18,6 mm 10
PD0114-12 70 A 1,2 mm .047" 18,6 mm (] 10
PD0118-10 m 50 A 1,0 mm .040” 31,1 mm ° 10

PE0112 = diffuser 11,5 mm - . 2
CVv0080 \ tool for wear parts 1
PRO117 electrode 23,7 mm - 10
PRO119 —g electrode 36,2 mm . 10
FH0647 —m air tube 36 mm - o 10
CODE E #’ CODE E #’
EA0223 O O-ring @ 18x1 mm 10| M PH4009 g °°aXif"37§%'e(r']: ;;n/) 17 1
PF0135 F S75 torch head 1 11 BWO0147 - cable support 10
TP0310 / trigger kit 1 11 FY0023 - plasma central adaptor - 5 pins 1
reoses | (P R roeo | D | ROETROC
BW0424 ‘ spring joint 1 EA0254 S o pin extractor for central adaptor | 1
PH4003 g coaxi_a; ‘/:Ztge(ng ;:n/) 9.7 1 PT0202 b mieeee male spring pins kit (5 pcs) 1

= CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 31



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT S105

CODE > = TECHNICAL DATA
L W NO HF | EXPRESCUT $105
PAS606M-000-WA3 6m 19.7 g - 07 kg 1541b
1/4 GAS V peak 500
‘ ] % 5 bar
PAS606M-004-WA3 6m 19.7 #0 180 I/min
CENTRAL 004 X 60% 100 A
X 100% 70 A
PAS606M-304-WA3 6m 19.7 . o= 25-30mm ‘ 1"1"3/16

TRAFIMECTOR®
304

CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG.

Trigger

Safety
Current Cable

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0022

146

32 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING

= trafimet

CODE E ¢ 3 -CONTACé = DRAG ! GO:ING REF #’
CV0009 W stand off guide 38,6 mm ° 10
CVvo011 ﬂ stand off guide 23 mm - 1386 | 10
Cv0012 ﬂ stand off guide 30 mm ° 1408 2
CV0014 z stand off guide 30 mm ° 2
CV0021 E stand off guide 32,8 mm 40,6 mm ° 1
PC0118 @ long life nozzle 39,5 mm - 4
PC0119 E long life nozzle 32 mm ° 2

PD0119-10 50 A 1,0 mm .040” 18,7 mm ° 10
PD0119-12 @ 70 A 1,2 mm .047" 18,7 mm - 10
PD0119-14 100 A 1,4 mm .055” 18,7 mm ° 10
PD0122-12 m 70 A 1,2 mm .047" 34,3 mm ° 10
PEO112 = diffuser 11,5mm - ° 2
CVv0080 > tool for wear parts 1
PRO117 =l electrode 23,7 mm - 10
PRO120 | el electrode 39,5mm 10
FH0647 —m air tube 36 mm - 10
FH0820 —m long air tube 50 mm 10

CODE E #’ CODE E #’
EA0223 O O-ring @ 18x1 mm 10| RO PH4003 g coaxial ?Z%'e(ng g:n/) 197 1
PF0136 F S105 torch head 1 11 BWO0147 - cable support 10
TP0310 / trigger kit 1 11 FY0023 - plasma central adaptor - 5 pins 1
ooy | (O handle kit 1| B Fvooso [ ] T o ol 14
BW0424 ‘ spring joint 1 EA0254 | | pin extractor for central adaptor | 1

PT0202 [EG TP male spring pins kit (5 pcs) 1
= CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

33




./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT S125 s C € encos7a7

> =1 TECHNICAL DATA
Lol NO HF | EXPRESCUT S125
PAS706M-000-WA3 6m 197 g - 07 kg 1541b
1/4 GAS V peak 500
‘ L % 5 bar
PAS706M-004-WA3 6m 19.7 ke 180 I/min
CENTRAL 004 X 60% 120 A
X 100% 90 A
PAS706M-304-WA3 6m 197 ‘ == 30-35mm ‘ 1"3/16-1"3/8
TRAFIMECTOR®
304

> =1 9] O

PAS706D-000-WA3 6m 19.7 %
1/4 GAS
PAS706D-004-WA3 6m 19.7 ‘ /
CENTRAL 004 SE—
PAS706D-304-WA3 6m 19.7 ‘

TRAFIMECTOR®
304

CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG.

Trigger ni

Safety

Current Cable

w Pilot
Arc

Central Adaptor n . - .

CIRCLE CUTTING GUIDE KIT CVvV0022 n :’ < 71 "?"
e

34 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING

CONSUMABLES FOR CUTTING (CONTACT)

= trafimet

CODE E «—> eCONTAC; = DRAG ! GOgING REF &i
CVv0229 stand off guide 35,2 mm 2
PC0179 long life nozzle 39,5 mm 2

PD0179-13 80 A 1,3 mm .051” 20 mm ° 10
PD0179-14 100 A 1,4 mm .055" 20 mm ° 10
PD0179-15 120 A 1,5mm .059"” 20 mm 10

PE0179 diffuser 12,6 mm 2
PR0O179 electrode 24,6 mm 10
FH0979 air tube 37 mm 10

CONSUMABLES FOR DRAG

CODE k — -CONTAC; _ DRAG - GOfING e |
CV0279 stand off guide 37,9 mm ° 2
PC0279 long life nozzle 33 mm ° 2

PD0279-13 80 A 1,3 mm .051" 29 mm ° 10
PD0279-15 120 A 1,5mm .059” 29 mm ° 10

PE0179 diffuser 12,6 mm ° 2
PR0279 electrode 33,6 mm ° 10
FH0980 long air tube 46 mm ° 10
CODE ‘ &’ CODE E &’
EA0223 O O-ring @ 18x1 mm 10 PH4003 g °°aXif‘"1}:ZbG|e(r']§ [Tn/) 9.7 1
PF0138 F S125 torch head 1 BW0147 - cable support 10
TP0310 / trigger kit 1 FY0023 - plasma central adaptor - 5 pins 1
oy | (O 1 oo | | TRANETORG ol
BW0424 ‘ spring joint 1 EA0254 S o pin extractor for central adaptor | 1

PT0202 i male spring pins kit (5 pcs) 1
= CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

35




./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT A81

CODE «—> = TECHNICAL DATA
“ I EXPRESCUT A81
PAA106M-000-WA3 6m 19.7' g gy I 0,6 kg 1,321b
1/4 GAS V peak 500
0 % 5 bar
PAAT06M-071-WA3 6m 19.7' § Kile 155 I/min
3/8 GAS X 60% 80 A
‘ X 100% 60 A
PAAT06M-004-WA3 6m 19.7 —= 20-25mm ‘ 25/32"-1"
CENTRAL 004
PAAT06M-304-WA3 6m 19.7 ‘

TRAFIMECTOR®
304

CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG.

Trigger

Safety
Current Cable

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0022

36 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

CODE E g ¢ 3 ECONTACé = DRAG ! GO:ING REF #’
CV0026 ﬂ stand off guide 25,5 mm ° 2
CV0028 ﬂ stand off guide 20,5 mm - 10
CV0033 E stand off guide 26 mm e 2
CV0051 E stand off guide 24,3 mm 31 mm ° 1
CV0201 Eﬂ] ceramic stand off guide 30 mm ° 1
PC0115 w nozzle 35,4 mm - ° 2

PD0105-10 m 50 A 1,0 mm .040” 13,3 mm ° 10

PD0105-12 80 A 1,2 mm .047" 13,3 mm - 10

PD0106-12 m 80 A 1,2 mm .047" 25,8 mm ° 10
PE0107 E diffuser 8,2 mm ° 2
PRO109 ClHE electrode 27 mm 10
PROT15 | il electrode 39,5mm . 10
FH0560 Tm air tube 28 mm 1
FHO0561 T long air tube 40 mm ° 1

CODE E #’ CODE E #’
EA0125 O 0-ing@156x178mm | 10| KB  PH4009 g COaXif'g?gtée(r;g ;;?n/) 197y
PF0140 j A81 torch head 1 11 BWO0147 - cable support 10
TP0310 / trigger kit 1 11 FY0023 - plasma central adaptor - 5 pins 1
s | (R handle it 1] R rooo | D | LN orohese |
BW0424 ‘ spring joint 1 EA0254 ———{a— | pin extractor for central adaptor | 1
PH4003 g coaxi-al1 fztéi[,f ;‘n/) 197 1 PT0202 5 - male spring pins kit (5 pcs) 1

STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 37



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT A101

CODE <« =l TECHNICAL DATA
g “ I EXPRESCUT A101
PAA206M-000-WA3 6m 19.7 it 08kg 1,76 Ib
1/4 GAS V peak 500
o % 5 bar
PAA206M-082-WA3 6m 19.7 § % B 180 I/min
M14x1 X 60% 100 A
‘ X 100% 75 A
PAA206M-004-WA3 6m 19.7' = 25-30mm ‘ 17-1"3/16
CENTRAL 004
9|
PAA206M-304-WA3 6m 19.7 ‘ ‘

TRAFIMECTOR®
304

il

CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG.

Trigger

Safety
Current Cable

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0022

38 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

N CONTACT DRAG GOUGING ~,
CODE [ ] 7] > - = - - - | REF -7
CV0008 @ stand off guide 32,5mm ° 51957 | 10
CV0009 @ stand off guide 38,6 mm ° 10
CVv0011 ﬂ stand off guide 23 mm . 1386 | 10
CV0012 {J stand off guide 30 mm e 1408 | 2
CV0014 E stand off guide 30 mm ° 2
CV0021 stand off guide 32,8 mm 40,6 mm ° 1
CV0023 ﬁ stand off guide 17,6 mm ® 10
CV0039 ﬁ stand off guide 18,5mm ° 2
insulator for Cv0039/ ° °
FH0297 u V0023 10
PC0109 W nozzle 44,1 mm ° 2
PC0111 m long life nozzle 44,1 mm . 2
PC0113 E nozzle 42,3 mm ° ° 2
PC0130 E long life nozzle 42,9 mm ° ° 2
PD0101-11 60 A 1,1 mm .043" 13,7 mm ° ° 10
PD0101-14 i 100 A 14mm | .055" |137mm - . 10
PD0101-17 130 A 1,7 mm .066" 13,7 mm ° ° 10
PD0101-19 140 A 1,9 mm .075" 13,7 mm ° ° 10
PD0101-30 gouging tip 3,0 mm 1/8" 13,7 mm ° 10
Pp0111-12 | el 80 A 12mm | 047" |358mm . 10
PD0117-14 100 A 1,4 mm .055" 34,8 mm ° 10
PD0117-17 @ 130 A 1,7 mm .066" 34,8 mm ° 10
PD0117-19 140 A 1,9 mm .075" 34,8 mm o 10
PE0101 m diffuser 7,8 mm I ° ° 2
PE0103 m diffuser 7,8 mm ° ° ° 2
PR0101 ] electrode 22mm | 7/8" . . ° 10
PRO116 — electrode 43,17 mm ° ° 10
FH0562 = air tube 21 mm I ° ° ° ° 1
A Ly
CODE [ ] s CODE [ ] ~
; ? coaxial cable-6 m/19.7'
EA0131 O O-ring @19 x 2 mm 10 PH4063 ~M14x1 1
PF0145 ' A101 torch head 1 BW0147 - cable support 10
TP0310 / trigger kit 1 FY0023 - plasma central adaptor - 5 pins 1
p . TRAFIMECTOR® central
TP0303 - handle kit 1 FY0090 _ adaptor - torch side 1
BW0424 ‘ spring joint 1 EA0254 ———{aa—a | pin extractor for central adaptor | 1
coaxial cable-6 m/19.7’ B = . . .
PH4008 g -1/4.G (no pin) 1 PT0202 L male spring pins kit (5 pcs) 1
STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 39




./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT A141

CODE «—> =l TECHNICAL DATA
“ I EXPRESCUT A141
PAA306M-000-WA3 6m 19.7' g gy I 1,1 kg 243 1b
1/4 GAS V peak 500
0 % 5 bar
PAA306M-082-WA3 6m 19.7 § Kile 210 I/min
M14x1 x 60% 140 A
‘ X 100% 100 A
PAA306M-004-WA3 6m 19.7 == 35-40mm ‘ 173/8-1"9/16
CENTRAL 004
PAA306M-304-WA3 6m 19.7 ‘
TRAFIMECTOR®
304

CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG.

Trigger

Safety
Current Cable

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0022

40 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

N CONTACT DRAG GOUGING -~
CODE [ ] (1)] > - = - - - REF |y
CV0008 @ stand off guide 32,5mm ° 51957 | 10
CV0009 W stand off guide 38,6 mm ° 10
CV0011 E stand off guide 23 mm l 1386 | 10
CV0012 ﬂ stand off guide 30 mm e 1408 | 2
CV0014 E stand off guide 30 mm ° 2
CV0017 D stand off guide 33 mm ° 1406 2
CV0021 E stand off guide 32,8 mm 40,6 mm ° 1
CV0023 ﬁ stand off guide 17,6 mm ° 10
CV0039 ﬁ stand off guide 18,5mm ° 2
insulator for CV0039/ ° °
FH0297 " CV0023 10
PCO0101 @ nozzle 52,1 mm ° ° 2
PC0102 m long life nozzle 52,1 mm I ° 2
PC0103 E nozzle 50,3 mm ° ° 2
PC0131 : long life nozzle 50,9 mm ° ° ° ° 2
PD0101-11 60 A 1,1 mm .043" 13,7 mm e 10
PD0101-14 m 100 A 1,4 mm .055" 13,7 mm e | e 10
PD0101-17 130 A 1,7 mm .066" 13,7 mm - ° 10
PD0101-19 140 A 1,9 mm .075" 13,7 mm e |° 10
PD0101-30 gouging tip 3,0 mm 1/8" 13,7 mm L 10
PD0111-12 ﬂ:ﬂ] 80 A 1,2 mm .047" 35,8 mm ° 10
PD0117-14 100 A 1,4 mm .055" 34,8 mm ° 10
PD0117-17 @ 130 A 1,7 mm .066" 34,8 mm ° 10
PD0117-19 140 A 1,9 mm .075" 34,8 mm ° 10
PE0101 W diffuser 7,8 mm l ° e | 2
PE0103 m diffuser 7,8 mm ° ° ° 2
PRO101 CTw electrode 2mm | 7/8" l . o | e 10
PROT16 | Gl electrode 431 mm . . 10
FH0563 e air tube 29 mm I ° ° ° ° 1
A A
CODE [ ] N CODE [ 7] N
. ? coaxial cable-6 m/19.7'
EA0131 O O-ring @19 x 2 mm 10 PH4020 ~M14x1 1
PFO155 ' A141 torch head 1 BWO0147 - cable support 10
TP0310 / trigger kit 1 FY0023 - plasma central adaptor - 5 pins 1
. TRAFIMECTOR® central
TP0303 ‘ l., handle kit 1 FY0090 _ adaptor - torch side 1
BW0424 ‘ spring joint 1 EA0254 = | pin extractor for central adaptor | 1
coaxial cable-6 m/19.7’ B = . ) ;
PH4023 -1/4 G (no pin) 1 PT0202 = male spring pins kit (5 pcs) 1
STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 41



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT A151

CODE -«—> =1 TECHNICAL DATA
“ I EXPRESCUT A151
PAA406M-000-WA3 6m 19.7 g Ly 1,1 kg 2431b
1/4 GAS V peak 500
0 % 5 bar
PAA406M-082-WA3 6m 19.7 § Kide 230 I/min
M14x1 X 60% 150 A
‘ X 100% 120 A
PAA406M-004-WA3 6m 19.7 = 35-40mm ‘ 1"3/8-1"9/16
CENTRAL 004
B
PAA4O6M-304-WA3 6m 19.7 ‘ ‘

TRAFIMECTOR®
304

e

CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG.

Trigger

Safety
Current Cable

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0022

42 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

N CONTACT DRAG GOUGING -~
CODE [ ] (1)) > - = - - - | REF 7
CV0008 @ stand off guide 32,5mm ° 51957 | 10
CV0009 @ stand off guide 38,6 mm ° 10
CV0011 E stand off guide 23 mm ® 1386 | 10
CV0012 ﬂ stand off guide 30 mm e 1408 | 2
CV0014 E stand off guide 30 mm ® 2
CV0021 stand off guide 32,8 mm 40,6 mm ° 1
CV0023 ﬁ stand off guide 17,6 mm ° 10
CV0039 ﬁ stand off guide 18,5mm ° 2
CV1105 EE stand off guide 30 mm l 10
CV1106 stand off guide 28 mm ° 10
BWO0139 H shield for CV1105 7,5 mm ' 10
BWO0146 H shield for CV1106 7,5 mm ° 10
CV1107 % stand off guide 17 mm ° 10
insulator for Cv0039/ ° .
FH0297 u CV0023 10
PC0120 W long life nozzle 50,9 mm ° I ° 2
PC0131 : long life nozzle 50,9 mm ° ° ° ° 2
PD0109-11 60 A 1,1 mm .043" 12,7 mm i 10
PD0109-14 100 A 1,4 mm .055" 12,7 mm L i il 10
PD0109-16 @ 130 A 1,6 mm .063" 12,7 mm e - ° 10
PD0109-18 140 A 1,8 mm .071" 12,7 mm i B il 10
PD0109-30 gouging tip 3,0 mm 1/8” 12,7 mm ° 10
PD0111-12 Cﬂ] 80 A 1,2 mm .047" 35,8 mm e 10
PD0117-14 100 A 1,4 mm .055" 34,8 mm ° 10
PD0117-17 @ 130 A 1,7 mm .066" 34,8 mm ° 10
PD0117-19 140 A 1,9 mm .075" 34,8 mm ° 10
PE0103 m diffuser 7,8 mm e ° ° ° ° 2
PRO111 ch electrode 20,5mm °|e . . 10
PROT16 | Gl electrode 431 mm o . 10
FHO0563 = air tube 29 mm oo ° ° ° ° 1
A A
CODE [ ] N CODE [ ] N
ial cable - 6 19.7'
EA0131 O-fing @ 19 x 2 mm 10 08  PH4020 e / 1

PF0160

plasma central adaptor - 5 pins 1

TRAFIMECTOR® central

' A151 torch head 1 11 BWO0147 - cable support 10
TPO310 / trigger kit 1 T o023 -

TP0303 e handle kit 1 12 FY0090 adaptor - torch side 1
BW0424 ‘ spring joint 1 EA0254 S o pin extractor for central adaptor | 1
coaxial cable-6 m/19.7’ B = . . .
PH4023 -1/4 G (no pin) 1 PT0202 = male spring pins kit (5 pcs) 1
STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 43



./
4 traﬁmet PLASMA CUTTING trafimet.com

PLASMA AW201

CODE > = TECHNICAL DATA
‘ 2 ERGOCUT AW 201
PB0003 6m 19.7 e 1,2kg 2,651b
CENTRAL 004 V Peak 500

5 % 4 bar

Kile 50 I/min

a 2+4 bar

el 1.45 I/min

X 100% 200 A
o= 40-50mm 1"9/16-2"

CENTRAL ADAPTOR
STANDARD TRAFIMET CONFIG.

Trigger

Safety
Current Cable

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0022

44 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

CONTACT DRAG GOUGING
CODE k 1) «—> - REF |y

d
|

- - v

CV0011 stand off guide 23 mm 1386 | 10

CV0012 stand off guide 30 mm 1408 2

CVvoo14

CVvo0021 E

stand off guide 30 mm 2

CV0013 @ stand off guide 33 mm e 1406 | 2

stand off guide 32,8 mm 40,6 mm 1

CV0083 gouging shield 21,8 mm ° 10

PCO125 Uw long life nozzle 53 mm

CV0078 insulator for PC0125 12,5 mm ° ° 10
. ° 2
(CV0078 included)
PD0115-12 70 A 1,2 mm .047” 18,5 mm ° 10
PDO0115-14 100 A 1,4 mm .055” 18,5 mm ° 10
PD0115-16 @ 130 A 1,6 mm .063” 18,5 mm ° 10
PD0115-18 150 A 1,8mm | 071" |185mm | . | 10
PD0115-20 200 A 2,0 mm 5/64” 18,5 mm ° 10
PD0115-30 gouging tip 3,0 mm 1/8” 18,5 mm ° ° 10
PEO114 m diffuser 17,9 mm - ° ° 2
CV0080 ]\h tool for wear parts 1
PRO118 a—Iw electrode 31,2 mm e | 10
FH0866 B air tube 34,5 ° ° 1
CODE k [~ CODE REPAIR KIT INCLUDED IN THE BOX ~
EA0203 O O-ring @ 22x2 mm 10 -
G005 ' plasma torch head 1 PT0008 4 > — consumables kit 1
BW0340 O —oe UE safety trigger 1 %
BX0020 ‘ trigger 10
BWO0311 . o cable joint 1 ~
= o R PT0009 QD stand off kit 1
g 0~ asma central adaptor, torcl Ny
PT0024 - 0® side -Water 1
PT0013 grease for plasma consumables 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 45



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT CB50

CODE -« = TECHNICAL DATA
*“ I EXPRESCUT CB50

PAEO06M-060-WA3 6m 197 =~ 0,6 kg 1,321b
1/8 GAS V peak 500
o % 5 bar

PAEOO6M-001-WA3 6m 197 ‘ % B 165 I/min
CENTRAL 001 X 60% 50 A
X 100% 40 A
== 10-15mm 13/32"-19/32"

(OB CENTRAL ADAPTOR

Trigger
]
Safet;
Y Current Cable [O8

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0036

46 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING

= trafimet

N CONTACT DRAG GOUGING -~
CODE [ 5 o <« - = = - - REF | gy
CV0037 E stand off guide 24,3 mm 31 mm ® 1
PC0003 w nozzle 35,6 mm - ° 5710121 | 4
PD0014-10 ]| 50 A 1,0mm | .040” |26,1 mm o 1306 | 10
3 PD0015-10 - 50 A 1,0mm | 040" | 11,2 mm | . | 1304 | 10
3 PD0015-12 60 A 1,2 mm .047” 11,2 mm ° 10
3 PD0019-08 40 A 0,8 mm .030” 11,6 mm L 10
3 PD0019-10 @ 50A 1,0 mm .040” 11,6 mm ° 20131 10
3 PD0019-12 60 A 1,2 mm .047” 11,6 mm ° 10
3 PD0063-10 50 A 1,0 mm .040” 26,8 mm ° 10
El  PD0063-11 o 60 A 1,1mm | .043” |26,8mm ° 10
3 PD0063-12 70 A 1,2 mm .047” 26,8 mm ° 10
3 PD0085-98 w 50 A 0,98 mm .038” 26,2 mm L4 1366 10
PD0088-08 40 A 0,8 mm .030” 12,3 mm L 10
PD0088-10 ﬂ 50A 1,0 mm .040” 12,3 mm ° 1396 10
PD0088-11 60 A 1,1 mm .043” 12,3 mm ° 10
PD0088-12 70 A 1,2 mm .047” 12,3 mm ° 1308 10
PE00O7 = diffuser 15,6 mm ° 20101 2
PR0017 =0 electrode 17,3 mm 20103 10
PR0065 =i electrode 32,5 mm ° 1518-HF | 10
CODE [ 7 CODE [ L
EA0202 O O-ring 10 ] PH4007 g —— coaxial Ca:"/es' g m/19.7 1
— coaxial cable-6m/19.7’
PF0050 - & CB50 torch head 1 ¥ PH4001 146 1
TP0310 J trigger kit 1 11 BW0147 - cable support 10
TP0302 ’ handle kit 1 11 FY0014 ’ plasma central adaptor - 5 pins 1
BW0424 ‘ spring joint 1 EA0254 ———{——a | pin extractor for central adaptor | 1
PT0202 s m i male spring pins kit (5 pcs) 1
STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

47



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT CB70

CODE -« = TECHNICAL DATA
“ I EXPRESCUT CB70

PAE106M-060-WA3 6m 197 ~ 0,6 kg 1,321b
1/8 GAS V peak 500
o % 5 bar

PAE106M-001-WA3 6m 197 ‘ % B 170 1/min
CENTRAL 001 X 60% 70 A
X 100% 50 A
=5 1824mm | 23/32°-15/16"

(OB CENTRAL ADAPTOR

Trigger
]
Safet;
Y Current Cable [O8

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CVo0074

48 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

N CONTACT DRAG GOUGING -~
[ ] (1)) > —— ] p— ] p— REF |y
743.0149
CV0010 stand off guide 18,5 mm 0618, 10
0408-2053
CV0073 stand off guide 24,2 mm 31T mm ° 1
CvV1117 ] stand off guide 26 mm ° 1405 2
PC0032 nozzle 31,5mm - ° 5710171 | 2
PD0063-10 50 A 1,0 mm .040" | 26,8 mm ° 10
PD0063-11 60 A 1,1 mm .043" 26,8 mm ° 10
PD0063-12 70 A 1,2 mm .047" 26,8 mm ° 10
PD0085-98 50 A 098 mm | .038" |262mm ° 1366 10
PD0088-08 40 A 0,8 mm .030" 12,3 mm ° 10
PD0088-10 50 A 1,0 mm .040" 12,3 mm ° 1396 10
PD0088-11 60 A 1,1 mm .043" 12,3 mm ° 10
PD0088-12 70A 1,2mm .047" [ 12,3 mm 1308 10
PE0007 diffuser 15,6 mm ° 20101 2
CV0081 tool for wear parts 1
PR0063 electrode 17,8 mm - 1402 10
PR0064 electrode 34,8 mm ° 1403 10
FHO0211 air tube 12 mm - 1
FHO0215 long air tube 20,5 mm ° 1

CODE E &’ CODE E &’
EA0201 O 0-ring 10 PH4007 g coaxial Ca:"/es'é’ m/19.7 1
PF0065 F ) CB70 torch head 1 PH4001 g cosxial caple-om /18T
TP0310 J trigger kit 1 BW0147 - cable support 10
TP0302 * handle kit 1 FY0014 - plasma central adaptor - 5 pins 1
BW0424 ‘ spring joint 1 EA0254 — pin extractor for central adaptor | 1

PT0202 s m i male spring pins kit (5 pcs) 1
= CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 49



./
4 trafimet PLASMA CUTTING trafimet.com

EXPRESCUT CB150

CODE <« = TECHNICAL DATA
“ I EXPRESCUT CB150
PAE306M-060-WA3 6m 19.7 =~ 08kg 1,76 1b
1/8 GAS V peak 500
o % 5 bar
PAE306M-003-WA3 6m 19.7 ‘ *8 200 I/min
CENTRAL 001 X 60% 150 A
X 100% 110 A
== 35-40mm 1"3/8-1"9/16

m CENTRAL ADAPTOR
Trigger
] /&
Safet!
é Current Cable

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0022

50 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




PLASMA CUTTING ? trafimet

N CONTACT DRAG GOUGING -,
CODE [ 5 o «—> - = = = - REF |Ngy
CV0008 @ stand off guide 32,5 mm . 51957 | 10
CV0009 @ stand off guide 38,6 mm e 10
CVoo11 ﬂ stand off guide 23 mm - 1386 | 10
CV0oo12 ﬂ stand off guide 30 mm . 1408 2
CV0013 @ stand off guide 33 mm ° 1406 2
CVo0021 E stand off guide 32,8 mm 40,6 mm L] 1
CV0038 Q stand off guide 17 mm L 51930 | 10
PC0002 m long life nozzle 52,1 mm - o 1389 2
PC0034 @ long life nozzle 51,3 mm ° ° . 60350 | 2
3 PD0025-14 100 A 1,4 mm .055” 34,9 mm g 10
3 PD0025-16 @ 130 A 1,6 mm .063” 34,9 mm L4 10
3 PD0025-18 150 A 1,8 mm .071” 34,9 mm g 10
3 PD0026-11 60 A 1,1 mm .043” 14,1 mm ° 1371 10
3 PD0026-13 100 A 1,3 mm .051” 14,1 mm ° 1372 10
3 PD0026-16 d 130 A 1,6mm | .063" | 14,1 mm | . | 1373 | 10
3 PD0026-18 150 A 1,8 mm .071” 14,1 mm 1374 10
3 PD0026-30 gouging tip 3,0 mm 1/8” 14,1 mm 4 1375 | 10
3 PD0028-13 100 A 1,3 mm .051” 14 mm 4 10
3 PD0028-16 w 130 A 1,6 mm .063” 14 mm L 10
3 PD0028-18 150 A 1,8 mm .071” 14 mm 4 10
PD0030-11 | 60 A 1,1mm | .043” |357mm ° 1369 | 10
PE0009 wuj diffuser 7,9 mm o ° L L 1377 2
PR0034 Clm electrode 22 mm 7/8” L L4 1376 | 10
PR0045 - | electrode 43 mm ° 1517 | 10
PR0245 | | electrode 43 mm ° 1517 | 10
FH0213 =m air tube 29,5 mm L4 L L4 L4 1
CODE [ 7 CODE [ L
EA0131 O 0-ring @ 19x2 mm 10 ] PH4017 g —— coaxial Ca?'/es'g m/19.7 1
= g coaxial cable-6m/19.7'
PF0080 - & CB150 torch head 1 Y PHa014 146 1
TP0310 J trigger kit 1 11 BW0147 - cable support 10
TP0303 , handle kit 1 11 FY0023 - plasma central adaptor - 5 pins 1
BW0424 ‘ spring joint 1 EA0254 | | pin extractor for central adaptor | 1
PT0202 s m i male spring pins kit (5 pcs) 1
STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 51



./
4 trafimet PLASMA CUTTING trafimet.com

PLASMA CB50

CODE -«—> TECHNICAL DATA
3 PLASMA CB 50
PA1240 6m 19.7° L 0,6 kg 1.321b
1/8 GAS V PEAK 500
‘ o % 5 bar
L3 h
PA1242 6m 19.7 - E 165 I/min
CENTRAL 001 X 60% 50A
X 100% 40A
== 10-15 mm 13/327-19/32”

(DA CENTRAL ADAPTOR

Safety

Trigger
J ] L
Current Cable [O8

w Pilot
Arc

Central Adaptor '

CIRCLE CUTTING GUIDE KIT CV0036

52 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

N CONTACT DRAG GOUGING -~

CODE [ 5 o <« - = = - - REF | gy
CV0037 E stand off guide 24,3 mm 31 mm ® 1
PC0003 w nozzle 35,6 mm - o 5710121 | 4
PD0014-10 | 50 A 1,0mm | .040” |26,1 mm ° 1306 | 10
3 PDO0015-10 - 50 A 1,0mm | .040" |11,2mm — 1304 | 10
Ml PD0015-12 60 A 12mm | 047" |11,2mm o 10
£l PD0019-08 40 A 08mm | .030" |11,6mm o 10
kKl PD0019-10 | 50 A 1,0mm | .040” | 11,6 mm o 20131 | 10
El PD0019-12 60 A 12mm | 047" | 11,6 mm o 10
Ell PD0063-10 50 A 1,0mm | .040" |26,8 mm o 10
Kl PD0063-11 foa] 60 A 1,1mm | .043” |26,8mm o 10
Ell PD0063-12 70A 12mm | .047" | 26,8 mm o 10
kll PD0085-98 i 50 A 0,98 mm| .038” |26,2mm o 1366 | 10
PD0088-08 40 A 08mm | .030" |123mm o 10
PD0088-10 | 50 A 1,0mm | .040" |12,3mm o 1396 | 10
PD0088-11 60 A 11mm | .043" |12,3mm o 10
PD0088-12 70A 12mm | 047" |12,3mm o 1308 | 10
PE0007 E diffuser 15,6 mm o 20101 | 2
PR0017 =0 electrode 17,3 mm 20103 10
PR0065 = electrode 32,5 mm ] 1518-HF | 10

CODE [ [~ CODE E [~
EA0202 O-ring 10 PHOte0 | o I PoveroPl oM /o7 1

PF0033 Plasma CB 50 torch head 1

cable assembly - 6 m/ 19.7°
PHO172 _‘;‘W iy 1

PHo207 | o i POV Caf’qeﬂ;gmmgj 1

cable assembly - 6 m/19.7
-1/4G

BX0070 g trigger for TP0O088 10

PHO170

TP0076 handle kit 1

- plasma central adaptor - 7 pins

TP0088 (CB)

handle kit 1 FY0014

O
r.:‘
BX0020 ‘ trigger 10
e
Fonamniiog

CY0002 - cable support 1

STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 53



./
4 trafimet PLASMA CUTTING trafimet.com

PLASMA CB70

CODE > TECHNICAL DATA
Lol HF | PLASMA CB 70
PA1270 6m 19.7 ~m 0,6 kg 1.321b
1/8 GAS V PEAK 500
‘ b % 5 bar
B :
PA1272 6m 19.7 - 170 I/min
CENTRAL 001 X 60% 70A
X 100% 50A
o= 18-24 mm 23/32"-15/16”

(DA CENTRAL ADAPTOR

Trigger
]
Safet;
Y Current Cable [O8

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CVo0074

54 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

N CONTACT DRAG GOUGING -~
[ ] (1)) > - | - = - REF |
743.0149
CV0010 stand off guide 18,5 mm 0618, 10
0408-2053
CV0073 stand off guide 24,2 mm 31T mm ° 1
CvV1117 ] stand off guide 26 mm ° 1405 2
PC0032 nozzle 31,5mm - ° 5710171 | 2
PD0063-10 50 A 1,0 mm .040" 26,8 mm ° 10
PD0063-11 60 A 1,1 mm .043" 26,8 mm ° 10
PD0063-12 70A 1,2 mm .047” 26,8 mm ° 10
PD0085-98 50 A 0,98 mm .038" 26,2 mm ° 1366 10
PD0088-08 40 A 0,8 mm .030” 12,3 mm ° 10
PD0088-10 50 A 1,0 mm .040" 12,3 mm ° 1396 10
PD0088-11 60 A 1,1 mm .043" 12,3 mm ° 10
PD0088-12 70A 1,2 mm .047" 12,3 mm 1308 10
PE0007 diffuser 15,6 mm ° 20101 2
CV0081 tool for wear parts 1
PR0063 electrode 17,8 mm - 1402 10
PR0064 electrode 34,8 mm ° 1403 10
FHO0211 air tube 12 mm - 1
FHO0215 long air tube 20,5 mm ° 1
CODE k [~ CODE B [~
-
EA0221 O O-ring @ 14x1,78 mm 10 TP0088 fortin handle kit 1
Plasma CB 70 torch head : _ power cable -6 m/19.7°
[
PF0030 Ff (for TP008S) 1 PHO160 | .8 -1/8G !
"“ Plasma CB 70 torch head ,w cable assembly -6 m/19.7’
PF1020 (for TPOO76) 1 PHO172 27 -1/8G 1
BX0020 ‘ trigger 10 PHo207 | o i | POV Ca_b'&; gm /19.7 1
BX0070 e.. trigger for TP0088 10 PH0170 __y;l cable assei“f/'i’ ée m/9.7 |y
BW0342 . Q24-028 1 CY0002 - cable support 1
TP0076 h handle kit 1 FY0014 - plasma Ce”“"z'ca;aptm Srpins |y
STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 55




= trafimet

PLASMA CB150
REMOVABLE
INSULATOR

PLASMA CUTTING

trafimet.com

m CENTRAL ADAPTOR

L Trigger
Safet!
ﬁ Current Cable /*

w Pilot
Arc

Central Adaptor

CIRCLE CUTTING GUIDE KIT CV0022

CODE «—> TECHNICAL DATA
3 PLASMA CB 150
PA1392 6m 19.7° L 0,8 kg 1.76 Ib
1/8 GAS V PEAK 500
‘ 4B 5 bar
L3 )
PA1393 6m 19.7° - E 200 I/min
CENTRAL 003 X 60% 150A
X 100% 110A
== 35-40 mm 173/8-1"9/16

56 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

power cable - 6 m/19.7°
-1/8G

N CONTACT DRAG GOUGING -,
CODE [ 5 o «—> - = = = - REF |Ngy
CV0008 @ stand off guide 32,5 mm . 51957 | 10
CV0009 @ stand off guide 38,6 mm e 10
CVoo11 ﬁ stand off guide 23 mm - 1386 | 10
CV0oo12 ﬂ stand off guide 30 mm . 1408 2
CV0013 @ stand off guide 33 mm ° 1406 2
CVo0021 E stand off guide 32,8 mm 40,6 mm L] 1
CV0038 Q stand off guide 17 mm L 51930 | 10
PC0002 m long life nozzle 52,1 mm - o 1389 2
PC0034 @ long life nozzle 51,3 mm ° ° . 60350 | 2
3 PD0025-14 100 A 1,4 mm .055” 34,9 mm g 10
3 PD0025-16 cm 130 A 1,6 mm .063” 34,9 mm L4 10
3 PD0025-18 150 A 1,8 mm .071” 34,9 mm g 10
3 PD0026-11 60 A 1,1 mm .043” 14,1 mm ° 1371 10
3 PD0026-13 100 A 1,3 mm .051” 14,1 mm ° 1372 10
3 PD0026-16 d 130 A 1,6mm | .063" | 14,1 mm | . | 1373 | 10
3 PD0026-18 150 A 1,8 mm .071” 14,1 mm 1374 10
3 PD0026-30 gouging tip 3,0 mm 1/8” 14,1 mm 4 1375 | 10
3 PD0028-13 100 A 1,3 mm .051” 14 mm 4 10
3 PD0028-16 w 130 A 1,6 mm .063” 14 mm L 10
3 PD0028-18 150 A 1,8 mm .071” 14 mm 4 10
PD0030-11 || 60 A 1,1mm | .043” |357mm ° 1369 | 10
PE0009 wj diffuser 7,9 mm o ° L L 1377 2
PR0034 o | electrode 22 mm 7/8” L L4 1376 | 10
PR0045 | electrode 43 mm ° 1517 | 10
PR0245 | | electrode 43 mm ° 1517 | 10
FH0213 =m air tube 29,5 mm L4 L L4 L4 1
CODE [ ~ CODE [ ] N
EA0131 O O-ring @ 19x2 mm 10 PH0264 _‘;‘W cable asseﬂb/'g 'GG m/19.7 1
FH0847 - Insulator L=26,5mm 2 proto7 | a) | POwerceb I1'3/4 gm e !
PF0090 r( Plasma CB 150 Rl torch head | 1 PHO171 M cable assef“:’/'}t’ éG moaer |y
BX0070 g_'_ trigger for TP0088 10 CY0035 - cable support 10
BW0342 . Bd24-028 1 CY0036 o ring 10
-
TPO088 _ handle kit 1 FY0023 - plasma central adaptor - 5 pins | 1
) —

PH0162 a0

STANDARD = CONTACT SHORT ! CONTACT LONG = DRAG SHORT ! DRAG LONG ™ GOUGING

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 57



./
4 trafimet PLASMA CUTTING trafimet.com

AUTOCUT S65P C € eneooras

CODE «—> = TECHNICAL DATA
Ll NO HF | AUTOCUT S 65P
PA2211 6m 19.7’ T =~ 0,4 kg 0,88 Ib
1/4 GAS V PEAK 500
5 % 4 bar
KTy =~
PA2210 6m 19.7 AL 100 I/min
CENTRAL 019 X 60% 60A
== 16-20 mm 5/8”- 25/32”
! 3
8 E 8
Q Q Q
(] |
160 mm, 300 mm |
| | |
| 400 mm |
I I

m CENTRAL ADAPTOR
Safety

Current Cable

w Pilot
Arc

Central Adaptor

58 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

PLASMA CUTTING

N CONTACT -~
CODE k o «—> - - REF [~
PC0098 nozzle 29 mm ° 2

PD0098-08 40 A 0,8 mm .030” 17,7 mm L4 10

PD0098-10 60 A 1,0 mm .040” 17,7 mm L4 10
PEO106 Swirl ring 4,6 mm L4 60028 2
PR0098 electrode 24,8 mm o 10
CODE [ 7 [~ CODE B [~
EA0330 O o-ring 10 PHO318 __Q’ cable assembly - 6m/19.7" |

- -1/4G

PFO131 .- Autocut S 65P torch head 1 PH1202 | o JEIJEEESSEEE ~ power Ca_b'f/‘; gm /187 1
PT0030 -.. repair kit 1 BWO0073 - cable support 10
TP0061 RS black metal handle 1 FY0023 - plasma central adaptor - 5 pins | 1

STANDARD = CONTACT SHORT ! CONTACT LONG

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 59




. J
4 trafimet PLASMA CUTTING trafimet.com

AUTOCUT S105P C € eneoores

CODE D =l TECHNICAL DATA
) Ll NO HF | AUTOCUT S 105P
PA1684 6m 19.7° \: =~ 0,9 kg 1.981b
1/4 GAS V PEAK 500
‘ o % 4 bar
PA1682 6m 19.7° Kide 180 /min
CENTRAL 019 X 60% 100A
X 100% 70A
o= 25-30 mm 17-13/16
! 3
3 :é‘ %
Q Q Q
a | [T11
60 mm, " 300mm |
! I I 400 mm ;

m CENTRAL ADAPTOR

Safety LJ

Current Cable

Pilot
Arc

Central Adaptor

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

PLASMA CUTTING

‘ o -— - CONTACT ! REF &i
PC0118 @ long life nozzle 39,5 mm ° 4
PD0119-10 50 A 1,0 mm .040” 18,7 mm L4 - 10
PD0119-12 W 70 A 1,2 mm .047” 18,7 mm L4 - 10
PD0119-14 100 A 1,4 mm .055” 18,7 mm L4 - 10
PE0112 ™| diffuser 11,5 mm . - 2
CV0080 ]m tool for wear parts 1
PR0117 m electrode 23,7 mm L4 10
FHO0647 (m air tube 36 mm ° 10
CODE [ ~ CODE [ ~
EA0223 O O-ring @ 18x1 mm 10 PHO132 _}-" cable assembly [ OmM/I9T | 4
PF0137 .- Autocut S 105P torch head | 1 PHO207 | ¢ | POV Ca_b'f/; gm /9. 1
PT0030 = repair kit 1 CY0002 - cable support 1
TPO061 _ black metal handle 1 FY0023 - plasma central adaptor - 5 pins 1

STANDARD = CONTACT SHORT ! CONTACT LONG

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 61




./
4 trafimet PLASMA CUTTING trafimet.com

AUTOCUT A141P C € mneosna7

AUTOCUT A 141P

CODE -«—> TECHNICAL DATA
v 3 AUTOCUT A 141P
PA0103 6m 19.7’ =~ 0,8 kg 1.76 b
v PEAK 500
b % 5 bar
KTy =~
PAO145 6m 19.7 raY 180 I/min
CENTRAL 019 X 60% 140A
X 100% 100A
o= 35-40 mm 173/8-1"9/16
Q 3
A3 E 3
o Q Q
] |
160 mm 300 mm |
I I I
| 410 mm |
I

m CENTRAL ADAPTOR

Safety LJ

Current Cable

Pilot
Arc
11
Central Adaptor .

62 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

PLASMA CUTTING

cable assembly - 6 m/ 19.7
- M14X1

E o -— _ CONTACT - REF §|
PC0102 long life nozzle 52,1 mm ] 2

PD0101-11 60 A 1,1 mm .043” 13,7 mm o - 10

PD0101-14 100 A 1,4 mm .055” 13,7 mm L - 10

PD0101-17 130 A 1,7 mm .066” 13,7 mm ° - 10

PD0101-19 140 A 1,9 mm .075” 13,7 mm o - 10

PD0101-30 gouging tip 3,0 mm 1/8” 13,7 mm - 10
PEO101 diffuser 7,8 mm e - 2
PR0O101 electrode 22 mm 7/8” L4 10
FHO0563 air tube 29 mm ° 1
CODE [ 5 [~ CODE [ 5 [~
EA0131 O O-ring @ 19x2 mm 10 PHO149 _ﬁ' cable assef“m éa m/A9T
proto2 | ™iMM=" | AutocutA 141Ptorchhead | 1 CY0035 - cable support 10
PT0030 = repair kit 1 CY0036 o ring 10
TPO061 _ black metal handle 1 FY0023 ’ plasma central adaptor - 5 pins | 1

=

PHO148

STANDARD = CONTACT SHORT ! CONTACT LONG

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 63




. J
4 trafimet PLASMA CUTTING trafimet.com

AUTOCUT AW201P C € eneoores

CODE «—> TECHNICAL DATA
2 AUTOCUT AW 201P
PB0006 6m 19.7’ ) 1,2 kg 2.65 Ib
CENTRAL 019 V PEAK 500
L % 4 bar
KT~
g 50 I/min
%* 2:4 bar
g3 1.45 I/min
X 100% 200A
[}
_ 40-50 mm 179/16-2"
0
(0]
@ 3
™ (0]
Q Q

32 mm{i3
2 mmyis,
395 mm

m CENTRAL ADAPTOR
Safety

Current Cable

w Pilot
Arc

Central Adaptor

64 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

PLASMA CUTTING

N CONTACT -~
[ 1] «—> - - REF N

PCO125 long life nozzle 53 o 5
(CV0078 included) mm

PD0115-12 70A 1,2 mm .047” 18,5 mm ° 10

PDO115-14 100 A 1,4 mm .055” 18,5 mm ° 10

PD0115-16 130 A 1,6 mm .063” 18,5 mm ° 10

PD0115-18 150 A 1,8 mm .071” 18,5 mm . 10

PDO0115-20 200 A 2,0mm 5/64” 18,5 mm ° 10

PD0115-30 gouging tip 3,0 mm 1/8” 18,5 mm L4 10

PEO114 diffuser 17,9 mm o 2

CV0080 tool for wear parts 1

PR0118 electrode 31,2 mm o 10

FHO866 air tube 34,5 L 1

CODE [ ~ CODE REPAIR KIT INCLUDED IN THE BOX -~
EA0203 O O-ring @ 22x2 mm 10 ——
PGooos | GBS = | Autocut AW 201P torch head | 1 PT0008 consumables kit 1
Troost | (NN black metal handle 1
P :
» = Plasma central adaptor, torch side|
PTO024 | __, P L \Wator 1
PT0013 grease for plasma consumables 1

STANDARD = CONTACT SHORT ! CONTACT LONG

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 65




trafimet.com

-—— °
- traﬁmet PLASMA CUTTING

PLASMA
CONNECTIONS

CENTRAL ADAPTOR CONNECTIONS
W/kBN CENTRAL ADAPTOR m CENTRAL ADAPTOR m CENTRAL ADAPTOR
trigger
gger
LJ safety —/J safety
safety
current cable current cable F current cable
w pilot w pilot w pilot N
arc arc

arc

Central Adaptor

Central Adaptor

CENTRAL ADAPTOR m CENTRAL ADAPTOR

Central Adaptor

m CENTRAL ADAPTOR

trigger L
trigger J tri
gger
‘ LJ safety —
safet
—“ current cable current cable
w pilot | | pilot w pilot
arc arc arc
Central Adaptor Central Adaptor Central Adaptor
CENTRAL ADAPTOR
004 SN TRAHYE GO, m CENTRAL ADAPTOR m CENTRAL ADAPTOR
L trigger trigger =
i ] J trigger !
safety /‘?_T‘\ safety o9 |1 safety L 9| (1
g— current cable [©O8 @ 20 g— current cable [©O8 @ 2 g— current cable [©O8 @ 20
w pilot o7 3@ w pilot o7 30 w pilot o7 3e
arc 068 40 arc 6 3 40 arc ®63 4
Central Adaptor Central Adaptor Central Adaptor

E CENTRAL ADAPTOR m CENTRAL ADAPTOR m CENTRAL ADAPTOR
trigger
] LJ trigger LJ trigger
safetyL m safety = safety —/J_O 9 (1
current cable [O8 @ o — current cable o8

2 current cable
w pilot o7 3 pilot
arc @63 4 arc

Central Adaptor

w pilot
arc

®
| |

Central Adaptor

Central Adaptor

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

66



PLASMA CUTTING

= trafimet

CENTRAL ADAPTOR TRAFIMECTOR®
LJ | L J—J LJ trigger
trigger /*
safety safety — 7 @9 |1 safety O1 1
O current cable current cable current cable Os 3@
pilot w pilot 30 w pilot o7 40
arc arc 68 4 arc ®6| |50
Central Adaptor Central Adaptor e Trafimector ®
TRAFIMECTOR®
m CENTRAL ADAPTOR m CENTRAL ADAPTOR 319 STANDARD TRAR VST CONEIE.
safety 09| [10 safety safety o4 |
20
current cable [O8 2 current cable current cable 2
= @ = O 08 3@
pilot 7 30 pilot pilot 07 40
arc 6 5 40 arc arc ®6| |50
Central Adaptor Central Adaptor _ Trafimector ®
DIRECT CONNECTIONS
SAFETY & TRIGGER SAFETY & TRIGGER SAFETY & TRIGGER
IN SERIES WITH THE COMMON IN PARALLEL
yellow _ yellow yellow
green green green
J white | J white = J white
safety trigger /_%' safety trigger _,Mo safety trigger _,w.

- current cable
pilot

L arc

Direct

” current cable
pilot

L arc

Direct

” current cable
pilot

L arc

Direct

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

67



./
4 trafimet PLASMA CUTTING trafimet.com

CENTRAL
ADAPTORS

TORCH SIDE
N ~ Air cooled - FY0023
CODE k [~ . BW017|4
)
S,
FY0023 - plasma central adaptor - 5 pins 1 5 == BX0046 no3 FY0018
E—=— BX0044 n02 | BW0195
FY0014 I- plasma central adaptor - 7 pins (CB) | 1 BX0047 NO5
" g 174G
FY0043 - plasma central adaptor - 5 pins 1
PT0024 plasma ce‘fntral adaptor 1 _
torch side - water g —.@3
i Water cooled - PT0024 AT
FY0018 * plasma/tig centrgl conn_ector body 1 Hater coolec - T Ue - . ) \}ﬁ
torch side - air 8
-~ plasma central connector body === BX0046 NO3 , . :
FY0041 - ; 1 5 0
torch side - water O BX0044 NO.2 @
BX0046 ai male spring pin L=5mm 10 =o—0= BX0047 NO.5 -
BX0044 |§| male spring pin L=8mm 10 .
pring pin L= o L
5
BX0047 —t—0— female spring pin 10 ,‘
8
:-:25 BX0046 NO.3
—o—— BXO(|)47 NO.5 S BX0044 N2
— T
MACHINE SIDE
Air / Water cooled FY0022
CODE | 5 [~ :
. plasma/tig central adaptor machine E ------------- 0 Tt
FY0022 . side - 6 pins - Air & Water ! 1 Tool - CV0053 !
v =0 @ '
EA0254 ———{m——a | pin extractor for central adaptor 1 :
V0053 O safety key 1 5 :
PT0203 [~ Ha i female spring pins kit (5 pcs) 1 Plasma extractor - EA0254
0
NEW SPRING PINS SYSTEM
CODE [ 5 (]
EA0254 ———{ ) | pin extractor for central adaptor 1
PT0202 [ -y male spring pins kit (5 pcs) 1

68 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING trafimet

TRAFIMECTOR®

TORCH SIDE MACHINE SIDE
CODE k [~ CODE [ 5 [~
FY0090 — TRAFIMECTOR® cgntral adaptor - 1 FY0080 Q TRAFIMECTOR® plgsma. central 1
torch side adaptor - machine side
TRAFIMECTOR® TORCH SIDE SPRING PINS SYSTEM TRAFIMECTOR® MACHINE SIDE SPRING PINS SYSTEM
CODE [ 5 ~ CODE [ N7
EA0254 = | pin extractor for central adaptor 1 EA0254 ———{m——a | pin extractor for central adaptor 1
PT0203 FH ot — female spring pins kit (5 pcs) 1 PT0202 [ i male spring pins kit (5 pcs) 1

TRAFIMECTORZ® allows the operator to work in accordance with all safety conditions. It is very easy to use and can be plug in

and out simply with one hand.
PLUG OUT

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 69

PLUG IN




./
4 trafimet PLASMA CUTTING trafimet.com

FLOW il
METERS f‘?

TEST THE AIR FLOW

OF YOUR TORCH
BEFORE USE

CODE = 1p HOLE fr—- ~ CODE = 1p HOLE r—- =y
CV0085 @0,8mm S 65/45/25 1 CV0090 @1,7 mm A 151 1
CV0086 @1,2mm CB 70 1 CV0091 @1,8mm AW 201 1
CV0087 @1,2mm A 81 1 ©V0092 1,0 mm CB 50 1

@1,4mm A 101 1 CV0094 @1,6 mm CB 150 1

@1,0mm S75 1 CV0096 0,8 mm S 35K 1
CVv0088

@1,2 mm S 105 1

@1,5mm S125 1
CV0089 @1,7 mm A 141 1

70 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



PLASMA CUTTING ? trafimet

CIRCLE CUTTING
GUIDE KITS

CODE fr—-
S 105
S 125
A 101
A141
CV0022
A 151
AW 201
With Spike Minimum radius 40 mm With Magnet Minimum radius 50 mm
CB 150 1
S 25K 1
S 35K 1
CV0025 S25 1
S 45 1
S 65 1
GALLED CB S0 1 Maximum radius 670 mm
S75 1
CV0052
A8l 1
CV0074 CB70 1
PLUSCUT 85 1
CV0397
PLUSCUT 105 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 71



72

ERGOPLUS

ERGOPLUS [en]

The highly renowned ERGOPLUS MIG torch has been updated to a new standard. In addition to the
new ergonomic design, significant improvements have been made to the welding performance of
the ERGOPLUS MIG torch.

The handle of the new ERGOPLUS is made of two components, rubber and plastic. Rubber textures
are located on the top and the underside of the handle surface areas, where the human hand needs
to hold the handle naturally and precisely.

One of the key features in the ergonomic design of the ERGOPLUS is the detachable pistol grip
handle.

The ERGOPLUS has been fitted with a sealed microswitch trigger.

visit trafimet.com

for more details about the products.



ERGOPLUS [it]

La rivoluzionata torcia MIG
ERGOPLUS e stata rinnovata
ad un nuovo standard. Oltre al
nuovo design ergonomico,
sono stati apportati importanti
iglioramenti alle prestazioni

i saldatura della torcia MIG

pugnatura della nuova

fa ERGOPLUS & composta
da due componenti (gomma e
plastica). Le parti in gomma si
trovano sulla parte superiore e
inferiore, dove la mano del
saldatore esegue la presa in
modo naturale e preciso.

Una delle caratteristiche
chiave del design ergonomico
della torcia ERGOPLUS ¢
I'impugnatura a pistola
rimovibile.

La torcia ERGOPLUS e dotata
di un pulsante a microinterrut-
tore sigillato.

welding torc

ERGOPLUS [de]

Wir haben unseren renom-
mierten ERGOPLUS MIG-Bren-
ner komplett optimiert und
erneuert. Neben dem neuen
ergonomischen Design wurde
auch die Schweilleistung des
ERGOPLUS MIG-Brenners
erheblich verbessert.

Der Griff des neuen
ERGOPLUS besteht aus zwei
Komponenten, Gummi und
Kunststoff. Die Gummitex-
turen befinden sich auf der
Ober- und Unterseite der
Griffoberflache, wo die Hand
den Griff nattrlich und prazise
halten muss.

Eines der wichtigsten
Merkmale des ergonomischen
Designs des ERGOPLUS ist der
abnehmbare Pistolengriff.

Der ERGOPLUS Brennertaster
ist mit einem geschutzten
Mikroschalter ausgestattet.

ERGOPLUS [fr]

Hautement renommese, la
torche de soudage MIG
ERGOPLUS a bénéficié d'une
actualisation avec une
nouvelle norme. Outre la
nouvelle conception
ergonomique, des améliora-
tions significatives ont été
apportées aux performances
de soudage de la torche MIG
ERGOPLUS.

La poignée de la nouvelle
torche ERGOPLUS est
composeée de deux €léments

en caoutchouc et en plastique.

Des textures en caoutchouc
sont situées sur la partie
supérieure et inférieure des
surfaces de la poignée, aux
endroits ou la main humaine
doit tenir la poignée naturelle-
ment et avec précision.

L'une des principales
caractéristiques de la
conception ergonomique de
'ERGOPLUS est la poignée de
torche amovible.

= trafimet

MIG__

€S

ERGOPLUS [tr]

Kaynak Urlnleri pazarinda son
derece Unli ERGOPLUS MIG
torglari yeni bir standardi
karsllayacak sekilde yenilendi.
Yeni ergonomik tasarima ek
olarak, ERGOPLUS MIG
torglarinin kaynak perfor-
mansinda da énemli iyilestirm-
eler yapildi.

Yeni ERGOPLUS kabza, kauguk
ve plastik olmak Uzere iki
bilesenden olusur. Kabza
Uzerindeki kaucuk dokular,
operatorlin kabzayi dogal ve
hassas bir sekilde tutabilmes-
ine olanak saglayacak sekilde
kabzanin Ust ve alt ylizey
alanlarinda bulunur.
ERGOPLUS'In ergonomik
tasarimindaki en onemli
ozelliklerden biri, gikarilabilir
pistol kabzadir.

ERGOPLUS, izolasyonlu bir
mikro-switch tetik ile
donatilmistir.




./
= trafimet MIG WELDING Hatmerea

ERGOPLUS 15 C € neos747

CODE «—> ‘ = 7 TECHNICAL DATA

MA4200-030 3m 10 : 1 L3 ERGOPLUS 15

MA4200-040 4m 12 1 Var il 0,65 kg ‘ 1.431b

MA4200-050 5m 16.4 EURO 1 V PEAK 113
00 0,6+1,0mm ‘ 023"+ 1/16"
X 60% 180A CO2 - 150A Mix

m Standard equipment in all torch packages
PISTOLGRIP MT0566

74 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

CODE [ o «—> REF |y
MC0017 el nozzle 9,5mm 3/8" 53 mm 21/16" 1450123 | 10
MC0018 [ nozzle 12 mm 12" 53 mm 21/16" 1450075 | 10
MC0019 [ nozzle 16 mm 5/8" 53 mm 21/16" 1450041 | 10
MC0020 m nozzle 16 mm 5/8" 61,5mm 2-13/32" 145.0168 | 10
MC0266 m nozzle 13 mm 172" 53 mm 2-1/16" 145.0143 | 10

MDO0008-06 M6 - Cu 0,6 mm 023" 25 mm 31/32" 140.0008 | 20
MDO0008-08 M6 - Cu 0,8 mm .030" 25 mm 31/32" 140.0059 | 20
MDO0008-09 o M6 - Cu 0,9 mm 035" 25 mm 31/32" 140.0177 | 20
MDO0008-10 M6 - Cu 1,0 mm .040” 25 mm 31/32" 140.0253 | 20
MD0008-12 M6 - Cu 1,2 mm .045" 25 mm 31/32" 140.0387 | 20
GMO0500 ( — ——— blue steel liner 0,6 + 0,9 mm 023"+ 035" 3m 10 124.0011 | 1
GM0501 (1, e— blue steel liner 0,6 +0,9 mm .023" +.035" 4m 12’ 124.0012 | 1
GM0502 (1, e— blue steel liner 0,6+ 0,9 mm .023" +.035" 5m 16.4' 124.0015 | 1

CODE [ 5] [~ CODE [ 5] [~
BW0562 - plastic body 10 MH0816-040 ; coaxial cable-4m /12 1
EA0303 '\ﬁj spring 10 MH0816-050 f coaxial cable-5m/ 16.4° 1
FBO112 - hexagonal fitting 10 AR0070 ﬁw EURO connector - air 1
FBO117 ==Y diffuser 10 BW0018 ‘ Euro nut plastic 10

e .
MF1515 Ergoplus 15 torch head 1 FA0026 - liner nut M10x1 10
MT0563 ‘ trigger kit 1 MT0565 e 0 o Back box kit EURO 1
MT0562 '0‘ handle kit 1
MTO0566 h pistol grip 1
MH0816-030 f coaxial cable -3 m / 10 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 75




./
= trafimet MIG WELDING Hatmerea

ERGOPLUS 24 C € Eeneo9747

CODE «—> ‘ = [~ TECHNICAL DATA

MA4201-030 3m 10 1 3 ERGOPLUS 24

MA4201-040 4m 12’ 1 Var 09 kg ‘ 1.981b

MA4201-050 5m 16.4 EURO 1 V PEAK 113
00 0,6+12mm ‘ 30" -.045"
X 60% 250A CO2 - 220A Mix

m Standard equipment in all torch packages
PISTOLGRIP MT0566

76 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING

= trafimet

CODE [ 5 o -« REF |y
MC0300 — nozzle 17 mm 21/32" 63,5 mm 21/2" 1450062 | 10
MC0301 ﬁ nozzle 12,5mm 1/2" 63,5 mm 2-1/2" 145.0080 | 10
MC0302 —— nozzle 10 mm 13/32" 63,5 mm 21/2" 1450128 | 10
MC0303 E nozzle 17 mm 21/32" 68 mm 2-11/16" 145.0174 | 10

MD0008-06 M6 - Cu 0,6 mm 023" 25 mm 31/32 140.0008 | 20
MD0008-08 M6 - Cu 0,8 mm .030” 25 mm 31/32" 140.0059 | 20
MD0008-09 (G M6 - Cu 0,9 mm 035" 25 mm 31/32" 140.0177 | 20
MD0008-10 M6 - Cu 1,0 mm .040" 25 mm 31/32" 140.0253 | 20
MD0008-12 M6 - Cu 1,2 mm .045" 25 mm 31/32" 140.0387 | 20
MD0138-00 [ﬂ:D:t M6 - brass 26 mm 1"1/32 142.0003 | 20
ME0084 E]]] plastic 20 mm 25/32" 012.0183 | 10
ME0086 e silicon 20 mm 25/32" - 10
ME0484 ﬁ plastic compound high tech 20 mm 25/32" - 10
MEO0584 E]:D ceramic 20 mm 25/32" - 10
GMO0510 (), — ——— red steel liner 1,0+ 1,2mm .040” + .045" 3m 10 124.0026 | 1
GMO0511 () — —— red steel liner 1,0+1,2mm .040” +.045" 4m 12 124.0031 | 1
GMO0512 () —— red steel liner 1,0+1,2mm .040” +.045" 5m 16.4' 124.0035 | 1

CODE [ T CODE [ 5 ~

MF1516 ;fi" Ergoplus 24 torch head MH0817-050 f coaxial cable-5m/16.4' 1

r——
MTO0563 ‘ trigger kit AR0070 — EURO connector - air 1
MT0562 “0‘ handle kit BW0020 . metal EURO nut 10
. . | — .

MT0566 pistol grip FA0026 liner nut M10x1 10
MH0817-030 f coaxial cable-3m /10’ MT0565 e 0 e Back box kit EURO 1
MH0817-040 f coaxial cable -4 m /12 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

77




./
= trafimet MIG WELDING Hatmerea

ERGOPLUS 25 C € encos74-7

CODE «—> ‘ = [~ TECHNICAL DATA

MA4202-030 3m 10 1 3 ERGOPLUS 25

MA4202-040 4m 12’ 1 Ve 09 kg ‘ 1.981b

MA4202-050 5m 16.4 EURO 1 V PEAK 113
00 08+ 12mm ‘ 030" + 045"
X 60% 230A CO2 - 220A Mix

m Standard equipment in all torch packages
PISTOLGRIP MT0566

9]

N
0‘;”/’; —

20]

78 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

CODE [ 5 o «—> REF |y

MC0022 nozzle 11,5 mm 7/16" 57 mm 2"-1/4 145.0124 | 10

MC0023 nozzle 15 mm 19/32" 57 mm 2"-1/4 145.0076 | 10

MC0024 nozzle 18 mm 23/32" 57 mm 2"-1/4 145.0042 | 10

MC0025 m nozzle 20 mm 25/32" 66,5 mm 2"-5/8 145.0169 | 10
™ m

MC0265 nozzle 11 mm 7/16" 57 mm 2"-1/4 - 10

MC0267 nozzle 14 mm 9/16" 57 mm 2"-1/4 10

MD0009-06
MD0009-08
MD0009-09
MD0009-10
MD0009-12
MD0009-14
MDO0009-16

M6 - Cu 0,6 mm .023" 28 mm 1"-3/32 140.0005 | 20
M6 - Cu 0,8 mm .030" 28 mm 1"-3/32 140.0051 | 20
M6 - Cu 0,9 mm .035" 28 mm 1"-3/32 140.0169 | 20
M6 - Cu 1,0 mm .040" 28 mm 1"-3/32 140.0242 | 20
M6 - Cu 1,2mm .045" 28 mm 1"-3/32 140.0379 | 20
M6 - Cu 1,4 mm .052" 28 mm 1"-3/32 - 20
M6 - Cu 1,6 mm 1/16" 28 mm 1"-3/32 140.0655 | 20

MEO0016 M6 - copper 35mm 1"-3/8 142.0001 10

ME0040 Lo M8 - copper 35 mm 1"-3/8 - 10
ME0060 M6 - copper 37 mm 1".15/32 - 10
ME0216 - M6 - brass 35 mm 1"-3/8 - 10
GMO0510 red steel liner 1,0+ 1,2mm 040" = .045" 3m 10 124.0026 1
GMO0511 red steel liner 1,0+1,2mm 040" + 045" 4m 12 124.0031 | 1
GMO0512 red steel liner 1,0+12mm .040" + 045" 5m 16.4° 124.0035 | 1
CODE [ 5 [~ CODE [ 5] [~
BW0562 plastic body 10 MH0817-050 f coaxial cable-5m/ 16.4’ 1
==z,
EA0304 spring 10 AR0070 EURO connector - air 1
MF1517 - Ergoplus 25 torch head 1 BW0020 . metal EURO nut 10
. . | — .

MT0563 trigger kit 1 FA0026 liner nut M10x1 10
MT0562 '0‘ handle kit 1 MT0565 | D 0 O Back box kit EURO 1
MT0566 “ pistol grip 1

MH0817-030 f coaxial cable-3m /10’ 1

MHO0817-040 f coaxial cable-4m /12’ 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 79




./
= trafimet MIG WELDING Hatmerea

ERGOPLUS 26 C € encos74-7

CODE «—> ‘ = (] TECHNICAL DATA

MA4203-030 3m 10 1 3 ERGOPLUS 26

MA4203-040 4m 12’ 1 e 1,25 kg ‘ 2.761b

MA4203-050 5m 16.4' EURO 1 V PEAK 113
00 0,8+12mm ‘ 030" + 457
X 60% 290A CO2 - 260A Mix

m Standard equipment in all torch packages
PISTOLGRIP MT0566

80 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

CODE [ 5 o «—> REF |y
[l
MCO0268 q | nozzle - 2,5 mm thickness 16 mm 5/8" 76 mm 3" 145.0085 | 10
MCO0276 a nozzle - 2 mm thickness 16 mm 5/8" 76 mm 3" 145.0085 | 10
MC0290 g nozzle - 2,5 mm thickness 14 mm 9/16" 76 mm 3" 145.0132 | 10
MC0291 a nozzle - 2,5 mm thickness 20 mm 25/32" 76 mm 3" 145.0051 | 10
MC0292 ﬂ nozzle - 2,5 mm thickness 15 mm 19/32" 76 mm 3" - 10
MC0293 m nozzle - 2,5 mm thickness 20 mm 25/32" 82 mm 3-7/32" 145.0179 | 10
heavy duty nozzle " M

MC0340 g heavy duty nozzle 16 mm 5/8 76 mm 3 10
\[ quick release nozzle " "

MC0568 1 5 mm thickness 16 mm 5/8 76 mm 3 - 10
R - quick release light nozzle ” ”

MC0576 N o thickness 16 mm 5/8 76 mm 3 - 10
MD0009-06 M6 - Cu 0,6 mm 023" 28 mm 1"-3/32 140.0005 | 20
MD0009-08 M6 - Cu 0,8 mm .030” 28 mm 1"-3/32 140.0051 | 20
MD0009-09 M6 - Cu 0,9 mm .035” 28 mm 1"-3/32 140.0169 | 20
MD0009-10 am M6 - Cu 1,0 mm .040” 28 mm 1"-3/32 140.0242 | 20
MD0009-12 M6 - Cu 1,2mm 045" 28 mm 1"-3/32 140.0379 | 20
MD0009-14 M6 - Cu 1,4mm 052 28 mm 1"-3/32 - 20
MD0009-16 M6 - Cu 1,6 mm 1/16" 28 mm 1"-3/32 140.0555 | 20
MD0061-00 [DW M6 - brass 22 mm 7/8" 142.0007 | 20
MD0062-00 []:WW M8 - brass 22 mm 7/8" 142.0082 | 20

ME0085 EII] plastic 29 mm 1%5/32 018.0116 | 10

ME0485 W plastic 29 mm 1"-5/32 - 10

ME0585 EII] ceramic 29 mm 1%5/32 018.0141 | 10

GM0510 () — —— red steel liner 1,0+ 12mm 040" = 045" 3m 10 124.0026 | 1

GMO0511 () — —— red steel liner 1,0+1,2mm .040” +.045" 4m 12 124.0031 | 1

GMO0512 (), — —— red steel liner 1,0+ 1,2mm .040” + .045" 5m 16.4' 124.0035 | 1

CODE [ CODE [ 5 [~

MF1518 ﬂ/‘ Ergoplus 26 torch head MH0818-050 f coaxial cable - 5m / 16.4 1

=,

MT0563 ‘ trigger kit AR0070 EURO connector - air 1

MTos62 | g o= handle kit BW0020 ‘ metal EURO nut 10

. . | — .
MT0566 pistol grip FA0026 liner nut M10x1 10
MH0818-030 f coaxial cable-3m /10’ MT0565 o === Q o= Back box kit EURO 1
MH0818-040 f coaxial cable -4 m /12 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 81



./
= trafimet MIG WELDING Hatmerea

ERGOPLUS 36 C € encos74-7

CODE «—> ‘ = [~ TECHNICAL DATA

MA4204-030 3m 10 1 3 ERGOPLUS 36

MA4204-040 4m 12’ 1 Ve i 1,4 kg ‘ 3.09 Ib

MA4204-050 5m 16.4' EURO 1 V PEAK 113
00 0,6+1,6mm ‘ 023"+ 1/16"
X 60% 330A CO2 - 300A Mix

m Standard equipment in all torch packages
PISTOLGRIP MT0566

82 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

CODE [ o «—> REF |y
MC0017 el nozzle 9,5mm 3/8" 53 mm 21/16" 1450123 | 10
MC0018 [ nozzle 12 mm 12" 53 mm 21/16" 1450075 | 10
MC0019 [ nozzle 16 mm 5/8" 53 mm 21/16" 1450041 | 10
MC0020 m nozzle 16 mm 5/8" 61,5mm 2-13/32" 145.0168 | 10
MC0266 m nozzle 13 mm 172" 53 mm 2-1/16" 145.0143 | 10

MDO0008-06 M6 - Cu 0,6 mm 023" 25 mm 31/32" 140.0008 | 20
MDO0008-08 M6 - Cu 0,8 mm .030" 25 mm 31/32" 140.0059 | 20
MDO0008-09 o M6 - Cu 0,9 mm 035" 25 mm 31/32" 140.0177 | 20
MDO0008-10 M6 - Cu 1,0 mm .040” 25 mm 31/32" 140.0253 | 20
MD0008-12 M6 - Cu 1,2 mm .045" 25 mm 31/32" 140.0387 | 20
GMO0500 ( — ——— blue steel liner 0,6 + 0,9 mm 023"+ 035" 3m 10 124.0011 | 1
GM0501 (1, e— blue steel liner 0,6 +0,9 mm .023" +.035" 4m 12’ 124.0012 | 1
GM0502 (1, e— blue steel liner 0,6+ 0,9 mm .023" +.035" 5m 16.4' 124.0015 | 1

CODE [ 5] [~ CODE [ 5] [~
BW0562 - plastic body 10 MH0816-040 ; coaxial cable-4m /12 1
EA0303 '\ﬁj spring 10 MH0816-050 f coaxial cable-5m/ 16.4° 1
FBO112 - hexagonal fitting 10 AR0070 ﬁw EURO connector - air 1
FBO117 ==Y diffuser 10 BW0018 ‘ Euro nut plastic 10

e .
MF1515 Ergoplus 15 torch head 1 FA0026 - liner nut M10x1 10
MT0563 ‘ trigger kit 1 MT0565 e 0 o Back box kit EURO 1
MT0562 '0‘ handle kit 1
MTO0566 h pistol grip 1
MH0816-030 f coaxial cable -3 m / 10 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 83




./
= trafimet MIG WELDING Hatmerea

ERGOPLUS 240 C € encos7a7

CODE «—> ‘ = ~7 TECHNICAL DATA
MB2600-030 3m 10° 1 a2 ERGOPLUS 240
MB2600-040 4m 12" 1 ATml_ 1,1kg ‘ 2.431b
MB2600-050 5m 16.4 EURO 1 V PEAK 113
00 0,8+ 12mm ‘ 030"+ .045"
X 100% 300A CO2 - 270A Mix
g 2+4 bar
m Standard equipment in all torch packages w%
a3 1,6 I/min
PISTOLGRIP MT0566

84 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING

= trafimet

CODE [ 5 o «—> REF |y
MC0300 — nozzle 17 mm 21/32" 63,5 mm 21/2" 1450062 | 10
MC0307 — nozzle 12,5 mm 12" 63,5 mm 21/2" 1450080 | 10
MC0302 Q nozzle 10 mm 13/32" 63,5 mm 2-1/2" 145.0128 | 10
MC0303 E nozzle 17 mm 21/32" 68 mm 2-11/16" 145.0174 | 10
MD0008-06 M6 - Cu 0,6 mm 023" 25 mm 31/32" 140.0008 | 20
MD0008-08 M6 - Cu 0,8 mm .030” 25 mm 31/32" 140.0059 | 20
MD0008-09 (G M6 - Cu 0,9 mm 035" 25 mm 31/32" 140.0177 | 20
MD0008-10 M6 - Cu 1,0 mm .040” 25 mm 31/32" 140.0253 | 20
MD0008-12 M6 - Cu 1,2mm 045" 25 mm 31/32" 140.0387 | 20
MD0138-00 [ﬂ:D:t M6 - brass 26 mm 1"1/32 142.0003 | 20
ME0084 E]:[] plastic 20 mm 25/32" 012.0183 | 10
ME0086 el silicon 20 mm 25/32" - 10
ME0484 ﬁ plastic compound high tech 20 mm 25/32" - 10
MEO0584 E]:D ceramic 20 mm 25/32" - 10
GMO0526 S e— uncoated steel liner 1,0+ 1,2mm .040" 045" 3m 10 1
GMO0527 &_,;;-—-_ uncoated steel liner 1,0+ 1,2mm .040" = .045" 4m 12' 1
GM0528 s uncoated steel liner 1,0+1,2mm 040" + .045" 5m 16.4' 1
CODE [ T CODE [ 5 ~
> : ) cable assembly-5m/16.4'
MG0284 5/‘"‘“ y Ergoplus 240 torch head MN2014-050 ?‘ with ball ot 1
MT0563 ‘ trigger kit AR0052 m EURO connector 1
MT0560 — 0 handle kit BW0020 ‘ metal EURO nut 10
MT0566 ~ pistol grip FA0026 liner nut M10x1 10
] cable assembly -3 m /10’ ’ )
MN2014-030 ?‘ with balljoints MT0564 Y Back box kit 1
MN2014-040 ? cable a§sembly —.4 m/12 1
with ball-joints
CODE <« CODE <« CODE R
8a | Control leads ; ; ;
] 8a| BX1421-030 | 3m/10 8a| BX1421-040 | 4m/12 8a| BX1421-050 | 5m/16.4
(8b[Gas hose 8b | QB0231-030 | 3m/10 8b | QB0231-040 | 4m/12 8b | QB0231-050 | 5m/16.4’
8c | QB0230-030 | 3m/10' 8c | QB0230-040 | 4m/12 8c | QB0230-050 | 5m/16.4’
|8d| Water inlet ‘ Water outlet 8d | QB0232-030 | 3m/10 8d | QB0232-040 | 4m/12 8d | QB0232-050 | 5m/16.4’
Power cable |8¢] I'g, | 9A0030-030 | 3m /10 8e | QA0030-040 | 4m/12 8e | QA0030-050 | 5m/16.4'
8f | MQ0125-030 | 3m/10 8f | MQ0125:040 | 4m/12 8f | MQ0125-050 | 5m/16.4’

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

85




= trafimet

ERGOPLUS 400

MIG WELDING

trafimet.com

C € eneo97a-7

CODE = [~
MB2601-030 3m 10 1
MB2601-040 4m 12 1
MB2601-050 5m 16.4 EURO 1

TECHNICAL DATA

m Standard equipment in all torch packages

PISTOLGRIP

MT0566

a2 ERGOPLUS 400
ATl 125kg ‘ 2761b
V PEAK 113
00 10+1,6 mm ‘ 040"+ 1/16"
X 100% 400A CO2 - 350A Mix
g 2+4 bar
23 1,6 I/min

86 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




MIG WELDING

= trafimet

CODE [ o «—> REF |y
I

MC0268 q | nozzle - 2,5 mm thickness 16 mm 5/8" 76 mm 3" 145.0085 | 10

MCO0276 g nozzle - 2 mm thickness 16 mm 5/8" 76 mm 3" 145.0085 | 10

MC0290 g nozzle - 2,5 mm thickness 14 mm 9/16" 76 mm 3" 145.0132 | 10

MC0291 a nozzle - 2,5 mm thickness 20 mm 25/32" 76 mm 3" 145.0051 10

MC0292 ﬂ nozzle - 2,5 mm thickness 15 mm 19/32" 76 mm 3" - 10

MC0293 m nozzle - 2,5 mm thickness 20 mm 25/32" 82 mm 3-7/32" 145.0179 | 10

heavy duty nozzle " M
MC0340 g heavy duty nozzle 16 mm 5/8 76 mm 3 10
A - quick release nozzle " "

MC0568 1 thicknos 16 mm 5/8 76 mm 3 - 10

 \K quick release light nozzle " ”

MC0576 0 P 16 mm 5/8 76 mm 3 - 10
MD0005-80 M8 - CuCrzr 1,0mm 040" 30 mm 1"-3/16 140.0316 | 10
MD0005-82 p— M8 - CuCrzr 1,2mm 045" 30 mm 1"-3/16 140.0445 | 10
MD0005-84 M8 - CuCrzr 1,4mm 052" 30 mm 1"-3/16 140.0536 | 10
MD0005-86 M8 - CuCrzr 1,6 mm 1/16" 30 mm 1"-3/16 140.0590 | 10

=

ME0076 Al M8 - brass 25mm 31/32" - 10

=

ME0083 ﬂ!l\“\ M8 - brass 29 mm 1".5/32 - 10

ME0390 -?g““‘ M8 - copper 25 mm 31/32" - 10

ME0074 iy plastic 28 mm 1"3/32 - 10

ME0079 =il plastic 29 mm 1"-5/32 300029 | 10

ME0479 @ high-tech plastic 28 mm 1"-3/32 - 10

ME0579 i ceramic 16 mm 5/8" 28 mm 1":3/32 - 10

GMO530 [V ————— uncoated steel liner 12+1,6mm 045" +1/16" 3m 10 10

GMO0531 ) — uncoated steel liner 1,2+ 1,6 mm 045" +1/16" 4m 12 10

GMO0532 [V ————— uncoated steel liner 12+1,6mm 045" +1/16" 5m 16.4' 10

CODE [ CODE [ 5 ~
FB1278 0 insulator MN2014040 | =y cable assembly ~4m /12" |
with ball-joints
p cable assembly-5m/16.4°

MG0285 ‘f/“'”a Ergoplus 400 torch head MN2014-050 —?‘ with ball s 1

MT0563 ‘ trigger kit AR0052 &.‘}- EURO connector 1

MTO0560 ' 0 ‘ handle kit BW0020 . metal EURO nut 10

MT0566 h pistol grip FA0026 ﬁ liner nut M10x1 10

cable assembly-3m /10’ 4 .
MN2014-030 _g‘ with ballonts MT0564 ol o =" Back box kit 1
CODE CODE R CODE «—>
8a | Control leads
] 8a | BX1421-030 8a| BX1421-040 | 4m/12 8a| BX1421-050 | 5m/16.4’
[#b]Gas hose : 8b | QB0231-030 8b | QB0231-040 | 4m/12 8b | QB0231-050 | 5m/16.4’
8c | QB0230-030 8c | QB0230-040 | 4m/12 8c | QB0230-050 | 5m/16.4'
8d| Water inlet ‘ Water outlet 8d | QB0232-030 8d | QB0232-040 | 4m/12 8d | QB0232-050 | 5m/16.4’
Power cable |8¢] |'g | 5A0030-030 8e | QA0030-040 | 4m/12 8e | QA0030-050 | 5m/16.4’
8f | MQ0125-030 8f | MQ0125:040 | 4m/12 8f | MQ0125-050 | 5m/16.4’

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

87




./
= trafimet MIG WELDING Hatmerea

ERGOPLUS 500 C € ene097a-7

CODE <> \ =l [~ TECHNICAL DATA
MB2602-030 3m 10 1 g ERGOPLUS 500
MB2602-040 4m 12 1 ATml_ 1,25 kg ‘ 2.76 b
MB2602-050 5m 16.4 EURO 1 V PEAK 113
00 10+24mm ‘ 040"+ 3/32"
X 100% 500A CO2 - 450A Mix
m Standard equipment in all torch packages % 2+4 bar
a3 1,6 I/min
PISTOLGRIP MT0566

88 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING

= trafimet

CODE [ 5 o «—> REF |y
I
MC0268 q | nozzle - 2,5 mm thickness 16 mm 5/8" 76 mm 3" 145.0085 | 10
MCO0276 g nozzle - 2 mm thickness 16 mm 5/8" 76 mm 3" 145.0085 | 10
MC0290 g nozzle - 2,5 mm thickness 14 mm 9/16" 76 mm 3" 145.0132 | 10
MC0291 a nozzle - 2,5 mm thickness 20 mm 25/32" 76 mm 3" 145.0051 10
MC0292 ﬂ nozzle - 2,5 mm thickness 15 mm 19/32" 76 mm 3" - 10
MC0293 m nozzle - 2,5 mm thickness 20 mm 25/32" 82 mm 3-7/32" 145.0179 | 10
heavy duty nozzle " M

MC0340 g heavy duty nozzle 16 mm 5/8 76 mm 3 10
A - quick release nozzle " "

MC0568 1 G thicknos 16 mm 5/8 76 mm 3 - 10
.\ quick release light nozzle " ”

MC0576 0 P 16 mm 5/8 76 mm 3 - 10
MD0005-80 M8 - CuCrzr 1,0mm 040" 30 mm 1"-3/16 140.0316 | 20
MD0005-82 p— M8 - CuCrzr 1,2mm 045" 30 mm 1"-3/16 140.0445 | 20
MD0005-84 M8 - CuCrzr 1,4mm 052" 30 mm 1"-3/16 140.0536 | 20
MD0005-86 M8 - CuCrzr 1,6 mm 1/16" 30 mm 1"-3/16 140.0590 | 20

<

ME0076 i M8 - brass 25mm 31/32" - 10

=

ME0083 ﬂ!l\“\ M8 - brass 29 mm 1".5/32 - 10

ME0390 -?g““‘ M8 - copper 25 mm 31/32" - 10

ME0074 iy plastic 28 mm 1"3/32 - 10

ME0079 Rl plastic 29 mm 1"-5/32 300029 | 10

ME0479 @ high-tech plastic 28 mm 1"-3/32 - 10

ME0579 il ceramic 16 mm 5/8" 28 mm 1":3/32 - 10

GMO0530 [V ————— uncoated steel liner 12+1,6mm 045" +1/16" 3m 10 1

GMO0531 ) — uncoated steel liner 1,2+ 1,6 mm 045" +1/16" 4m 12’ 1

GMO0532 [V ————— uncoated steel liner 12+1,6mm 045" +1/16" 5m 16.4' 1

CODE [ CODE [ 5 7
FB1278 0 insulator MN2014040 | =y cable assembly -4 m /12" |
with ball-joints
- cable assembly-5m /16.4°

MG0286 & Ergoplus 500 torch head MN2014-050 ? o ol o 1

MT0563 ‘ trigger kit AR0052 &.‘}- EURO connector 1

MTO0560 ' 0 ‘ handle kit BW0020 . metal EURO nut 10

MT0566 h pistol grip FA0026 ﬁ liner nut M10x1 10

cable assembly -3 m /10’ 4 .

MN2014-030 _g‘ with ballonts MT0564 ol 0 =" Back box kit 1

CODE CODE R CODE «—>
8a | Control leads R B
0O 8a | BX1421-030 8a| BX1421-040 | 4m/12 8a| BX1421-050 | 5m/16.4
[#b]Gas hose : 8b | QB0231-030 8b | QB0231-040 | 4m/12 8b | QB0231-050 | 5m/16.4’
8c | QB0230-030 8c | QB0230-040 | 4m/12 8c | QB0230-050 | 5m/16.4'
8d| Water inlet ‘ Water outlet 8d | QB0232-030 8d | QB0232-040 | 4m/12 8d | QB0232-050 | 5m/16.4’
Power cable |8¢] |'g | 5A0030-030 8e | QA0030-040 | 4m/12 8e | QA0030-050 | 5m/16.4’
8f | MQ0125-030 8f | MQ0125:040 | 4m/12 8f | MQ0125-050 | 5m/16.4’

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

89




./
= trafimet MIG WELDING Hatmerea

ERGOPLUS 555 C € Ene097a-7

CODE «—> ‘ = ~7 TECHNICAL DATA
MB2603-030 3m 10 1 A ERGOPLUS 555
MB2603-040 4m 12" 1 ATml_ 1,30 kg ‘ 2.871b
MB2603-050 5m 16.4 EURO 1 V PEAK 113
00 1,0+ 24mm ‘ 040" + 3/32"
X 100% 550A CO2 - 500A Mix
a 2+4 bar
m Standard equipment in all torch packages w%
a3 1,6 I/min
PISTOLGRIP MT0566

ERGOPLUS 555

REPAIR KIT FOR TORCH HEAD
MTO0211

y 14

90 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

CODE [ o «—> REF |y
I
MCO0268 q | nozzle - 2,5 mm thickness 16 mm 5/8" 76 mm 3" 145.0085 | 10
MCO0276 g nozzle - 2 mm thickness 16 mm 5/8" 76 mm 3" 145.0085 | 10
MC0290 g nozzle - 2,5 mm thickness 14 mm 9/16” 76 mm 3" 145.0132 | 10
MC0291 a nozzle - 2,5 mm thickness 20 mm 25/32" 76 mm 3" 145.0051 10
MC0292 ﬂ nozzle - 2,5 mm thickness 15 mm 19/32" 76 mm 3" - 10
MC0293 m nozzle - 2,5 mm thickness 20 mm 25/32" 82 mm 3-7/32" 145.0179 | 10
heavy duty nozzle " M

MC0340 g heavy duty nozzle 16 mm 5/8 76 mm 3 10
A - quick release nozzle ” y

MC0568 1 shickness 16 mm 5/8 76 mm 3 - 10
- \H quick release light nozzle " ”

MC0576 o P ichneas 16 mm 5/8 76 mm 3 - 10
MD0005-80 M8 - CuCrZr 1,0 mm .040" 30 mm 1"-3/16 140.0316 | 20
MD0005-82 — M8 - CuCrzr 1,2 mm .045" 30 mm 1"-3/16 140.0445 | 20
MD0005-84 M8 - CuCrzr 1,4mm 052" 30 mm 1"-3/16 140.0536 | 20
MD0005-86 M8 - CuCrzr 1,6 mm 1/16" 30 mm 1"-3/16 140.0590 | 20

=

ME0400 i M8 - brass 25mm 31/32" - 10

ME0402 -?g““‘ M8 - copper 25 mm 31/32" - 10

MEO0074 ﬁ plastic 28 mm 1"-3/32 - 10

ME0079 ] plastic 29 mm 1"-5/32 300029 | 10

MEO0479 ﬂ high-tech plastic 28 mm 1"-3/32 - 10

ME0579 = ceramic 16 mm 5/8" 28 mm 1-3/32 - 10

GMO0530 O — uncoated steel liner 12+16mm 045" =1/16" 3m 10° 1

GMO531 [V ————— uncoated steel liner 12+1,6mm 045" +1/16" 4m 12 1

GMO0532 ) — uncoated steel liner 12+1,6mm 045" +1/16" 5m 16.4' 1

CODE [ CODE [ 5 ~

FB1278 0 insulator MN2014-040 *ﬂ‘ cable assembly-4m /12 1

with ball-joints

MG0287 V4 Ergoplus 555 torch head MN2014-050 ?‘ cable assembly-5m/16.4 1

with ball-joints

MT0563 ‘ trigger kit AR0052 4 e~ EURO connector 1

MTO0561 ' 0 ‘ handle kit BW0020 . metal EURO nut 10

MT0566 ~ pistol grip FA0026 ﬁ liner nut M10x1 10

cable assembly -3 m /10’ 4 .
MN2014-030 ?.- with ballonts MT0564 afis o == Back box kit 1
CODE CODE > CODE R
8a | Control leads
] 8a | BX1421-030 8a| BX1421-040 | 4m/12 8a| BX1421-050 | 5m/16.4'
[#b]Gas hose . 8b | QB0231-030 8b | QB0231-040 | 4m/12 8b | QB0231-050 | 5m/16.4’
8c | QB0230-030 8c | QB0230-040 | 4m/12 8c | QB0230-050 | 5m/16.4'
(8d| Water inlet ‘ Water outlet 8d | QB0232-030 8d | QB0232-040 | 4m/12 8d | QB0232-050 | 5m/16.4'
Power cable |8¢] |'g | 3A0030-030 8e | QA0030-040 am/12 8e | QA0030-050 | 5m/16.4°
8f | MQO0125-030 8f | MQO125:040 | 4m/12 8f | MQ0125-050 | 5m/16.4’

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 91




92

ERGOFRESH

ERGOFRESH [en]

The new ERGOFRESH is our answer to the demand for better safety. With the ERGOFRESH fume
extraction MIG torch, a welder and their colleagues will breathe clean air rather than the fumes
created during the welding process. The extraction efficiency for all ERGOFRESH models has been
measured according to new standard ISO 21904.

The ERGOFRESH gas nozzle and vacuum nozzle combination is patent pending.

The ERGOFRESH handle is equipped with a bypass lid. The lid is located under the welder's thumb
when they are holding the torch by the standard handle.



ERGOFRESH |[it]
La nuova torcia ERGOFRESH e
la nostra risposta alla richiesta
di maggiore salute e sicufezza.
Grazie alla torcia MIG co
|'estrazione dei fumi :
ERGOFRESH, il saldatoré e
suoi colleghi possono
respirare aria pulitaianziché i
fumi creati durante il processo
di saldatura: Lefficienza
dell'estrazione dei fumi per
tutti i modelli ERGOFRESH e
stata misurata in conformita al
nuovo standard ISO 21904.

La combinazione dell'ugello
del gas ERGOFRESH e
dell'ugello di aspirazione € in
attesa di brevetto.
Limpugnatura della torcia
aspirafumo ERGOFRESH &
dotata di un coperchio bypass.
Il coperchio si trova sotto il
pollice del saldatore quando la
torcia viene utilizzata con
I'impugnatura standard.

welding torc

ERGOFRESH [de]

Der neue ERGOFRESH ist
unsere Antwort auf diese
Nachfrage nach mehr
Sicherheit. Mit dem ERGOF-
RESH MIG-Schweilbrenner
mit Rauchabsaugung atmen
Schweiler und ihre Kollegen
saubere Luft und nicht den
giftigen Schweirauch ein. Die
Absaugleistung aller ERGOF-
RESH-Modelle wurde nach der
neuen Norm ISO 21904
gemessen.

Die Kombination der
ERGOFRESH Gasdiise und
Absaugduse ist zum Patent
angemeldet.

Der ERGOFRESH-Griff ist mit
einem Bypass-Deckel
ausgestattet. Der Deckel
befindet sich unter dem
Daumen des Schweilers,
wenn er den Brenner in der
Hand halt.

= trafimet

%‘{J

ERGOFRESH [fr]

La nouvelle torche ERGOF-
RESH est notre réponse a
cette demande de sécurité
accrue. Avec la torche de
soudage MIG a extraction de
fumée ERGOFRESH, un
soudeur et ses collegues
respireront un air pur au lieu
des fumeées générées pendant
le processus de soudage.
Lefficacité d'extraction de tous
les modeles ERGOFRESH a
été mesurée conformément a
la nouvelle norme ISO 21904.
La combinaison de la buse de
gaz et de la buse d'aspiration
ERGOFRESH est en instance
de brevet.

La poignée ERGOFRESH est
équipée d'un couvercle de
dérivation. Le couvercle est
situé sous le pouce du
soudeur lorsqu'il tient la torche
avec la poignée standard.

ERGOFRESH [tr]

Yeni ERGOFRESH, daha
ylksek guvenlik talebine
verdigimiz cevaptir.
Kaynakgilar ve ayni ortamda
bulunan diger galisanlar,
ERGOFRESH duman tahliye
ozelligine sahip MIG torcu
sayesinde, kaynak islemi
sirasinda ortaya gikan
dumanlari degil, temiz havayi
solurlar. Tum ERGOFRESH
modellerinin tahliye verimliligi,
yeni ISO 21904 standardina
gore olculmustur.
ERGOFRESH gaz nozulu ve
vakum nozulu kombinasyonu
patent beklemektedir.
ERGOFRESH kabza zerinde
bir baypas kapagi bulunur.
Kapak, torcun standart kabza
ile kullaniimasi esnasinda
kaynakginin bagparmaginin
altindadir.

93




./
= trafimet MIG WELDING Hamee

ERGOFRESH 200G C € Enoos7a7

CODE «—> ‘ = (] TECHNICAL DATA
MA4250-030 3m 10 1 3 ERGOFRESH 200G
MA4250-040 4m 12’ 1 Ve I 13kg ‘ 2.871b
MA4250-050 5m 16.4' EURO 1 V PEAK 113
00 08+12mm ‘ 030"+ 045"
X 60% 200A CO2 - 180A Mix
Standard equipment in all torch packages 3m am 5m
C3-9 30 | 488m¥h | 488m¥h | 488m¥h
PISTOLGRIP AIRFLOWMETER =T ; ; .
B3 |.20,| e1men 66 m*/h 66 m*/h
|| o 9 9
WOD R |50, 89% 89% 89%
&R piFF 24kPa 25kPa 27kPa

MT0566 MTO0590

SPARE PARTS oLD
— VIeWIT I MC0602-SP [ 1] .
‘s FB0942 FB0902-SP N
"] FB0941 FB0900-SP
Replace them all together
to update your old torch /

94 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



- °
MIG WELDING < trafimet
v
CODE [ o «—> REF |y
MC0602-SP _l nozzle 12,5 mm 1/2" 63,5 mm 2"1/2 - 10
FB0902-SP h vacuum nozzle 35mm 1"3/8 35mm 1"3/8 - 1
~
EA2071 [ locking spring 33mm 1"5/16 - - - 3
FB0900-SP i locking bush 34 mm 1"11/32 27 mm 1"1/16 - 1
FB0945 v‘ vacuum tube 36,7 mm 1"7/16 93 mm 3"21/32 - 1
MD0008-78 M6 - CuCrZr 0,8 mm 030" 25 mm 31/32" - 20
MD0008-80 G M6 - CuCrZr 1,0 mm 040" 25 mm 31/32" - 20
MD0008-82 M6 - CuCrZr 1,2 mm 045" 25 mm 31/32" - 20
MD0138-00 [E:D:t M6 - brass 26 mm 1"1/32 142.0003 | 10
ME0084 ED] plastic 20 mm 25/32" 012.0183 | 10
MEO0086 - silicon 20 mm 25/32" - 10
ME0484 E plastic compound high tech 20 mm 25/32" - 10
MEO0584 E]:D ceramic 20 mm 25/32" - 10
GMO0874 (|, —— red steel liner 1,0+1,2mm .040” +.045" 3m 10 - 1
GMO0875 (), — —— red steel liner 1,0+1,2mm .040” +.045" 4m 12 - 1
GM0876 (| — —— red steel liner 1,0+ 12mm 040" = .045" 5m 16.4 - 1
CODE [ CODE k ~7
MF1523 - Ergofresh 200G torch head MQ0388-030 # spare 'ea‘hzrr‘;"}’ﬁro',‘” - Velero® |4
MT0563 ‘ trigger kit MQ0388-040 # spare leather cover I,<it - Velcro® 1
4m/12
. g spare leather cover kit - Velcro®
MT0568 ’ handle kit MQ0388-050 # orcover ki ]
MT0566 ~ pistol grip MT0569 ' vacuum box kit 1
MH0820-030 f coaxial cable-3m /10 MT0572 Q# back box spring kit 1
MH0820-040 f coaxial cable-4m /12’ MT0570 — back box kit Euro - air 1
MH0820-050 f coaxial cable-5m/ 16.4' AR0070 riﬁ"‘“\“—:‘; EURO connector - air 1
MQ0127-030 P outer cover kit-3m /10’ BW0020 . metal EURO nut 10
MQ0127-040 P outer cover kit-4m /12 FA0026 5 liner nut M10x1 10
MQ0127-050 P outer cover kit-5m / 16.4’ 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

95




./
v trafimet MIG WELDING trafimet.com

ERGOFRESH 350G C € Enoos7a-7

CODE «—> - L TECHNICAL DATA
MA4251-030 3m w | 1 g ERGOFRESH 350G
MA4251-040 4m 12 1 ATml_ 1.8kg ‘ 3.971b
MA4251-050 5m 16.4' EURO 1 V PEAK 113
00 0,8+ 1,6 mm 030"+ 1/16"
X 60% 330A CO2 - 300A Mix
m Standard equipment in all torch packages 3m 4m 5m
= | 10 » 2 s
PISTOLGRIP | AIRFLOWMETER CS -~ [aey 9D | #OTR | MAmA
P 32 ,80,| somen 56 m*/h 60 m*/h
WD g |90, 8% 89% 89%
&R pIFF 23kPa 23kPa 26 kPa
MT0590

SPARE PARTS OLD
— MC0611 MC0603-SP
ﬂ FB0943 FB0903-SP
‘ FB0940 FB0901-SP

Replace them all together
to update your old torch

96 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



—a—— °
MIG WELDING < trafimet
v
[T 0 «—> REF |y
A
MC0603-SP —_ nozzle 16 mm 5/8" 84 mm 3"5/16 - 10
FB0903-SP H vacuum nozzle 40 mm 1"9/16 56 mm 2"7/32 - 1
EA2070 @ locking spring 36,5 mm 1"7/16 - - - 3
FB0901-SP i locking bush 36 mm 1"13/32 30,5 mm 1"3/16 - 1
FB0945 ‘ vacuum tube 36,7 mm 1"7/16 93 mm 3"21/32 - 1
MD0005-78 M8 - CuCrzr 0,8 mm 030" 30 mm 1"-3/16 - 20
MD0005-80 M8 - CuCrzr 1,0 mm 040" 30 mm 1"-3/16 140.0316 | 20
MD0005-82 M8 - CuCrZr 1,2 mm 045" 30 mm 1"-3/16 140.0445 | 20
MD0005-84 < lm M8 - CuCrzr 1,4 mm 052" 30 mm 1"-3/16 140.0536 | 20
MD0005-86 M8 - CuCrzr 1,6 mm 1/16” 30 mm 1"-3/16 140.0590 | 20
MD0005-90 M8 - CuCrzr 2,0 mm 5/64" 30 mm 1"-3/16 140.0656 | 20
MD0005-94 M8 - CuCrZr 2,4 mm 3/32" 30 mm 1"-3/16 - 20
MDO0063-00 G M6 - brass 28 mm 13/32 142.0005 | 20
MD0064-00 o M8 - brass 28 mm 13/32 142.0020 | 20
MD0131-00 @W M6 - brass 32 mm 1"-1/4 142.0011 | 20
MD0132-00 [Q]W M8 - brass 32 mm 1"1/4 142.0024 | 20
ME0017 EII| plastic 32,8 mm 1"-9/32 014.0261 | 10
ME0041 ﬁ plastic 32,8 mm 1"-9/32 014.0021 | 10
MEO0417 - high-tech plastic 32,8 mm 1"-9/32 - 10
ME0517 EII| ceramic 32,8 mm 1"-9/32 014.0023 | 10
GM0874 () E—— red steel liner 1,0+1,2mm .040” +.045" 3m 10 - 1
GM0875 () —— red steel liner 1,0+ 12mm 040" = .045" 4m 12 - 1
GMO0876 (|, — ——— red steel liner 1,0+1,2mm .040” +.045" 5m 16.4' - 1
CODE E CODE k [~
MF1522 Ve Ergofresh 3506 torch head MQ0388-030 # spare 'eathesr;"}’ﬁ'o',‘" - Velcro® |
MT0563 ‘ trigger kit LTI # spare leather cover kit - Velcro® |
4m/12
. g spare leather cover kit - Velcro®
MT0568 ’ handle kit MQ0388-050 # e 1
MT0566 “ pistol grip MT0569 ' vacuum box kit 1
MH0821-030 f coaxial cable-3m /10 MT0572 w back box spring kit 1
MH0821-040 f coaxial cable-4m /12’ MT0570 - back box kit Euro - air 1
MH0821-050 f coaxial cable-5m/16.4' AR0070 m EURO connector - air 1
MQ0127-030 Pre—— outer cover kit-3m/ 10’ BW0020 . metal EURO nut 10
MQ0127-040 Pre—— outer cover kit-4m /12 FA0026 ﬁ liner nut M10x1 10
MQ0127-050 Pre—— outer cover kit-5m / 16.4’ 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

97




? traﬁmet MIG WELDING

trafimet.com

ERGOFRESH 300W C € Enoos7a-7

CODE «—> \ =l [~ TECHNICAL DATA
MB2650-030 3m 10 : 1 A ERGOFRESH 300W
MB2650-040 4m 12 1 Aiml_ 1.5kg ‘ 3311b
MB2650-050 5m 16.4' EURO 1 V PEAK 113
00 08+12mm ‘ 030"+ 045"
X 100% 300A CO2 - 250A Mix
m Standard equipment in all torch packages = 2+ 4bar
a3 1,6 I/min
PISTOLGRIP AIRFLOWMETER am am 5m
C33% |30 | 488mh | 488m¥h | 488m¥h
Y2 |,1%0. | s06myh 634 m3/h 67 m3/h
WD g |80, 90% 90% 90%
4B DIFF 34kPa 3,7kPa 41kPa
MT0590
SPARE PARTS oLD NEW
p—— VIS MC0602-SP
- FB0942 FB0902-SP
= FB0941 FB0900-SP

Replace them all together
to update your old torch

98 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




MIG WELDING ? trafimet

CODE [ o «—> REF |y
MC0602-SP [ R— nozzle 12,5 mm 12" 63,5 mm 2172 - 10
=
FB0902-SP “ vacuum nozzle 35mm 1"3/8 35mm 1"3/8 - 1
~
EA2071 LK locking spring 33 mm 1"5/16 - - - 3
FB0900-SP i locking bush 34 mm 1"11/32 27 mm 1"1/16 . 1
FB0945 v‘ vacuum tube 36,7 mm 1"7/16 93 mm 3"21/32 - 1
MD0008-78 M6 - CuCrzr 0,8 mm 030" 25 mm 31/32" - 20
MD0008-80 (S M6 - CuCrzr 1,0 mm .040” 25 mm 31/32" - 20
MD0008-82 M6 - CuCrzr 1,2mm 045" 25 mm 31/32" - 20
MD0138-00 [E:D:t M6 - brass 26 mm 1"1/32 142.0003 | 10
ME0084 ED] plastic 20 mm 25/32" 012.0183 | 10
MEO0086 - silicon 20 mm 25/32" - 10
ME0484 E plastic compound high tech 20 mm 25/32" - 10
MEO0584 E]:D ceramic 20 mm 25/32" - 10
GMO0880 s_—ﬁ—_;-—-— uncoated steel liner 1,0+ 1,2mm .040" = .045" 3m 10’ - 1
GMO0881 &'ﬁ"'—-— uncoated steel liner 1,0+1,2mm .040" = .045” 4m 12' - 1
GMO0882 &—E—p—— uncoated steel liner 1,0+ 1,2mm .040" = .045" 5m 16.4 - 1
CODE [ 5] CODE [ 5 -~
MG0293 {/d':i Ergofresh 300W torch head MQ0388-030 # spare 'eathesr r°n°>"jr0',‘” -Velero® |
MT0563 ‘ trigger kit QR # spare leather cover kit - Velcro® |
4m/12
MT0568 ’ handle kit e # spare leather cover kit - Velcro® |
5m/16.4
MT0566 “ pistol grip MT0569 ' vacuum box kit 1
MN2015-030 = ‘?‘, cable assembly-3m/ 10’ MT0572 W back box spring kit 1
MN2015-040 = ‘y cable assembly-4m /12’ MTO0571 “ back box kit Euro - water 1
MN2015-050 |  _ ‘?/ cable assembly-5m / 16.4' AR0052 m EURO connector - water 1
MQ0127-030 e = outer cover kit-3m /10 BW0020 . metal EURO nut 10
MQ0127-040 Pre—— outer cover kit-4m /12 FA0026 - liner nut M10x1 10
MQ0127-050 Pre—— outer cover kit-5m /16.4’ 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 99




? traﬁmet MIG WELDING

trafimet.com

ERGOFRESH 500W C € Enoos7a-7

CODE «—> \ = [~ TECHNICAL DATA
MB2651-030 3m 10 : 1 A ERGOFRESH 500W
MB2651-040 4m 12 1 ATml_ 1.65kg ‘ 3.641b
MB2651-050 5m 16.4 EURO 1 V PEAK 113
00 10+24mm ‘ 040"+ 3/32"
X 100% 500A CO2 - 450A Mix
m Standard equipment in all torch packages g* 2= 4bar
a3 1,6 I/min
PISTOLGRIP AIRFLOWMETER
3m 4m 5m
=2 |, | 42myh 42m?h 42m?h
0[B2 | iegi| s42meh 54 md/h 56,8 m*/h
WD R |90, 90% 90% 90%
&R pIFF 2,8kPa 29 kPa 3,5kPa
MT0590

SPARE PARTS oLD
— VI Z4l MC0604-SP
[ SYVR  FB0904-SP
"™ FB0940  [Ma:LIKES )

Replace them all together
to update your old torch

100

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



- .
MIG WELDING < trafimet
v
[T 0 «—> REF |y
MC0604-SP — nozzle 16 mm 5/8" 76 mm 3 - 10
FB0904-SP hﬁ vacuum nozzle 40 mm 1"9/16 50 mm 1" 31/32 - 1
EA2070 {C} locking spring 36,5 mm 1"7/16 - - - 3
FB0901-SP gﬁ locking bush 36 mm 1713/32 30,5 mm 1"3/16 . 1
FB0945 ' vacuum tube 36,7 mm 1"7/16 93 mm 3"21/32 - 1
MD0005-80 M8 - CuCrzr 1,0 mm .040” 30 mm 1"-3/16 140.0316 | 20
MD0005-82 — M8 - CuCrzr 1,2 mm 045" 30 mm 1"-3/16 140.0445 | 20
MDO0005-84 M8 - CuCrzr 1,4 mm 052" 30 mm 1"-3/16 140.0536 | 20
MD0005-86 M8 - CuCrzr 1,6 mm 1/16" 30 mm 1"-3/16 140.0590 | 20
-
ME0076 ﬂ!&\\\‘ M8 - brass 25 mm 31/32" - 10
A
ME0083 ﬂ!l\“\ M8 - brass 29 mm 1".5/32 - 10
ME0390 R M8 - copper 25mm 31/32" - 10
MEO0074 ﬁ plastic 28 mm 1"-3/32 - 10
ME0079 ] plastic 29 mm 1-5/32 300029 | 10
ME0479 @ high-tech plastic 28 mm 1"-3/32 - 10
ME0579 =l ceramic 16 mm 5/8" 28 mm 1"-3/32 - 10
GM0886 Q—— uncoated steel liner 12+16mm 045" +1/16" 3m 10° - 1
GM0887 () —— uncoated steel liner 12+1,6mm 045" +1/16" 4m 12 - 1
GM0888 Q) —— uncoated steel liner 12+1,6mm 045"+ 1/16" 5m 16.4' - 1
CODE [ 5 [~ CODE [ 5 [~
el 0 insulator 10 LAOIEALEL # spare leather cover I‘<|t -Velero® |
3m/10
MG0292 /—" Ergofresh 500W torch head | 1 MQ0388-040 # spare 'ea‘hj ﬁ]"}"ifz'f" -Velero® |
) ) g spare leather cover kit - Velcro®
MT0563 ‘ trigger kit 1 MQ0388-050 # A 1
MT0568 ’ handle kit 1 MT0569 ' vacuum box kit 1
MTO0566 “ pistol grip 1 MT0572 w back box spring kit 1
MN2015-030 . '?/ cable assembly-3m/ 10’ 1 MT0571 “ back box kit Euro - water 1
MN2015-040 = ‘y cable assembly-4m /12 1 AR0052 = EURO connector - water 1
MN2015-050 | - ‘?/ cable assembly-5m/16.4 | 1 BW0020 . metal EURO nut 10
MQ0127-030 Pre—— outer cover kit-3m /10’ 1 FA0026 liner nut M10x1 10
MQ0127-040 ’ outer cover kit-4m /12’ 1
MQ0127-050 Pre—— outer cover kit-5m /16.4° 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

101




? trafimet MIG WELDING

trafimet.com

ERGOFRESH 555W C € Enoos7a7

CODE «—> \ = [~ TECHNICAL DATA
MB2652-030 3m w0 | 1 A ERGOFRESH 555W
MB2652-040 4m 12 1 A 1.65kg ‘ 3.641b
MB2652-050 5m 16.4 EURO 1 V PEAK 113
00 10+24mm ‘ 040"+ 3/32"
X 100% 550A CO2 - 500A Mix
m Standard equipment in all torch packages g* 2= 4bar
a3 1,6 I/min
PISTOLGRIP AIRFLOWMETER
3m 4m 5m
-2 |, | 42m¥n 42m?h 42m?h
0P 3 |oimes| 546m¥h | 548m¥h | 556mih
WD R |90, 90% 90% 90%
&R pIFF 32kPa 33kPa 3,5kPa
MT0566 MT0590
102

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



—— °
MIG WELDING < trafimet
v
[T 0 «—> REF |y
MCO0604-SP E nozzle 16 mm 5/8" 76 mm 3" - 10
FB0904-SP hﬁ vacuum nozzle 40 mm 1"9/16 50 mm 1"31/32 - 1
EA2070 {C} locking spring 36,5 mm 1"7/16 - - - 3
FB0901-SP gﬁ locking bush 36 mm 1713/32 30,5 mm 13/16 - 1
FB0945 ' vacuum tube 36,7 mm 1"7/16 93 mm 3"21/32 - 1
MDO0005-80 M8 - CuCrZr 1,0 mm .040” 30 mm 1"-3/16 140.0316 | 20
MD0005-82 — M8 - CuCrzr 1,2 mm 045" 30 mm 1"-3/16 140.0445 | 20
MD0005-84 M8 - CuCrzr 1,4mm 052" 30 mm 1"-3/16 140.0536 | 20
MD0005-86 M8 - CuCrzr 1,6 mm 1/16" 30 mm 1"-3/16 140.0590 | 20
Al
ME0400 E!l\“\ M8 - brass 25 mm 31/32 - 10
ME0402 e M8 - copper 25mm 31/32" - 10
MEO0074 ﬁ plastic 28 mm 1"-3/32 - 10
ME0079 ] plastic 29 mm 1-5/32 300029 | 10
ME0479 @ high-tech plastic 28 mm 1"-3/32 - 10
ME0579 = ceramic 16 mm 5/8" 28 mm 1"-3/32 - 10
GMO0886 () —— uncoated steel liner 1,2+1,6 mm 045" +1/16" 3m 10' - 1
GM0887 () —— uncoated steel liner 12+1,6mm 045" +1/16" 4m 12 - 1
GM0888 () — —— uncoated steel liner 1,2+1,6 mm 045" +1/16" 5m 16.4' - 1
CODE k Ny CODE [ L]
’ repairing kit for torch head 10 i # spare leather cover kit - Velcro®
MT0213-SP o pairing MQ0388-030 /10 1
Fe12re 0 inoulator " pRRs # spare leather cover kit - Velcro® |
4m/12
MG0294-SP /d“ Ergofresh 500W torch head 1 MQ0388-050 # spare leather cover kit - Velcro® |
5m/16.4
MT0563 ‘ trigger kit 1 MT0569 f vacuum box kit 1
MT0568 ’ handle kit 1 MT0572 w back box spring kit 1
MT0566 ~ pistol grip 1 MT0571 “ back box kit Euro - water 1
MN2015-030 P ? cable assembly-3m /10 1 AR0052 - - EURO connector - water 1
MN2015-040 P ? cable assembly-4m /12’ 1 BW0020 . metal EURO nut 10
MN2015-050 P ? cable assembly-5m/16.4° 1 FA0026 liner nut M10x1 10
MQ0127-030 == outer cover kit-3m /10’ 1
MQ0127-040 ’ outer cover kit-4m /12’ 1
MQ0127-050 Pre—— outer cover kit-5m / 16.4’ 1

STANDARD

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

103




./
= trafimet MIG WELDING Hatmerea

AUTOPLUS 36

CODE -« [ 5 [~} TECHNICAL DATA
MA0574 3m 10 45° 1 % AUTOPLUS 36
Aml 0.9 kg ‘ 1.981b
MA0577 3m 10 0° EURD 1 V PEAK 13
00 0,8+1,6mm ‘ 030" + 1/16”
X 60% 340A CO2 - 320A Mix

104 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING

= trafimet

CODE k o «—> REF |y
MCO0026 @ nozzle - 2,5 mm thickness 12 mm 1/2” 84 mm 3”-5/16 145.0126 | 10
MC0027 ﬁ nozzle - 2,5 mm thickness 16 mm 5/8” 84 mm 3”-5/16 145.0078 | 10
MC0028 m nozzle - 2,5 mm thickness 19 mm 3/4” 84 mm 3”-5/16 145.0045 10
MC0109 ﬁ nozzle - 2,5 mm thickness 17 mm 21/32” 84 mm 3”-5/16 - 10
MC0110 ﬁ nozzle - 2,5 mm thickness 20 mm 25/32” 90 mm 3”-17/32 145.0172 | 10
MCO0440 a nozzle - 2 mm thickness 16 mm 5/8” 84 mm 3”-5/16 10

R - quick release nozzle » »

MCO0527 = 2.5 mm thickness 16 mm 5/8 84 mm 3”-5/16 - 10

quick release light nozzle » ”

MCO0540 Q ~'5 mm thickness 16 mm 5/8 84 mm 3”-5/16 - 10
MDO0009-76 M6 - CuCrZr 0,6 mm .023” 28 mm 17-3/32 - 20
MDO0009-78 M6 - CuCrZr 0,8 mm .030” 28 mm 17-3/32 140.0054 | 20
MDO0009-80 T M6 - CuCrZr 1,0 mm .040” 28 mm 17-3/32 140.0245 | 20
MDO0009-82 M6 - CuCrZr 1,2 mm .045” 28 mm 17-3/32 140.0382 | 20
MDO0009-84 M6 - CuCrZr 1,4 mm .052” 28 mm 17-3/32 - 20
MDO0009-86 M6 - CuCrzr 1,6 mm 1/16” 28 mm 17-3/32 - 20
MD0063-00 o M6 - brass 28 mm 17-3/32 142.0005 | 20
MDO0064-00 @m M8 - brass 28 mm 17-3/32 142.0020 | 20
MD0131-00 G m M6 - brass 32mm 17-1/4 142.0011 | 20
MD0132-00 [Q:'W M8 - brass 32 mm 17-1/4 142.0024 | 20

MEOQ017 EIII plastic 32,8 mm 17-9/32 014.0261 10

MEQ041 !II’ plastic 32,8 mm 17-9/32 014.0021 10

MEO0417 - high-tech plastic 32,8 mm 17-9/32 - 10

MEOQ517 !III ceramic 32,8 mm 17-9/32 014.0023 | 10

GM0540 L yellow steel liner 1,2+1,6mm .045” = 1/16” 3m 10° 124.0041 | 1

CODE k CODE k ~
MF0077 f s Autoplus 36 torch head - 45° AR0070 c‘ﬁ“ﬁi EURO connector - air 1
MF0078 B s Autoplus 36 torch head - 0° BW0020 ' metal EURO nut 10
MP0125 _ handle FA0026 gﬁ liner nut M10x1 10
MH0120 | J& coaxial cable -3 m /10’ MTozze | G — Back box kit EURO 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

105




./
= trafimet MIG WELDING Hatmerea

AUTOPLUS 500 C € eneoores

CODE «—> [ = 7 TECHNICAL DATA
MB0560 1,5m 5 0° ’ 1 a AUTOPLUS 500
MBO0561 1,5m 5 50° 1 ATml_ 1,1 kg ‘ 2.43 b
MB0562 3m 10 50° EURO 1 V PEAK 113
MB0565 am 10 0° 1 00 1,0 +2,4 mm ‘ .040” + 3/32”
X 100% 500A CO2 - 450A Mix
a 2:4 bar
a3 1,6 I/min

82

=TT T—
los losz

106 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING

= trafimet

CODE k o «—> REF |y
[l

MC0268 q | nozzle - 2,5 mm thickness 16 mm 5/8” 76 mm 3” 145.0085 | 10

MC0276 g nozzle - 2 mm thickness 16 mm 5/8” 76 mm 37 145.0085 | 10

MC0290 g nozzle - 2,5 mm thickness 14 mm 9/16” 76 mm 3” 145.0132 10

MC0291 a nozzle - 2,5 mm thickness 20 mm 25/32” 76 mm 3” 145.0051 10

MC0292 ﬂ nozzle - 2,5 mm thickness 15 mm 19/32” 76 mm 3” - 10

MC0293 m nozzle - 2,5 mm thickness 20 mm 25/32” 82 mm 3-7/32” 145.0179 10

heavy duty nozzle » »

MCO0340 g -3 mm thickness 16 mm 5/8 76 mm 3 10

A - quick release nozzle N »

MC0568 22,5 mm thickness 16 mm 5/8 76 mm 3 - 10

 \K quick release light nozzle N »

MCO0576 ~5 mm thickness 16 mm 5/ 76 mm 3 - 10
MDO0005-80 M8 - CuCrZr 1,0 mm .040” 30 mm 17-3/16 140.0316 | 20
MDO0005-82 M8 - CuCrZr 1,2 mm .045” 30 mm 17-3/16 140.0445 | 20
MD0005-84 < 1o M8 - CuCrzr 1,4 mm 052" 30 mm 17-3/16 140.0536 | 20
MDO0005-86 M8 - CuCrZr 1,6 mm 1/16” 30 mm 17-3/16 140.0590 | 20
MDO0005-90 M8 - CuCrzr 2,0 mm 5/64” 30 mm 17-3/16 140.0656 | 20

<

ME0076 ﬂ!&“\ M8 - brass 25 mm 31/32" - 10

-

MEO081 ﬂ!&“\‘ M6 - brass 25 mm 31/32" - 10

=Nl

MEO0083 ﬂ!l\“\ M8 - brass 29 mm 17-5/32 . 10

ME0390 ‘?g“\“ M8 - copper 25 mm 31/32” - 10

MEO0074 IE‘I plastic 28 mm 17-3/32 - 10

MEOQ079 lmll plastic 29 mm 17-5/32 300029 10

MEO0479 ﬂ high-tech plastic 28 mm 17-3/32 - 10

ME0579 = ceramic 16 mm 5/8” 28 mm 17-3/32 - 10

GMO0530 ) —— uncoated steel liner 1,2+1,6mm .045” = 1/16” 3m 10 1

CODE b (~'] CODE k [~

FB1278 O insulator 10 MN1015 ﬁ‘ ,-f cable assembly -3 m/ 10’ 1

MGO0061 _// = | Autoplus 500 torch head - 50° | 1 AR0052 &i‘: EURO connector 1

MG0062 —— = Autoplus 500 torch head - 0° 1 BW0020 ' metal EURO nut 10

weotzs | (D handle 1 FA0026 = liner nut M10x1 10

- - . > - .

MN1005 4 cable assembly - 1,5m /5’ 1 MTO0101 — [ ] Back box kit 1
CODE >
. Wire conduit 8b| QBO0072 3m/10’
Cover ’
[8¢| Gas hose 8c| QBO008O 3m/10
Wat W | 8d QB0076 3m/10’
ater ater outlet ;
inlet hose power cable @ 8e QA0019 3m/10
8f MQO0205 3m/10’

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

107




L]
= trafimet MIG WELDING Hatmerea

EURO
CONNECTORS

MACHINE SIDE
EURO AXIAL EURO RADIAL
. 534 mm i 57 mm . 53,4mm { 57 mm
CODE [ ~ CODE [ =
AT0001 Euro axial 1 AT0002 Euro radial 1
AMO0053 = = brass guide 27 mm M12x1 5 AMO0053 = = brass guide 27 mm M12x1 5
AM3001 = E capillary tube 88 mm 10 AM3001 = E capillary tube 88 mm 10
AM6000 e axial Euro body (f) 1 AM6001 " .E'““‘ radial Euro body (f) 1
BWO0010 . Euro housing 10 BWO0010 . Euro housing 10
EA0072 {’ nut M12 50 EA0072 {’ nut M12 50
MINI EURO CODE [ ~
AM0034 = = brass guide 46 mm M12x1 5
AMO0035 = = brass guide 15 mm M12x1 5
AMO0038 = = brass guide 39 mm M12x1 5
AMO0065 = = brass guide 35,5 mm M12x1 5
coDE i ﬁ’ AM3013 — » capillary tube 101 mm 10
AT0004 \* Mini Euro 1 AM3014 = E capillary tube 200 mm 10
AM3109 - . capillary tube 60 mm 10 AM3018 - * capillary tube 131 mm 10
BW0230 o Mini Euro housing 10 AM3065 = E capillary tube 124 mm 10
EAQ072 {’ nut M12 50 AM9001 E'g- current clamp 1
AMB103 BF::* Mini Euro body (7) 1 BW0014 . Euro housing 2 holes 10
BW0264 u Mini Euro housing 10
EA0073 {’ nut M12x1 50
EA0094 U Washer 2 mm 10

108 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

EURO
CONNECTORS
TORCH SIDE

EURO CONNECTOR EURO CONNECTOR

36 mm 36 mm

CODE [ 7 CODE [ ] =5
AR0052 ’ EURO connector 1 AR0054 . EURO connector 1
BXO702 | e spring pin BXO700 | e spring pin 10
FA0026 Ei liner nut M10x1 10 FA0026 Ei liner nut M10x1 10

EURO CONNECTOR - SHORT EURO-TW CONNECTOR
31 mm 36 mm

CODE k (] CODE [ 5 [~
1 1

EURO connector - air AR0083 " - EURO-TW connector

AR0070

liner nut M10x1 10 FAQ027 E: liner nut M11x1 10

FA0026

] &

Euro nut plastic 10

CODE

BWO0018

BWO0020 metal EURO nut 10

EA0018 screw M4X6

EA0128 O-ring @ 4x1 mm 10

g~
BX0700 — e — spring pin 10 BX0700 — e — spring pin 10

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 109



./
= trafimet MIG WELDING Hatmerea

KITS FOR 5/8-18
UNF CONNECTOR

Complete connection kits for
machines with American-type
connections.

Kits to be assembled on torches
with 5/8-18 UNF

connectors.
“L” LINCOLN® COMPLETE CONNECTION KIT “L4" LINCOLN® COMPLETE CONNECTION KIT
CODE [ CODE [ T
ARO172 @D “L" Lincoln® complete connection Kit AR0176 O “L4” Lincoln® complete connection Kit
oF e = - —
Suitable for Lincoln® Wire Feeders and machines SP150, SP200, LN7, LN8, Suitable for Lincoln® SP140T and SP180T
LN25, LN742, Synergic 7, LN10, DH10 and for LF-72 and LF-74 Wire Feeders
“L1” LINCOLN® COMPLETE CONNECTION KIT TWECO® 1-4 COMPLETE CONNECTION KIT
CODE [ T CODE [ 5
AR0179 V/O:: “L1” Lincoln® complete connection Kit AR0170 — Tweco® 1-4 complete connection Kit
= i
Suitable for Lincoln SP140C and SP180C
“L2" LINCOLN® COMPLETE CONNECTION KIT TWECO® 5 COMPLETE CONNECTION KIT
CODE [ CODE [T
ARO0177 O “L2" Lincoln® complete connection Kit ARO171 l ? = Tweco® 5 complete connection Kit
B b
Suitable for Lincoln® Powermig and Wirematic systems Only for Tweco® 5
“L3” LINCOLN® COMPLETE CONNECTION KIT “M” MILLER® COMPLETE CONNECTION KIT
CODE [ O CODE [ T
AR0178 D “L3" Lincoln® complete connection Kit AR0173 0 “M"” Miller® complete connection Kit
- = -i=mbble
Suitable for Lincoln® Wir Power Feed® M10M, LN-10, Suitable for most Miller® Wire Feeders and compact welding machines
DH10, STT-10, LN-15, Por > Pro, Power Feed® 25M
3 g 5
AS0047 M12x1 AS0048 M12x1 MT0074 M12x1

=) [l =——H

CODE [ 5 [~ CODE [ 5 (] CODE k [~
AR0130 Tweco® 1/4 connector (m) 1 AR0134 Lincoln® connector (m) 1 1

AR0135 Miller® connector (m)

110 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

ADAPTORS

CODE - [~ CODE -

AS0007 T;”_eg‘_’f - Euro 1 AS0023 E@ Euo —» Cem 1

AS0015 W:ED Euro —» Cea® 1 AS0024 |.||._' Euro —» Esab® 1

a

AS0018 Euro  —» Sinco® 1 AS0062 l]:&m'”@’ Euo = Miller® | 1

AS0019 H‘|.||'|E" Euro  — T;V-eg?? !

MIG SPECIAL
TORCH HEADS
ERGOPLUS 500

CODE L total ® Vo L total
MG0282-10 237 mm 100 mm 137 mm
85 mm | 52 mm @
MG0282-16 297 mm 160 mm
MG0282-30 437 mm 300 mm ERGOPLUS 500
50°
MG0282-50 637 mm 500 mm
MG0282-70 837 mm 700 mm |
32 mm
Standard torch head dimensions
ref. MG0286

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 111



./
= trafimet MIG WELDING Hatmerea

MIG LINERS

Coated steel liners

CODE «—> Q0 COLOR | @ NT |@ NOyer | @ ExT [ - Famn REF |Gy
GM0218 B sm | 10 |06+1,0mm .023+.040" | [ 14mm| 4mm | 46mm| MS0047-Euo | JTOPSTO0 1
GMO0011 ED sm | 164 |06+09mm 023 +.035 | [ 14mm| 4mm | 46mm | MSO00S - Euro/ 42-3035-15 | 1
GM0012 ED sm | 164 | 10+1,2mm | 040"+ 045" | [ |20mm | 2mm | 46mm MSQ00S “ Euro /| TMAX 300 HD | 42-4045-15 | 1

TMAX 400
. TMAX 500
GM0013 ED sm | 164 |12:1,6mm | 045" 116" | [N | 22 mm | 46 mm | 52 mm MSQUO8 “Euro /| mAXI 150 | 44-116-15 | 1
MAXI 250
<= MAXI 350
GM0221 % 46m| 15 |16+20mm|1/16°+564"| [ | |24mm | 46mm |52 mm | MSCQ06-Euo/ A 450 1
- , . " . 045" MS0006 - Euro /
GM0226 ED 46m| 15 | 09+12mm|.035 +.045 | [N | 1.9mm | 46mm |52 mm | MSQ006-E 1
GM0500 ED am | 100 |06+09mm | 023" +.035" | [l |14mm| 4mm | 46mm | Ms0007 - Euro 124.0011 | 1
GMO0501 a 4m 12’ 0,6 + 0,9 mm | .023” + .035” - 1,4mm| 4mm | 4,6 mm | MS0007 - Euro 124.0012 1
GM0502 ED sm | 164 | 06+09mm | 023" +.035" | [ |14mm| 4mm | 46mm | Ms0007 - Euro 124.0015 | 1
GM0510 ED am | 100 [ 1,0:12mm| 040" +.045" | [l | 2mm | 4mm | 46mm | Ms0007 - Euro 124.0026 | 1
GMO511 B am | 12 |10:12mm | 040+ 045 | [ | 2mm | 4mm | 46mm | MSO007-Euro | piacooo | 1240081 | 1
= TMAX 4001
GMO512 ED sm | 164 | 1,0:1.2mm | 040"+ 045" | [l | 2mm | 4mm | 46mm | Ms0007 - Euro ka8 | 124.0035 | 1
—— MAXI 6000
GM0540 % am | 100 [12:1,6mm 045" +1/16"| [ | |24mm| 42mm |47 mm| MS0007-Euro |  prUS 14 124.0041 | 1
== PLUS 24
GMO541 % am | 12 |12:16mm| 04521167 [ | |24mm| 42mm |47 mm| MS0007-Euro |  BUS 22 124.0042 | 1
== PLUS 36
GM0542 % 5m | 164" | 1,2:1,6mm | 045" 116" | || |24mm | 42mm | 47mm | MS0007-Euro | PRUSE00 | 4040044 |
GMO0006 b 4m 128 11,2 +1,6mm | .045” +1/16” - 22mm | 46mm | 52mm | MS0008 - Euro 1
GMO574 % am | 100 | 16:24mm 116" :332" | [ | 3mm | 45mm | 52mm | Ms0046 - Euro 1
GMO0575 % 4m 127 11,6 +2,4mm | 1/16” + 3/32” - 3mm | 45mm | 52mm | MS0046 - Euro 1
GM0576 % sm | 164 | 1,6:24mm | 116":332" | [ | 30w | 45mm | 52mm | Ms0046 - Euro 1
GMO0519 B 8m 26’ 1,0 + 1,2 mm | .040” + .045” - 2 mm 4 mm 4,6 mm | MS0007 - Euro PUSH PULL 36 1
= PUSH PULL
GM0543 ED gm | 26' |1,2:1,6mm | 045"+ 116" | | | |24mm | 42mm | 47mm | MS0007 - Euro 400 1

112 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

MIG LINERS

Uncoated steel liners

CODE <« 00— COLOR | @ WNT |@ Ny | @ EXT = Yomm REF |y
GMO0522 E 3m 10’ | 0,6 + 0,9 mm | .023” + .035” - 1,4 mm 4 mm MS0007 - Euro 1
GMO0523 E 4m 12’ | 0,6 + 0,9 mm | .023” +.035” - 1,4 mm 4 mm MS0007 - Euro 1
GMO0524 E 5m | 16.4° | 0,6 + 0,9 mm | .023” + .035” - 1,4 mm 4 mm MS0007 - Euro 1
GM0526 5 3m 10° | 1,0 +1,2mm | .040” + .045” - 2 mm 4,5mm | MS0007 - Euro 1
GMO0527 E 4m 12’ 1,0 + 1,2 mm | .040” =+ .045” - 2 mm 4,5 mm | MS0007 - Euro 1

e PLUS 240
s . " . » PLUS 400
GMO0528 E 5m | 16.4° | 1,0+ 1,2 mm | .040” + .045 - 2 mm 4,5 mm | MS0007 - Euro PLUS 500 1
= PLUS 555
s . " . » PLUS 505
GMO0530 E 3m 10 1,2+ 1,6 mm | .045” + 1/16 - 2,5 mm 4,5mm | MS0007 - Euro PLUS 600 1
— PLUS 601
GMO0531 E 4m 12’ | 1,2+1,6 mm | .045” =+ 1/16” - 2,5 mm 4,5mm | MS0007 - Euro 1
GMO0532 E 5m | 16.4° | 1,2+1,6 mm |.045” + 1/16” - 2,5 mm 4,5 mm | MS0007 - Euro 1
GMO0534 % 3m 10 | 1,6 +2,4mm | 1/16” + 3/32” - 3 mm 4,5 mm | MS0045 - Euro 1
GMO0535 % 4m 12> 11,6 +2,4mm | 1/16” + 3/32” - 3 mm 4,5mm | MS0045 - Euro 1
GMO0536 % 5m | 16.4’ | 1,6 +2,4mm | 1/16” + 3/32” - 3 mm 4,5 mm | MS0045 - Euro 1
Uncoated steel liners

CODE [ 5 «—> 00— COLOR @ T Q@ ext [~ - ]
GMO0850 inner Teflon® liner 3m 10° 1,0 +1,2mm .040” + .045” - 2 mm 4,2 mm MS0005 - Euro / Tweco® 1
GMO0851 inner Teflon® liner 4m 12’ 1,0 +1,2 mm .040” + .045” - 2 mm 4,2 mm MS0005 - Euro / Tweco® 1
GMO0852 inner Teflon® liner 5m 16.4° 1,0 +1,2 mm .040” +.045” - 2 mm 4,2 mm MS0005 - Euro / Tweco® 1
GM0860 inner Teflon® liner 3m 10’ 1,2+1,6mm .045” =+ 1/16” - 2,5 mm 5,2 mm MS0007 - Euro 1
GMO0861 inner Teflon® liner 4m 12’ 1,2+ 1,6 mm .045” = 1/16” - 2,5 mm 5,2 mm MS0007 - Euro 1
GMO0862 inner Teflon® liner 5m 16.4° 1,2 +1,6 mm .045” +1/16” - 2,5 mm 5,2 mm MS0007 - Euro 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 113



./
= trafimet MIG WELDING Hatmerea

MIG LINERS

Teflon®liners

CODE k «—> 00— COLOR | @ INT |@ ExT |QRiNG | [ T Vamm
i ; . o . » MS0057 - Euro | MS0001 - Euro
GM0230 | red Teflon® liner (4,6 m| 15 | 1,0+ 1,2mm | 040"+ .045" | I | 2mm | 4 mm | EAO120 | MS00S7 . Tw 10| TMAX 300 HD |+
TMAX 500
black Teflon® + 2% s . . " MS0057 - Euro | MS0001 - Euro
GM0624 N e e 2% lagm| 15 | 10+ 12mm | 040"+ .045" | [ 2mm | 4mm | EAO120 | MSX ol oW MAXI 150 | 1
i : . b 1HE" MS0058 - Euro | MS0002 - Euro | MAXI 350
GM0231 | yellow Teflon® liner (4,6 m| 15' | 1,2+ 1,6 mm | 045" = 1/16” ||| 3mm |45 mm| EAo120 | MS0058 - Eu o MAXI 450 | 1
GM0600 | blue Teflon® liner | 3m | 10' | 0,6+09mm | 023"+ 035" ||| 1.5mm| 4 mm | EAG210 MS0003 - Euro 1
GM0601 | blue Teflon® finer | 4m | 12 | 0,6+ 0,9mm | 023"+ 035" | [ 1.5 mm| 4mm | EAG210 MS0003 - Euro 1
GM0602 | blue Teflon® liner | 5m [16.4'| 0,6 + 0,9 mm | 023" = .035" | [ 1.5 mm| 4mm | EAG210 MS0003 - Euro 1
GM0610 | red Teflon@liner | 3m | 10 | 1,0+ 1,2mm | 040"+ 045" | [ 2mm | 4mm | EAG210 MS0003 - Euro| MAXI 4000 | 1
MAXI 6000 |
. PLUS 14
GMO0611 | red Teflon®liner | 4m | 12’ | 1,0+ 1,2 mm | .040" + .045" - 2mm | 4mm | EA0210 MS0003 - Euro | pLUS 15 1
PLUS24 ||
GM0612 | red Teflon®liner | 5m |16.4'| 1,0+ 1,2 mm | .040" + 045" | [ | 2mm | 4mm | EAG210 MS0003 - Euro| BEUS25 |
black Teflon® + 2% S o
ack Teflon® + 2% . 5. ous” ) PLUS 240
GM0625 K Toflon®+2% | 3m | 10 [1,0+1,2mm | 040"+ 045" | [ 2o | 4mm | ERO210 MS0003 - Euro|  PLUS 240 | 4
PLUS500 ||
black Teflon® + 2% , . » »
GM0626 carbon liner am| 12 [10+12mm | 040" 045" | [l 2o | 4mm | ERO210 MS0003 - Euro Etgg 2|
PLUS600 | |
black Teflon® + 2% , . . »
GM0627 K Toflon®+2% | 5m |16.4'( 1,0+ 1,2mm | 040"+ 045" | [ 2o | 4mm | ERO210 MS0003 - Euro| PLUS 601 | 1
GMO760 | yellow Teflon® liner | 3m | 10 | 1,2+ 1,6mm | 045"+ /16" ||| 3mm |4,5mm | EAG210 MS0004 - Euro 1
GMO761 | yellow Teflon® liner | 4m | 12' | 1,2+ 1,6mm | 045"+ /16" ||| 3mm |4,5mm | EAG210 MS0004 - Euro 1
GM0762 | yellow Teflon@® liner | 5m [16.4'| 12+ 1,6mm | 045" = 1/16" || || 3mm |4,5 mm| EAG210 MS0004 - Euro 1
GM0614 | red Teflon@liner | 8m | 26' | 1,0+ 1,2mm | 040" + 045" | [ 2mm | 4mm | EAG210 MS0003 - Euro 1
black Nylon® + 12% P e
ack Nylon® + 12% , . . " R 36
GMoges | P NONG 12% g m | 260 | 1,0+ 1,2mm | 040+ 045" || 20m | 4mm | ERC210 MS0003 - Euro | 5,38, | 1
a0
GM0764 | yellow Teflon@® liner | 8m | 26' |12+ 1,6mm | 045"+ 1/16" || || 3mm |4,5mm| EAG210 MS0004 - Euro 1
CODE [ 7 ~
— . capillary tube for Teflon® liner
AM3106 @4,3x5 L=250 mm 10
— . capillary tube for Teflon® liner
AMST10 ©4,3x5 L=140 mm 10
RN copper terminal for @ 4,5 mm liner
GM0241 o 1
— copper terminal for @ 4,1 mm liner
GM0310 o 1

114 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING trafimet

MIG LINERS

Liners with copper terminal

GMO0310 @ 4,1x330 mm
GM0241 J 4,5x330 mm

TEPE it

RNy oy oo

CODE [ 5 «—> 00— COLOR | @ INT | @ ExT |QRING | [ " . W Vol —
GM0705 | red Teflon@®liner  |4.6m| 15 | 1,0+ 1,2mm | 040" = .045" | [l 2mm | 4mm | EAO120 MW argiral MS0001, - Euro 1
GMo7op | PlackTeflon® +2% 1y 6/ 15 |10+ 1,2mm | 040"+ 045" || 2mm | 4mm | EAO120 MS00s7 g-irI1E:IrO MS0001 - Euro a0 1
GMO707 b'acér';'g"rﬁ{‘gi;elz% 46m| 15 | 1,0 1,2mm | 040" + 045" | 2m | 4 mm | ERO120 M?Svogﬁéi%m MS0001 - Euro | TMAX 400 | 1

MAXI 150 | ——
GM0237 | yellow Teflon® liner |46 m| 15 |12+ 1,6mm | 045"+ 1/16" || || 3mm |4,5mm| EA0120 M8 i MS0002 Euro| - MAXI 250 |
GMo7ag | PlackTeflon® + 2% 1y 6l 150 |12+ 1.6 mm | 045" = 1716 | [ 2.3 mm| 4.7 mm| EAO120 M%f,’vogﬁéir'f:lm MS0002 - Euro MAXI 450 1
GMO0739 b'acérgg:ﬁ{‘gi;elz% a6m| 15 |12 1.6mm | 045" = 116" | 2.3 mm| 4.7 mm | ER0120 MS0058 éifaulro MS0002 - Euro 1
GM0710 | blue Teflon® liner | 3m | 10 | 0,6+ 0,9 mm | 023" = 035" | [l 1.5 mm| 4mm | EAG210 MS0003 - Euro 1
GMO711 | blue Teflon®liner | 4m | 12’ | 0,6+ 0,9mm | 023" + 035" | [ 1.5 mm| 4 mm | EAC210 MS0003 - Euro 1
GMO712 | blue Teflon® liner | 5m |16.4'| 0,6 + 0,9 mm | .023" = 035" | [ 1.5 mm| 4 mm | ERG210 MS0003 - Euro i
GMO0715 red Teflon® liner 3m | 10" | 1,0+ 1,2 mm | .040” + .045” - 2mm | 4mm | EA0210 MS0003 - Euro T
GMo716 | red Teflon@liner | am | 12 |10+ 1,2mm | 040"+ 045" | [l 2mm | 4mm | EAG210 MS0003 - Euro T
GMO717 | red Teflon@liner | 5m [16.4'| 1,0+ 1,2mm | 040" = .045" | [l 2mm | 4mm | EAG210 MS0003 - Euro T
GMO0720 b'acgrebf(',ﬂ”lﬁe’f% 3m | 10' | 1,0+ 1,2 mm | .040” + .045" - 2mm | 4mm | EA0210 MS0003 - Euro 1
GMo721 | PlackTeflon®+2% | 4 oy | 42 |10+1,2mm | 040"+ 045" || 2mm | 4mm | EAG210 MS0003 - Euro | TMAX3001 | 1
GMo72 | PlackTeflon® + 2% | 5 146411 1.0+ 1,2mm | 040"+ 045" ||| 2mm | 4 mm | ERG210 MS0003 - Euro gg%ﬁ;& 1
GMO725 b'acér';‘gﬁ{‘gi;elz% am| 10 [1,0+1,2mm | 040"+ 045" | [l 2o | 4mm | ERO210 MS0003 - Euro Mﬁz)fd'éf aogo T
GM0726 b'a"ér’;‘g’:ﬁ{‘ﬁ;elz% am| 12 [10:12mm| 040"+ 045" [l 2mm | 4mm | EAG210 MS0003 - Euro| BLUS 2% | 4

PLUS26 [—
GMO0727 b'acgr';'g'rﬁ{‘ﬁi;elz% 5m |16.4°| 1,0 + 1,2 mm | .040” + .045” - 2mm | 4mm | EA0210 MS0003 - Euro F?LleJsszsfo 1
GMo73o | PlackTeflon® +2% | 5 ) | 4 | 1216 mm | 045" = 116" | | 2.3 mm| 4.7 mm| EAG210 MS0004 - Euro EEﬁg ggé 1
GMO731 b'acgaIEE%”|%;2% 4m |12 [1,2+1,6mm |.045" + 1/16” - 2,3 mm | 4,7 mm | EA0210 MS0004 - Euro EEE §§§ 1
GMorap | PlackTeflon® + 2% | gy 46411 15+ 1,6mm | 045"+ 116" | [ 2.3 mm| 47 mm | ERG210 MS0004 - Euro 1
aMoras | PG INONE 2% g m | 10 |12+ 1,6mm | 045" = 1/16” | [ 2.3 mm |47 mm | ERG210 MS0004 - Euro T
GM0737 b'a"ér’;‘g’:ﬁ{‘gi;elz% 4m| 12’ [1,2+1,6mm | .045" + 1/16” - 2,3 mm | 4,7 mm | EA0210 MS0004 - Euro 1
GMO0740 b'a"é‘r’;‘g'ﬁ{‘ﬁi;elz% 5m |16.47| 1,2 + 1,6 mm | .045” = 1/16” - 2,3 mm| 4,7 mm | EA0210 MS0004 - Euro 1
GMO0780 | yellow Teflon® liner | 3m | 10’ | 1,2 + 1,6 mm | .045” + 1/16” |:| 3mm |4,5mm | EA0210 MS0004 - Euro 1
GMo781 | yellow Teflon® liner | 4m | 12' | 1,2+ 1,6mm | 045"+ /16" ||| 3mm |4,5mm | EAG210 MS0004 - Euro 1
GM0782 | yellow Teflon® liner | 5m |16.4°| 1,2 + 1,6 mm | .045” = 1/16” |:| 3mm |4,5mm | EA0210 MS0004 - Euro 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 115



= trafimet

MIG LINER ROLLS

MIG WELDING

trafimet.com

CODE [ 5 «—> 00— @ Wt @ext | ORING COLOR =~
GMO0330 coated steel liner 50m 164’ 0,6 + 0,9 mm .023” + .035” 1,4 mm 4 mm 4,6 mm - 50
GMO0332 coated steel liner 50m 164’ 1,0 +1,2mm .040” = .045” 2 mm 4 mm 4,6 mm - 50
GMO0331 coated steel liner 50 m 164’ 1,2+1,6 mm .045” + 1/16” 2,4 mm 4,2 mm 4,7 mm |:| 50
GMO0333 uncoated steel liner 50m 164’ 1,0+1,2mm .040” + .045” 2 mm cg\(,)ER 4,5 mm - 50
GMO0334 uncoated steel liner 50 m 164’ 12+16mm | 045":+1/16" | 25mm | cover | 45mm e 50
GMO0336 Teflon® liner 100 m 328’ 0,6 + 0,9 mm .023” +.035” 1,5 mm 4 mm EA0210 - 100
GMO0335 Teflon® liner 100 m 328’ 1,0+ 1,2 mm .040” + .045” 2 mm 4 mm EA0210 - 100
GMO0337 Teflon® liner 100 m 328’ 1,2 +1,6 mm 045" = 1/16” 3 mm 45mm | EA0210 E 100
GMO0095 Carbon liner 100 m 328’ 1,0+ 1,2 mm .040” + .045” 2 mm 4 mm EA0210 - 100
GMO0096 Graphite liner 200 m 656 1,0 +1,2mm .045” = 1/16” 2mm 4 mm EA0210 - 200

HOSES

L
CODE [ O T | @ exT |Gy CODE [ O | @ exT |y
asoots | GG Black reitioreed | smm | 8mm | 100 MQO110 _ f’u'ﬁﬁ(k?nr")ﬁzié 18mm | 21 mm | 40
asoots | (N ¢ @ (07°4 MO%e| 5 mm | 8 mm | 100 MQO111 — szggr;r?;se; 25mm | 27 mm | 40
asoote | (A Fed mi”m’e" hose| 5 mm | 8 mm | 100 MQo112 _ ﬂgg%;jr?gse; 28mm | 30mm | 40
QB0024 Transparent 8mm |13 mm | 100 MQ0113 _ Fioberose | 20mm | 23mm | 40

reinforced hose (m) (m)

QBoozs | (i — "t blue eiastofles | 4mm | 6mm |100 MQO114 _ ﬂﬁg%nrc)ﬁgi 40mm | 43mm | 40
QB0028 infransparent () |10 mm | 15 mm | 100
QB0034 reinIB?Q:gar:gQ;(m) 6mm |12 mm | 100
QB0035 einfransparent () | 5mm |11 mm| 100
QB0037 — Black liner hose (m) | 6 mm | 8 mm | 100

116

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

CONNECTORS =T

CODE k =~ CODE [ 5 [~
AU0040 [ Win- 16 mm2 /9 mm M M8x1 10 AUO121 [ e Vb M10x1 16 — 35 mm? 10
AU0051 o= 16 mm? /9 mm F M10x1 10 AU0131 el M10x1 50 mm? 10
CT0540 f_‘. @ 15X16 L=10 mm 10 CT0544 E @ 18X20 L=36 mm 10

CT0545 E O 22x24 L=36 mm 10

HOSE-SM
1-EAR
HOSE CLAMPS

CODE [ 0 =~y CODE [ 7 (1} [~
F11680 HOSE-SM stainless steel 1-ear hose clamp 7 mm 100 F11693 HOSE-SM stainless steel 1-ear hose clamp 12,8 mm 100
F11681 HOSE-SM stainless steel 1-ear hose clamp 7,5 mm 100 F11694 HOSE-SM stainless steel 1-ear hose clamp 13,3 mm 100
F11682 HOSE-SM stainless steel 1-ear hose clamp 8 mm 100 F11695 HOSE-SM stainless steel 1-ear hose clamp 13,8 mm 100
F11683 HOSE-SM stainless steel 1-ear hose clamp 8,7 mm 100 F11696 HOSE-SM stainless steel 1-ear hose clamp 14 mm 100
F11685 HOSE-SM stainless steel 1-ear hose clamp 9,5 mm 100 F11697 HOSE-SM stainless steel 1-ear hose clamp 14,5 mm 100
F11687 HOSE-SM stainless steel 1-ear hose clamp 10 mm 100 F11698 HOSE-SM stainless steel 1-ear hose clamp 15,5 mm 100
F11688 HOSE-SM stainless steel 1-ear hose clamp 10,5 mm 100 F11699 HOSE-SM stainless steel 1-ear hose clamp 16,5 mm 100
F11689 HOSE-SM stainless steel 1-ear hose clamp 11 mm 100 F11700 HOSE-SM stainless steel 1-ear hose clamp 17,5 mm 100
F11690 HOSE-SM stainless steel 1-ear hose clamp 11,3 mm 100 F11701 HOSE-SM stainless steel 1-ear hose clamp 15,0 mm 100
F11691 HOSE-SM stainless steel 1-ear hose clamp 12 mm 100 F11702 HOSE-SM stainless steel 1-ear hose clamp 16,0 mm 100
F11692 HOSE-SM stainless steel 1-ear hose clamp 12,3 mm 100

HOSE-AP
2-EAR
HOSE CLAMPS

CODE [ 0 Ny CODE [ 7 (1)} =
F11674 HOSE-AP zinc coated 2-ear hose clamp 7-9mm 100 F11670 HOSE-AP zinc coated 2-ear hose clamp 14-17 mm | 100
F11675 HOSE-AP zinc coated 2-ear hose clamp 9-11mm |100 F11678 HOSE-AP zinc coated 2-ear hose clamp 15-18 mm | 100
F11676 HOSE-AP zinc coated 2-ear hose clamp 11-13mm | 100 F11671 HOSE-AP zinc coated 2-ear hose clamp 20-23 mm | 100
F11677 HOSE-AP zinc coated 2-ear hose clamp 13-15mm | 100 F11672 HOSE-AP zinc coated 2-ear hose clamp 22-25mm | 100

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 117



./
= trafimet MIG WELDING Hatmerea

MIG
CONTACT TIPS

CODE [ 5 7] «—> Voamn REF |y
MD0001-06 M5 - Cu M5 0,6 mm .023” 18 mm 23/32 - 20
MDO0001-08 M5 - Cu M5 0,8 mm .030” 18 mm 23/32 - 20

e TOPS 100V
MDO0001-09 M5 - Cu M5 0,9 mm .035” 18 mm 23/32 - 20
MDO0001-10 M5 - Cu M5 1,0 mm .040” 18 mm 23/32 - 20
MD0003-08 1/4-28 UNF - Cu 1/4-28 UNF| 0,8 mm .030” 38 mm 17-1/2 14-30 | 20
MD0003-09 1/4-28 UNF - Cu 1/4-28 UNF| 0,9 mm .035” 38 mm 17-1/2 MAXI 250 14-35 | 20

—m MEGA 2

MD0003-10 1/4-28 UNF - Cu 1/4-28 UNF| 1,0 mm .040” 38 mm 17-1/2 To 14-40 | 20
MD0003-12 1/4-28 UNF - Cu 1/4-28 UNF| 1,2mm .045” 38 mm 17-1/2 14-45 | 20
MD1003-08 1/4-28 UNF - Triangular Cu | 1/4-28 UNF | 0,8 mm .030” 38 mm 17-1/2 MAXI 250 - 20
MD1003-10 — ] 1/4-28 UNF - Triangular Cu | 1/4-28 UNF | 1,0 mm .040” 38 mm 17-1/2 MEGA 2 - 20
MD1003-12 1/4-28 UNF - Triangular Cu | 1/4-28 UNF| 1,2 mm .045” 38 mm 17-1/2 T2 - 20
MD0004-08 1/4-28 UNF - Cu 1/4-28 UNF| 0,8 mm .030” 374mm | 1715/32 14H30 | 20
MD0004-09 1/4-28 UNF - Cu 1/4-28 UNF| 0,9 mm .035” 374mm | 1715/32 14H35 | 20
MD0004-10 1/4-28 UNF - Cu 1/4-28 UNF| 1,0 mm .040” 374mm | 1715/32 “('AAEXéﬁi" 14H40 | 20
MD0004-12 1/4-28 UNF - Cu 1/4-28 UNF| 12mm .045” 374mm | 1715/32 T-MFEA 4 14H45 | 20
MD0004-14 1/4-28 UNF - Cu 1/4-28 UNF| 1,4 mm .052” 374mm | 1715/32 14H52 | 20
MD0004-16 1/4-28 UNF - Cu 1/4-28 UNF| 1,6 mm 1/16” 374mm | 1715/32 14H116 | 20
MD1004-08 1/4-28 UNF - Triangular Cu | 1/4-28 UNF| 0,8 mm .030” 374mm | 1715/32 - 20
MD1004-10 1/4-28 UNF - Triangular Cu | 1/4-28 UNF| 1,0 mm .040” 374mm | 1715/32 '\,’\'AAEX(';ﬂO - 20
MD1004-12 1/4-28 UNF - Triangular Cu | 1/4-28 UNF | 1,2 mm .045” 37,4mm | 1715/32 T-MEEA 4 - 20
MD1004-16 1/4-28 UNF - Triangular Cu | 1/4-28 UNF 1,6 mm 1/16” 37,4 mm 17 15/32 - 20
MD0005-08 M8 - Cu M8 0,8 mm .030” 30 mm 17-3/16 140.0114 | 20
MD0005-09 M8 - Cu M8 0,9 mm .035” 30 mm 17-3/16 - 20
MD0005-10 M8 - Cu M8 1,0 mm .040” 30 mm 17-3/16 Etﬂg 288 140.0313 | 20
MD0005-12 M8 - Cu M8 1,2 mm .045” 30 mm 17-3/16 PLUS 555 | 140.0442 | 20

& _m PLUS 600
MD0005-14 M8 - Cu M8 1,4 mm .052” 30 mm 17-3/16 PLUS 601 - 20
MD0005-16 M8 - Cu M8 1,6 mm 1/16 30 mm 17-3/16 M/f\x)? f05000 140.0587 | 20
MD0005-20 M8 - Cu M8 2,0 mm 5/64” 30 mm 17-3/16 140.0653 | 20
MD0005-24 M8 - Cu M8 2,4 mm 3/32” 30 mm 17-3/16 140.0677 | 20
MD0005-38 M8 - Cu-Ni M8 0,8 mm .030” 30 mm 17-3/16 PLUS 400 - 20
MD0005-40 M8 - Cu-Ni M8 1,0 mm .040” 30 mm 17-3/16 Etgg ggg - 20
MD0005-42 o M8 - Cu-Ni M8 1,2 mm .045” 30 mm 17-3/16 PLUS 600 - 20
MDO0005-44 M8 - Cu-Ni M8 1,4 mm .052” 30 mm 17-3/16 ,F\’ALAJX? fg& - 20
MDO0005-46 M8 - Cu-Ni M8 1,6 mm 1/16” 30 mm 17-3/16 MAXI 4000 - 20
MD0005-58 M8 - Cu for aluminium M8 0,8 mm .030” 30 mm 17-3/16 141.0003 | 20
MD0005-60 M8 - Cu for aluminium M8 1,0 mm .040” 30 mm 17-3/16 Etﬂg 288 141.0008 | 20
MD0005-62 M8 - Cu for aluminium M8 1,2 mm .045” 30 mm 17-3/16 PLUS 555 | 141.0015 | 20

= | — PLUS 600
MDO0005-66 M8 - Cu for aluminium M8 1,6 mm 1/16” 30 mm 17-3/16 PLUS 601 141.0022 | 20
MD0005-70 M8 - Cu for aluminium M8 2,0 mm 5/64” 30 mm 17-3/16 M/f\x)? f05000 - 20
MDO0005-74 M8 - Cu for aluminium M8 2,4 mm 3/32” 30 mm 17-3/16 - 20

118 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



MIG WELDING ? trafimet

CODE k o «—> - REF |y
MDO0005-78 M8 - CuCrZr M8 0,8 mm .030” 30 mm 17-3/16 - 20
MD0005-80 M8 - CuCrZr M8 1,0 mm .040” 30 mm 17-3/16 PLUS 400 140.0316 | 20
MD0005-82 M8 - CuCrzr M8 1,2 mm .045” 30 mm 17-3/16 Etgg ggg 140.0445 | 20
MDO0005-84 Q. Jm M8 - CuCrZr M8 1,4 mm .052” 30 mm 17-3/16 PLUS 600 | 140.0536 | 20
MDO0005-86 M8 - CuCrZr M8 1,6 mm 1/16” 30 mm 17-3/16 ',?ALAUXS[ ffga 140.0590 | 20
MD0005-90 M8 - CuCrZr M8 2,0 mm 5/64” 30 mm 17-3/16 MAXI 4000 | 140.0656 | 20
MD0005-94 M8 - CuCrZr M8 2,4 mm 3/32” 30 mm 17-3/16 - 20
MD1005-10 M8 - Triangular Cu M8 1,0 mm .040” 30 mm 17-3/16 PLUS 400 - 20

PLUS 500
PLUS 555
MD1005-12 < Jm M8 - Triangular Cu M8 1,2 mm .045” 30 mm 17-3/16 PLUS 600 - 20
PLUS 601
MAXI 450
MD1005-16 M8 - Triangular Cu M8 1,6 mm 1/16” 30 mm 17-3/16 MAXI 4000 - 20
MD1005-80 M8 - Triangular CuCrZr M8 1,0 mm .040” 30 mm 17-3/16 PLUS 400 - 20
PLUS 500
PLUS 555
MD1005-82 & lm M8 - Triangular CuCrzr M8 1,2 mm .045” 30 mm 17-3/16 PLUS 600 - 20
PLUS 601
MAXI 450
MD1005-86 M8 - Triangular CuCrZr M8 1,6 mm 1/16” 30 mm 17-3/16 MAXI 4000 - 20
MDO0008-06 M6 - Cu M6 0,6 mm .023” 25 mm 31/32” MAXI 150 140.0008 | 20
MAXI 200
MDO0008-08 M6 - Cu M6 0,8 mm .030” 25 mm 31/32” TOPS 140V | 140.0059 | 20
PLUS 14
MD0008-09 S ] M6 - Cu M6 0,9 mm .035” 25 mm 31/32” PLUS 15 140.0177 | 20
PLUS 24
MD0008-10 M6 - Cu M6 1,0 mm .040” 25 mm 31/32” PLUS 240 | 140.0253 | 20
T1
MD0008-12 M6 - Cu M6 1,2 mm .045” 25 mm 31/32” MEGA 1 140.0387 | 20
Y CU-N » » MAXI 150 }
MD0008-36 M6 - Cu-Ni M6 0,6 mm 023 25 mm 31/32 MAXI 200 20
i TOPS 140V
MDO0008-38 M6 - Cu-Ni M6 0,8 mm .030” 25 mm 31/32” PLUS 14 - 20
S PLUS 15
MDO0008-40 M6 - Cu-Ni M6 1,0 mm .040” 25 mm 31/32” PLUS 24 - 20
PLUS 240
MD0008-42 M6 - Cu-Ni M6 1,2 mm .045” 25 mm 31/32” METGJA 1 - 20
- MAXI 150
MDO0008-58 M6 - Cu for aluminium M6 0,8 mm .030” 25 mm 31/32” MAXI 200 141.0002 | 20
TOPS 140V
PLUS 14
MD0008-60 ol M6 - Cu for aluminium M6 1,0 mm .040” 25 mm 31/32” PLUS 15 141.0007 | 20
PLUS 24
PLUS 240
MDO0008-62 M6 - Cu for aluminium M6 1,2 mm .045” 25 mm 31/32” T1 - 20
MEGA 1
MAXI 150
MDO0008-78 M6 - CuCrZr M6 0,8 mm .030” 25 mm 31/32” MAXI 200 - 20
TOPS 140V
PLUS 14
MD0008-80 .| M6 - CuCrZr M6 1,0 mm .040” 25 mm 31/32” PLUS 15 - 20
PLUS 24
PLUS 240
MDO0008-82 M6 - CuCrZr M6 1,2 mm .045” 25 mm 31/32” T1 - 20
MEGA 1
MD0009-06 M6 - Cu M6 0,6 mm .023” 28 mm 17-3/32 140.0005 | 20
MD0009-08 M6 - Cu M6 0,8 mm .030” 28 mm 17-3/32 140.0051 | 20
MD0009-09 M6 - Cu M6 0,9 mm .035” 28 mm 17-3/32 PLUS 25 140.0169 | 20
MD0009-10 o w M6 - Cu M6 1,0 mm .040” 28 mm 17-3/32 PLUS 26 140.0242 | 20
MD0009-12 M6 - Cu M6 1,2 mm .045” 28 mm 17-3/32 PLUS 36 140.0379 | 20
MDO0009-14 M6 - Cu M6 1,4 mm .052” 28 mm 17-3/32 - 20
MD0009-16 M6 - Cu M6 1,6 mm 1/16” 28 mm 17-3/32 140.0555 | 20

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 119



—— °
— traﬁmet MIG WELDING trafimet.com
v
CODE k «—> - REF |y
MD0009-36 M6 - Cu-Ni M6 0,6 mm .023” 28 mm 17-3/32 - 20
MDO0009-38 M6 - Cu-Ni M6 0,8 mm .030” 28 mm 17-3/32 - 20
MD0009-40 M6 - Cu-Ni M6 1,0 mm .040” 28 mm 17-3/32 PLUS 25 - 20
e : PLUS 26
MDO0009-42 M6 - Cu-Ni M6 1,2 mm .045” 28 mm 17-3/32 PLUS 36 - 20
MDO0009-44 M6 - Cu-Ni M6 1,4 mm .052” 28 mm 17-3/32 - 20
MDO0009-46 M6 - Cu-Ni M6 1,6 mm 1/16” 28 mm 17-3/32 - 20
MD0009-58 M6 - Cu for aluminium M6 0,8 mm .030” 28 mm 17-3/32 141.0001 | 20
MDO0009-60 M6 - Cu for aluminium M6 1,0 mm .040” 28 mm 17-3/32 PLUS 25 141.0006 | 20
[ — PLUS 26
MDO0009-62 M6 - Cu for aluminium M6 1,2 mm .045” 28 mm 17-3/32 PLUS 36 141.0010 | 20
MDO0009-66 M6 - Cu for aluminium M6 1,6 mm 1/16” 28 mm 17-3/32 - 20
MDO0009-76 M6 - CuCrZr M6 0,6 mm .023” 28 mm 17-3/32 - 20
MD0009-78 M6 - CuCrZr M6 0,8 mm .030” 28 mm 17-3/32 140.0054 | 20
MD0009-80 M6 - CuCrZr M6 1,0 mm .040” 28 mm 17-3/32 PLUS 25 140.0245 | 20
< PLUS 26
MDO0009-82 M6 - CuCrZr M6 1,2 mm .045” 28 mm 17-3/32 PLUS 36 140.0382 | 20
MDO0009-84 M6 - CuCrZr M6 1,4 mm .052” 28 mm 17-3/32 - 20
MDO0009-86 M6 - CuCrZr M6 1,6 mm 1/16” 28 mm 17-3/32 - 20
MD1009-08 M6 - Triangular Cu tip M6 0,8 mm .030” 28 mm 17-3/32 PLUS 25 - 20
MD1009-10 < M6 - Triangular Cu tip M6 1,0 mm .040” 28 mm 17-3/32 PLUS 26 - 20
MD1009-12 M6 - Triangular Cu tip M6 1,2 mm .045” 28 mm 17-3/32 PLUS 36 - 20
MD0010-12 5/16-24 UNF - Cu 5/16-24 UNF| 1,2 mm .045” 50 mm 17-31/32 15H45 | 20
MD0010-16 5/16-24 UNF - Cu 5/16-24 UNF| 1,6 mm 1/16” 50 mm 17-31/32 15H116 | 20
[— MEGA 5
MD0010-20 5/16-24 UNF - Cu 5/16-24 UNF| 2,0 mm 5/64” 50 mm 17-31/32 15H564 | 20
MD0010-24 5/16-24 UNF - Cu 5/16-24 UNF| 2,4 mm 3/32” 50 mm 17-31/32 15H332 | 20
MD0250-60 M9x1 - Cu for aluminium M9x1 1,0 mm .040” 38 mm 17-1/2 - 20
PLUS 505 -
TMAX 400
MD0250-62 < M9x1 - Cu for aluminium M9x1 1,2 mm .045” 38 mm 17-1/2 - TMAX 500 - 20
- TMAX 4001 -
TMAX 5001
MDO0250-66 M9x1 - Cu for aluminium M9Ix1 1,6 mm 1/16” 38 mm 17-1/2 - 20
MD0250-78 M9x1 - CuCrZr M9x1 0,8 mm .030” 38 mm 17-1/2 - 20
MD0250-79 M9x1 - CuCrZr M9x1 0,9 mm .035” 38 mm 17-1/2 - 20
MD0250-80 M9x1 - CuCrZr M9x1 1,0 mm .040” 38 mm 17-1/2 PLUS 505 - - 20
MD0250-82 M9x1 - CuCrZr MO9x1 1,2 mm .045” 38 mm 17-1/2 TMAX 400 - 20
& lim - TMAX 500
MD0250-84 M9x1 - CuCrzr M9x1 1,4 mm .052” 38 mm 17-1/2 - TMAX 4001 - - 20
MD0250-86 M9x1 - CuCrZr Mox1 1,6 mm 1/16 38 mm 17-1/2 | TMAX 5001 - 20
MD0250-90 M9x1 - CuCrZr M9x1 2,0 mm 5/64” 38 mm 17-1/2 - 20
MD0250-94 M9x1 - CuCrZr MOx1 2,4 mm 3/32” 38 mm 17-1/2 - 20
MD0300-08 M7x1 - Cu M7 0,8 mm .030” 36 mm 17-13/32 - 20
MDO0300-09 M7x1 - Cu M7 0,9 mm .035” 36 mm 17-13/32 - 20
MDO0300-10 @ M7x1 - Cu M7 1,0 mm .040” 36 mm 17-13/32 TMAX 300 HD - 20
MD0300-12 M7x1 - Cu M7 1,2 mm .045” 36 mm 17-13/32 | - TMAX 3001 - 20
MDO0300-14 M7x1 - Cu M7 1,4 mm .052” 36 mm 17-13/32 - 20
MD0300-16 M7x1 - Cu M7 1,6 mm 1/16” 36 mm 17-13/32 - 20
MDO0300-58 M7x1 - Cu for aluminium M7 0,8 mm .030” 36 mm 1”-13/32 - 20
MDO0300-59 M7x1 - Cu for aluminium M7 0,9 mm .035” 36 mm 17-13/32 - 20
MD0300-60 & m M7x1 - Cu for aluminium M7 1,0 mm 040" 36mm | 17-13/32 | TMAX 300 HD - 20
MDO0300-62 M7x1 - Cu for aluminium M7 1,2 mm .045” 36 mm 17-13/32 - 20
MD0300-66 M7x1 - Cu for aluminium M7 1,6 mm 1/16” 36 mm 17-13/32 - 20
MD0300-80 M7x1 - CuCrZr M7 1,0 mm .040” 36 mm 17-13/32 - 20
TMAX 300 HD
MD0300-82 — M7x1 - CuCrZr M7 1,2 mm .045” 36 mm 17-13/32 | _TMAX 3001 - 20
MD0300-84 M7x1 - CuCrZr M7 1,4 mm .052” 36 mm 17-13/32 |~ M-GS\QfggEM - 20
MDO0300-86 M7x1 - CuCrZr M7 1,6 mm 1/16” 36 mm 17-13/32 ’ - 20

120

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




MIG WELDING

CONVERSION KITS

ERGOPLUS

Choose the suitable kit and adapt your torch
for “Aluminium” and “Stainless Steel”
welding applications!

ALUMINIUM KIT-1

STAINLESS STEEL KIT-1

trafimet

CODE k L CODE | &
MT0585 Conversion kit (AL) -M6 /1.0-1.2mm /3 m 1 MT0600 Conversion kit (SS)-M6 /1.0-1.2mm /3 m 1
CONTENT CONTENT
CODE [ & CODE [ &
red 3m black Nylon® + 12% 3m
GMO715 N Teflon® liner 1,0 1,2 mm L 2 | Graphite liner 1,0+1,2mm !
MD0009-60 M6x28 - Cu @ 1,0 mm 1 MD0009-80 M6x28 - CuCrZr @ 1,0 mm 1
g w amw
MD0009-62 M6x28 - Cu @1,2mm 1 MD0009-82 M6x28 - CuCrZr @1,2mm 1
ALUMINIUM KIT-2 STAINLESS STEEL KIT-2
CODE k & CODE [ &
MT0586 Conversion kit (AL) -M8/1.0-1.2mm /3 m 1 MT0601 Conversion kit (SS) -M8/1.0-1.2mm /3 m 1
CONTENT CONTENT
CODE k & CODE | &
red 3m black Nylon® + 12% 3m
GMO0715 - Teflon® liner 1,0 +1,2 mm 1 GM0725 - Graphite liner 1,0 +1,2 mm 1
MDO0005-60 M8x30 - Cu @ 1,0 mm 1 MDO0005-80 M8x30 - CuCrZr @ 1,0 mm 1
< _Jm I
MD0005-62 M8x30 - Cu @ 1,2 mm 1 MDO0005-82 M8x30 - CuCrzr @1,2mm 1
ALUMINIUM KIT-3 STAINLESS STEEL KIT-3
CODE k & CODE [ &
MTO0587 Conversion kit (AL) -M8/1.2-1.6 mm /3 m 1 MT0602 Conversion kit (SS)-M8/1.2-1.6 mm /3 m 1
CONTENT CONTENT
CODE k & CODE [ T &
yellow 3m black Nylon® + 12% 3m
GM0780 L] Teflon® liner 1,2+1,6 mm 1 GM0736 [ Graphite liner 1,2 +1,6 mm 1
MD0005-62 M8x30 - Cu @1,2mm 1 MD0005-82 M8x30 - CuCrzr @1,2mm 1
& _Jm &
MDO0005-66 M8x30 - Cu @ 1,6 mm 1 MDO0005-86 M8x30 - CuCrzr @1,6 mm 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 121




= trafimet

CONSUMABLEKITS

ERGOPLUS

MIG WELDING

trafimet.com

ERGOPLUS 15 ERGOPLUS 36
CODE k = CODE [ 5] &
MT0580 Consumable kit - ERGOPLUS 15 1 MT0582 Consumable kit - ERGOPLUS 36 1
CONTENT CONTENT
CODE [ 7 = CODE [ &
nozzle
MC0018 @ nozzle @12mm 2 MC0527 e\ quick release @16 mm 2
FB0117 = diffuser - 2 MD0064-00 G MS8 tip holder - 2
EA0303 § spring - 2 ME0517 EII| diffuser - 2
MD0008-08 M6x25 - Cu 20,8 mm 10 MDO0005-80 M8x30 - CuCrzr| @ 1,0 mm 10
(S @ Jm
MD0008-10 M6x25 - Cu @1,0 mm 10 MD0005-82 M8x30-CuCrzr| @1,2mm 10
ERGOPLUS 24 ERGOPLUS 500
CODE [ 5] & CODE [ 5] &
MT0584 Consumable kit - ERGOPLUS 24 1 MT0583 Consumable kit - ERGOPLUS 500 1
CONTENT CONTENT
CODE [ 5] & CODE [ 5] &
nozzle
MC0301 — nozzle @15mm 2 MCO568 s\l | quickreiease | @16mm 2
MD0138-00 (il M6 tip holder - 2 ME0076 i | M tip holder - 2
ME0584 ElN diffuser - 2 ME0579 =l diffuser - 2
MD0008-08 M6x25 - Cu 20,8 mm 10 MDO0005-80 M8x30 - CuCrzr| @ 1,0 mm 10
e &l
MD0008-10 M6x25 - Cu @1,0 mm 10 MD0005-82 M8x30 - CuCrzr| @1,2mm 10
ERGOPLUS 25
CODE [ 5] &
MT0581 Consumable kit - ERGOPLUS 25 1
CONTENT
CODE [ ] &
MC0023 @ nozzle @15 mm 2
ME0016 Mé diffuser - 2
EA0304 § spring - 2
MDO0009-08 M6x28 - Cu @ 0,8 mm 10
T w
MD0009-10 M6x28 - Cu @1,0 mm 10

122 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




MIG WELDING

MIG CONSUMABLES
BLISTER

= trafimet

ERGOPLUS oot
=z \
-
gfinet
Z @
CODE [ S eesxA (A x N CODE [ L [ eesxA [A x &
, MD0008P06 @0.6/M6x25| 15 10 10
EA0303P spring 15 10
MD0008P08 30.8/M6x25| 15 10 10
e § spring 05 10 MD0008PO9 20.9/M6x25 | 15 10 10
MD0008P10 @1.0/M6x25| 15 10 10
FBO117P i diffuser | 15 10 MD0009P08 gos/Mex2s | 22 | 10 10
FB1278P O insulator | 500 10 MD0009PO9 20.9/Mex28 | 52 10 10
™
mcoo17pP — @9,5mm 15 10 MDO009P10 91.0/M6x28 | 32 10 10
MC0018P el gi2zmm | 15 10 MD0009P12 91.2/Mex28 | 32 10 10
MC0022P @ @115mm | 25 10 Ve 01.0M6:28 | 25 10 10
MC0023P @ @15mm | 25 10 VTR 01.2/M6x28 | 25 10 10
HEI0EEE I i @19mm | 36 10 MD0063P Eom M6-brass | 36 3 10
et & a @20mm | 500 10 MD0064P Eom M8-brass | 36 3 10
24
IR - @125mm | 949 10 MDO131P T M6-brass | 36 3 10
L \K| 216 mm
MC0527P quick release | 3 10 MD0132P T M8-brass | 36 3 10
Y | @16 mm
HETEEE quick release | 990 10 MD0138P (i) brass 2 s 10
36
MD0005P08 20.8/M8x30 | 3% 10 ME0O16P Ao Tl copper 05 3 10
36
MDO00SP09 P 0.9/M8x30 | 5ng 10 ME0017P ] plastic | 36 5 10
36 =
MDO0OSP10 91.0/M830 | 5pg 10 MEO0076P s brass 50 | 3 10
Gam a|
3
6
MD0005P12 91.2/M8x30 | 3% 10 NIRRT T3] plasic | 500 5 10
36
MD0005P14 @1.4/M8x30 | oy 10 ME0084P E]:D plastic 2244; 5 10
36 =
MD0005P16 @1.6/M8x30 | oo 10 MEO390P P copper | 500 3 10
@1.0/M8x30 | 36 .
MD000SP60 Al 500 10 ME0417P g highteeh | 36 5 10
31.2/M8x30 | 36 .
MD0005P62 » oo 10 ME0479P el hightech | so0 | 5 10
@1.0/M8x30 | 36
MD0005P80 CuCrzr 500 10 MEO0517P EII] ceramic 36 5 10
@1.2/M8x30 | 36
LDl IS i cucrzr | 500 10 MEO579P Rl ceramic | 500 5 10
@1.4/M8x30 | 36
LI cucrzr | 500 10 MEQ584P ElN ceramic 22440 5 10

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

123




ADAPITIG

= trafimet

ADAPTIG [en]

Take control of your welding process and achieve high precision, neatness and accuracy with a
torch tailored for your specific needs.

The new ADAPTIG TIG torch has been designed for the professional welders who demand perfect
results, durability and comfort in their work.

The handle of the new ADAPTIG is an example of next generation welding torch design. Regardless
of how the welder holds the torch, ADAPTIG offers optimized shape and grip. The torch handle
narrows from side to side and the iconic Trafimet grip texture makes holding natural and effortless.
Thanks to the ergonomic and adjustable finger supports and the optimized balance, the welder can
focus into arc with less wrist strain.

visit trafimet.com

for more details about the products.

124



{ \

ADAPTIG [it]

Assumi il controllo del tuo
processo di saldatura e ottieni
alta precisione, pulizia e
accuratezza con una torcia su
misura per le tue esigenze
specifiche.

La nuova torcia TIG ADAPTIG
& stata progettata per i
saldatori professionisti che
cercano risultati perfetti,
durata e comfort nel loro
lavoro. Limpugnatura della
nuova ADAPTIG & Un esempio
di design di nuova generazione
per torce di saldatura.
Indipendentemente da come il
saldatore impugna la torcia,
ADAPTIG offre una forma e
una presa ottimali. Limpugna-
tura della torcia si restringe da
un lato all'altro e I'iconica
texture dell'impugnatura
Trafimet rende la presa
naturale e senza sforzo. Grazie
ai supporti ergonomici e
regolabili per le dita e al
bilanciamento ottimizzato, il
saldatore puo concentrarsi
sull'arco con un minore sforzo
del polso.

= trafimet

NG IG

welding torches

ADAPTIG [de]

Ubernehmen Sie die Kontrolle
Uber Ihren Schweilprozess
und erreichen Sie hohe
Prazision, Sauberkeit und
Genauigkeit mit einem
Brenner, der auf Ihre speziellen
BedUrfnisse zugeschnitten ist.
Der neue ADAPTIG WIG-Bren-
ner wurde fiir professionelle
SchweilRer entwickelt, die
perfekte Ergebnisse,
Langlebigkeit und Komfort bei

" ihrer Arbeit verlangen. Der Griff

des neuen ADAPTIG ist ein
Beispiel fir das Schweillbren-
nerdesign der nachsten
Generation. Unabhangig
davon, wie der Schweiler den
Brenner halt, bietet ADAPTIG
eine optimierte Form und
Griffigkeit. Der Taschenlamp-
engriff verjlingt sich von einer
Seite zur anderen und die
ikonische Trafimet-Griffstruk-
tur macht das Halten natrlich
und mihelos. Dank der
ergonomischen und verstell-
baren Fingerauflagen und der
optimierten Balance kann der
Schweiler den Lichtbogen mit
weniger Handgelenksbelas-
tung fokussieren.

ADAPTIG [f]

Prenez le controle de votre
processus de soudage et
obtenez une précision, une
propreté et une exactitude
élevées avec une torche
adaptée a vos besoins
spécifiques.

La nouvelle torche TIG
ADAPTIG a été congue pour
les soudeurs professionnels
qui exigent des résultats
parfaits, la durabilité et le
confort dans leur travail. La
poignée de la nouvelle
ADAPTIG est un exemple de la
conception de nouvelle
génération de la torche de
soudage. Quelle que soit la
fagon dont le soudeur tient la
torche, ADAPTIG offre une
forme et une prise en main
optimisées. La poignée de la
torche est étroite d'un c6té a
l'autre et la texture embléma-
tigue de la poignée Trafimet
rend la prise en main naturelle
et sans effort. Grace aux
supports ergonomiques et
réglables pour les doigts et a
I'équilibre optimisé, le soudeur
peut se concentrer sur l'arc
avec moins de tension au
niveau du poignet.

T-SYSTEM [tr]

Kaynak prosesinizin
kontrolund elinize alin ve ozel
ihtiyaclariniza gore uyarlanmis
bir torgla ylksek hassasiyet,
temizlik ve dogruluk elde edin.
Yeni ADAPTIG TIG torcu,
islerinde miikemmel sonuglar
ve dayaniklilik isteyen
profesyonel kaynakgilar igin
tasarlanmistir. Yeni ADAPTIG
torcunun kabzasi, elinizde tam
bir tutus saglamak igin
yerlestirilmis 6zel dokulardan
yapilmistir. Ergonomik ve
ayarlanabilir parmak destekleri
ve optimize edilmis esneklik
sayesinde kaynakgilar en iyi
pozisyonu bulurlar ve daha az
bilek yorgunlugu ile uzun
seanslar boyunca galisabilirler.

125



Online configurator for

ADAPTIG torches

Configure your ADAPTIG torch to suit your welding unit
and use the best solution in different welding applications.
Specify your welding unit model and your personal setup
and you will receive your ADAPTIG torch ready to weld.
Visit configurator.trafimet.com and configure the torch

suited to your needs.

01

Find your welding unit

02

Choose the torch cooling type

03

Select the connection for your welding unit

04

 —
oo ﬂo

oo0o0o

=9
—

“ N~
L ==
AIR WATER
=
| =

Select the torch head and the remote controls
fittest with your needs

05

4,8,16 m

Select the length of the cable

06

126

You will receive your ADAPTIG

torch with the specific connection for the
welding unit you have selected.
(consumables are not included)

v

A

T
GET THE CODE OF THE
ASSEMBLED TORCH

I 111X =



= trafimet

visit configurator.trafimet.com

Configura la tua torcia
personale [it]

Configura la tua torcia ADAPTIG
in base alla tua saldatrice e
utilizza la soluzione migliore per
le diverse applicazioni

di saldatura.

Specifica il modello della

tua unita di saldatura, la tua
configurazione personale e
riceverai la torcia ADAPTIG
pronta per saldare. Visita il sito
configurator.trafimet.com e
configura la torcia adatta alle
tue esigenze.

1. Trova la tua unita di saldatura
2. Scegli il tipo di
raffreddamento della torcia

3. Seleziona la connessione per
I'unita di saldatura

4. Scegliil corpo torcia e
pulsanti pit adatti alle tue
esigenze

5. Seleziona la lunghezza del
cavo

6. OTTIENI IL CODICE DELLA
TORCIA ASSEMBLATA
Riceverai la tua torcia ADAPTIG
con il collegamento specifico per
['unita di di saldatura selezionata.
(i consumabili non sono inclusi)

Konfigurieren Sie

lhren personlichen

Brenner [de]

Konfigurieren Sie lhren ADAP-
TIG-Brenner passend zu Ihrem
Schweillgerat und nutzen Sie die
beste Losung fiir verschiedene
Schweillanwendungen.

Geben Sie lhr Schweilgerate-
modell und lhre personlichen
Einstellungen an und Sie
erhalten lhren ADAPTIG-Brenner
schweilRbereit. Besuchen Sie
configurator.trafimet.com und
konfigurieren Sie den fir Ihre
Bedtirfnisse geeigneten Brenner.
1. Finden Sie Ihr Schweilgerat
2. Wahlen Sie die Version der
Brennerkuhlung

3. Wahlen Sie den Anschluss fir
Ihr Schweillgerat

4. Wahlen Sie den Brennerkopf
und die Fernbedienungen, die
am besten zu |hren Bedurfnis-
sen passen

5. Wahlen Sie die Lange des
Kabels

6. DEN CODE DES MONTIER-
TEN DES MONTIERTEN
BRENNERS

Sie erhalten Ihren ADAPTIG
Brenner mit dem spezifischen
Anschluss fiir das Schweilgerat,
das Sie ausgewahlt haben.
(Verbrauchsmaterial ist nicht
enthalten)

Configurez votre

torche personnelle [fr]
Configurez votre torche
ADAPTIG en fonction de votre
poste de soudage et utilisez

la meilleure solution pour les
différentes applications de
soudage.

Indiquez le modele de votre
poste de soudage et votre
configuration personnelle et
VOus recevrez votre torche
ADAPTIG préte a souder. Visitez
configurator.trafimet.com et
configurez la torche adaptée a
vos besoins.

1. Trouvez votre machine de
soudage

2. Choisissez le type de refroid-
issement de la torche

3. Sélectionnez le raccordement
de votre machine a souder

4. Sélectionnez la téte

de torche et les télécommandes
les plus adaptées a vos besoins
5. Choisissez la longueur du
cable

6. OBTENEZ LE CODE

DE LA TORCHE DE LA TORCHE
ASSEMBLEE

Vous recevrez votre torche
ADAPTIG avec la connexion
spécifique au poste de pour

le poste de soudage que vous
avez choisi.

(les consommables ne sont pas
inclus)

Size 6zel torcunuzu
yapilandirin [tr]

ADAPTIG torcunuzu, kaynak
islemlerinizde tam kontroli elde
etmek igin yuksek hassasiyet,
temizlik ve dogruluga ulasacak
sekilde yapilandirin.

Kaynak makinenizin modelini ve
size 6zel segenekleri belirleyin
ve ADAPTIG torcunuzu kaynak
yapmaya hazir olarak teslim alin.
configurator.trafimet.com
adresini ziyaret edin ve
torcunuzu ihtiyaglariniza gore
yapilandirin.

1. Kaynak makinesi modelini
seginiz

2. Torg sogutma tipini seginiz

3. Kaynak makinenize uygun
baglanti tipini seginiz

4. Torg boynunu ve size uygun
olan tetik modelini seginiz

5. Torg kablosunun uzunlugunu
seginiz

6. KULLANIMA HAZIR

TORC KODUNU ALIN
Sectiginiz kaynak makinesine
uygun baglanti ile torgunuza
sahip olacaksiniz.

(sarf malzemeleri torg paketi
icerigine dahil degildir)

127




-———
? trafimet TIG WELDING trafimet.com

ADAPTIG C € eneo974-7
AIR COOLED

TECHNICAL DATA
g G9 617 624 626
s 4-8-16m* 4-8-16m* 4-8-16m* 4-8-16m*
12.5'- 25'- 50’ 12.5'-25'- 50’ 12.5'-25'- 50’ 12.5'-25'- 50’
fom 0,60 kg 0,66 kg 0,62 kg 0,77 kg
mi L 1321b 1.46 1 1371 171b
V PEAK 113 113 113 113
l Argon Argon Argon Argon
g = 1,0+ 3,2 mm 1,0+ 4,0 mm 1,0+ 3,2 mm 1,0+ 4,0 mm
X 35% 110ADC 140A DC 110ADC 180A DC

* Above technical data is based on cable assembly lengths of 4m and 8m.

S g

[
B & CONSUMABLES
ARE NOT INCLUDED
B i INTO THE TORCH PACKAGE.

Choose your connection from
configurator.trafimet.com

128 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



TIG WELDING

ADAPTIG
WATER COOLED

= trafimet

C € eneo974-7

TECHNICAL DATA
T~
\_/'\
A W18 W20 w24
4-8-16m* 4-8-16m* 4-8-16m*
12.5'-25- 50 12.5'-25- 50’ 12.5'-25- 50
fomm 0,84 kg 0,65 kg 0,62 kg
mi L 1.851b 1431 1371
V PEAK 113 113 113
i Argon Argon Argon
o e— 1,0+ 40 mm 1,0+ 32 mm 1,0+ 32 mm
X 100% 300A DC 200A DC 180A DC
g 5 bar 5 bar 5 bar
g3 1 1/min 11/min 11/min
* Above technical data is based on cable assembly lengths of 4m and 8m. T

Choose your connection from
configurator.trafimet.com

CONFIGURATOR

CONSUMABLES
ARE NOT INCLUDED
INTO THE TORCH PACKAGE.

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 129



TIG WELDING

% trafimet

TORCH HEADS
ADAPTIG

-

STANDARD

-—‘-w.
<

FLEX
' ‘
S-NECK

~ug?

S-LOCK

)

&

FLEXLOCK

Torch head total lenght

trafimet.com

CODE - © &
TF0700-SP [ == G9 50 mm 1
TF0701-SP s - G Flex 50 mm 1
TF0706-SP v G9 S-Neck 44 mm 1
TF0708-SP \p—- G9 S-Lock 47 mm 1
TRO71I0sP | Q- 69 Flexlock 55 mm 1
TF0702-SP = G17- G626 64 mm 1

Ly
TF0703-SP = G17 Flex - G26 Flex 64 mm 1
Ly
TF0707-SP M G17 S-Neck 51 mm 1
TF0709-SP ~’ G617 S-Lock 54 mm 1
TF0711-SP .vk G17 Flexlock 62 mm 1
TF0704-SP J—— 624 65mm 1
TFO7055P |, ‘emm———< G24 Flex 117 mm 1
40
w2y SPARE PARTS - INSERTS

CODE Fom- =
TF0712-SP | G9 S-Neck 1
TF0714-SP [ G9 S-Lock 1
TFO716-SP [ ] G9 Flexlock 1
TF0713-SP '. G17 S-Neck 1
TF0715-SP [~ 2 617 S-Lock 1
TFO717-SP B G17 Flexlock 1

40
w3y SPARE PARTS - BODIES

CODE Fom - =
TF0718-SP V= 69 S-Neck - G17 S-Neck 1
TF0719-SP [ V. G9 S-Lock - G17 S-Lock 1
TF0720-SP h G9 Flexlock - G17 Flexlock 1

130 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




TIG WELDING ? trafimet

A WATER COOLED
CODE A O) &

TG0603-SP

w18 44 mm 1

760600-5P | . Ctemm=" W18 Flex 69 mm

-

TGO611-SP V W18 S-Neck 50 mm 1
TG0609-SP V W18 S-Lock 54 mm 1
TG0607-SP $w—' W18 Flexlock 64 mm 1
TGO613-SP ;_"”" W18 XL 79 mm 1
TG0604-SP O W20 65 mm 1
TGO601-SP | . Clugpuesre—"" W20 Flex 117 mm 1

TG0612-SP K W20 S-Neck 43 mm 1

FLEX TG0610-SP v W20 S-Lock 47 mm 1
TG0608-SP Qe W20 Flexlock 56 mm 1
TGO615SP | g W20 F Multiflex 98 mm 1
: TG0606-SP | g w24 44 mm 1
< ]
TGO605-SP | o N emmm—g———— W24 Flex 62 mm 1
S-NECK
\/'\
A SPARE PARTS - INSERTS
CODE . =
TF0713-SP '- W18 S-Neck 1
TFO715-SP " W18 S-Lock 1
TF0717-SP B W18 Flexlock 1
S-LOCK i
TF0712-SP [ W20 S-Neck 1
TF0714-SP an W20 S-Lock 1
“
P)
& TF0716-SP [ ] W20 Flexlock 1
TG0091-SP ne W20 Multiflex 1
FLEXLOCK
\_/'\
SA SPARE PARTS - BODIES
CODE y — =
TG0618-SP Vo SNeck W18 - W20 1
TG0617-SP [ S —— S-Lock W18 / W20 1
MULTIFLEX TG0616-SP h—— Flexlock W18 / W20 1
TG0602-SP . W20 Multiflex 1

Torch head total lenght

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 131



= trafimet

TRIGGER KITS

TIG WELDING

CODE h L
TT0650-SP 4 1 Button 1
TT0651-SP ’ 2 Buttons 1
TT0652-SP ’ 3 Buttons 1
TT0653-SP e 4 Buttons 1
TT0654-SP ’ Multifunction Lever 1
TT0675-SP ’ Lamelle Button 1

CODE ] )

N TT0655-SP 1 Button + Pot. 1K 1
N TT0656-SP 1 Button + Pot. 2K 1
Sl TT0657-SP 1 Button + Pot. 5K 1
M TT0658-SP 1 Button + Pot. 10K 1
S TT0659-SP ’ 1 Button + Pot. 20K 1
S TT0660-SP 1 Button + Pot. 50K 1
S TT0661-SP 1 Button + Pot. 100K 1
S TT0662-SP 1 Button + Pot. 200K 1
B TT0663-SP 1 Button + Pot. 500K 1
B TT0664-SP 1 Button + Pot. 1M 1
el TT0665-SP 2 Button + Pot. 1K 1
S TT0666-SP 2 Button + Pot. 2K 1
S TT0667-SP 2 Button + Pot. 5K 1
S TT0668-SP 2 Button + Pot. 10K 1
S TT0669-SP 2 Button + Pot. 20K 1
M TT0670-SP 2 Button + Pot. 50K 1
M TT0671-SP 2 Button + Pot. 100K 1
Sl TT0672-SP 2 Button + Pot. 200K 1
.l TT0673-SP 2 Button + Pot. 500K 1
) TT0674-SP 2 Button + Pot. 1M 1

trafimet.com

1BUTTON 2BUTTONS

3 BUTTONS 4 BUTTONS

,

2 MULTIFUNCTION LAMELLE
LEVERS

POTENTIOMETER POTENTIOMETER
AND 1 BUTTON AND 2 BUTTONS

132

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



TIG WELDING ? trafimet

CONNECTION KITS

CABLE ASSEMBLIES
ADAPTIG

v‘;‘v CONNECTION KITS UNIVERSAL TSK 50

| CODE
ZL3104-SP Nr.104 TSK 50 - 3/8" Gas
ZL3108-SP Nr. 108 TSK 50 - Quick Gas
ZL3113-SP Nr. 113 TSK 50 - 1/4" Gas
ZL3163-SP Nr. 163 TSK 50 - M12x1 Gas

Discover the complete range at configurator.trafimet.com or eordering-it.trafimet.com

CONFIGURATOR

vs» CABLE ASSEMBLIES

Standard Flex S-Lock S-Neck Flexlock
CODE «—> exoK iy
G9 | G17 | G24 | G26 | G9 | G17 | G24 | G26 | G9 | G17 | G9 | G17 | G9 | G17
0] TH1514-040-SP 4m 12,5 ° ° o o o o o . . o o o |1
b) TH1514-080-SP 8m 25' e ° o o o o o . . o . o |1
0] TH1514-160-SP 16m 50’ ° ° e ° e e e ° ° ° ° ° |1
0] TH1515-040-SP 4m 12,5 o o 1
0] TH1515-080-SP 8m 25' o o 1
0] TH1515-160-SP 16m 50’ o o 1
K23 CABLE ASSEMBLIES FOR CENTRAL CONNECTION
“" NR. 008 - 008L - 041 - 041L - 060 - 196 - 196L
Standard FI S-Lock S-Neck Flexlock
CODE anaar ex 0C| ec exloc #’
G9 | G17 | G24 | G26 | G9 | G17 | G24 | G26 | G9 |G17 | G9 | G17 | G9 | G17
0] TH1518-040-SP 4m 12,5 o o . o . o o o . o o e |1
b TH1518-080-SP 8m 25' o o o o o o o o o o o e |1
0] TH1518-160-SP 16m 50’ o o o o . o o o . o o e |1
0] TH1519-040-SP 4m 12,5 o ° 1
0] TH1519-080-SP 8m 25' o o 1
0] TH1519-160-SP 16m 50’ o o 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 133



L/
= traﬁmet TIG WELDING trafimetcom

CONNECTION KITS

CABLE ASSEMBLIES
ADAPTIG

@ CONNECTION KITS UNIVERSAL TSK 50

CODE = &
Bl zw3104-SP Nr.104 TSK 50 - 3/8” Gas 1
il zw3108-SP Nr. 108 TSK 50 - Quick Gas 1
8] zw3113-sP Nr. 113 TSK 50 - 1/4” Gas 1
il zw3163-sP Nr. 163 TSK 50 - M12x1 Gas 1
Discover the complete range at configurator.trafimet.com or eordering-it.trafimet.com
[
oA
SA CABLE ASSEMBLIES
Standard Flex S-Lock - Flexlock | XL Multiflex
CODE «—> oc S-Neck =~
W18 | W20 | W24 W18 | W20 W24 | W18 | W20 | W18 | W20| W18| W20 W18 | W20
i TH1516-040-SP Am 12,5 ° ° ° ° . ° 1
4| TH1516-080-SP gm 25' . ° . o . . 1
4] TH1516-160-SP 16m 50’ ° ¢ ° ° ° ° 1
4] TH1517-040-SP 4m 12,5 o | o o | o . . . . 1
4| TH1517-080-SP 8m 25' o | e o | o . . . . 1
®] TH1517-160-SP 16 m 50’ ° ° ° ° ° ° ° R 1
A CABLE ASSEMBLIES FOR CENTRAL CONNECTION
N
NR. 008 - 008L - 041 - 041L - 060 - 196 - 196L
Standard Flex S-Lock S-Neck Flexlock | XL Multiflex
CODE «> L]
W18 | W20 | W24 | W18 | W20 | W24 | W18 | W20 W18 | W20| W18 | W20 | W18 | W20
4] TH1520-040-SP 4m 12,5 . o . . . . 1
W TH1520-080-SP gm 25' . . . . . . ]
4] TH1520-160-SP 16m 50° . . . . . . 1
4] TH1521-040-SP 4m 12,5 . . o | e . . . . 1
4] TH1521-080-SP gm 25' . . o | o . . o . ]
o] TH1521-160-SP 16m 50° . . o | o . . o . ]

134 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



? traﬁmet TIG WELDING

trafimet.com

HANDLE KITS
ADAPTIG

vs» HANDLE KIT

N Standard Flex S-Lock S-Neck Flexlock ~,
CODE [ -
G9 G17 | G24 | G26 | G9 |G17 | G24| G26 | G9 |G17 | G9 | G17 | G9 | G17
9 TT0678-SP Handle kit small ° ° ° ° ° ° ° . . ° 1
9 TT0679-SP Handle kit ° ° L4 ° 1
A HANDLEKIT
L Standard Flex S-Lock S-Neck Flexlock | XL | Multiflex
CODE [ ] L]
W18 | W20| W24 | W18 | W20 | W24 | W18 | W20 | W18| W20 | W18 | W20 | W18 W20
9 TT0680-SP Handle kit small . ° ° L ° 1
9 TT0681-SP Handle kit ° . ° . . ° . . . 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 135



EXPERTIG

EXPERTIG [en]

The new EXPERTIG handle is the result of a study of balanced weight, necessary to be able to weld
easily and effortlessly.

The EXPERTIG range includes air- and water-cooled torches from 110 to 320 Amps (DC).

EXPERTIG comes as standard with TSK plugs.

The EXPERTIG torch series offers two different handle sizes.

With the EXPERTIG switch variations you can find the perfect match to your welding machine.
Thanks to the four different PC board options, the EXPERTIG torch can be quickly configured to your
machine. The removal and changing of the switch take few seconds.

visit trafimet.com

for more details about the products.

136



EXPERTIG [it]
La nuova impugnatura
EXPERTIG € il risultato di uno

studio del peso bilanciato,
necessario per poter saldare
facilmente e senza sforzo.
La gamma EXPERTIG include
torce raffreddate ad aria e ad
acqua da 110-320 A (DC).

Le torce EXPERTIG vengono
fornite di serie con le spine
TSK.

La serie di torce EXPERTIG
offre due diverse dimensioni
per limpugnatura.

Le varianti di interruttori
EXPERTIG ti consentono di
trovare l'abbinamento perfetto
per la tua saldatrice.

Grazie alle quattro diverse
opzioni di scheda PCB, puoi
configurare rapidamente la
torcia EXPERTIG sulla tua
macchina. La rimozione e la
sostituzione dell'interruttore
richiedono pochi secondi.

welding.

EXPERTIG [de]

Mit dem neuen EXPETIG-Griff
kann man noch leichter und
miiheloser schweilien.

Das EXPERTIG-Sortiment
umfasst luft- und
wassergekihlte Brenner von
110 bis 320 Ampere (DC).
Der EXPERTIG wird standard-
mafig mit TSK-Steckern
geliefert.

Der Konfigurator hilft hnen,
den richtigen Anschluss zu
einer Vielzahl von
TIG-Maschinen zu finden.

Die EXPERTIG-Brennerserie
bietet zwei verschiedene
Griffgrofen.

Mit den EXPERTIG-Schalter-
variationen konnen Sie die
perfekte Kombination fir Ihr
Schweilgerat finden.

Dank der vier verschiedenen
Schalter-Optionen kann der
EXPERTIG-Brenner schnell an
Ihre Maschine angepasst
werden. Das Entfernen und
Wechseln des Schalters
dauert nur wenige Sekunden.

EXPERTIG [fr]

La nouvelle poignée EXPERTIG
est le fruit d'une étude de
poids équilibré, nécessaire
pour pouvoir souder
facilement et sans effort.

La gamme EXPERTIG
comprend des torches a
refroidissement par air et par
eau de 110 a 320 A (CC).
EXPERTIG dispose de prises
TSK en série.

Les torches de la série
EXPERTIG proposent deux
tailles de poignées.

Avec les variantes d'interrupt-
eurs EXPERTIG, vous pouvez
trouver la combinaison idéale
pour votre poste a souder.
Grace aux quatre options de
cartes de circuits imprimés, la
torche EXPERTIG peut étre
rapidement configurée sur
votre machine. Le retrait et le
changement de l'interrupteur
prennent quelques secondes.

= trafimet

oriC.h§§

EXPERTIG [tr]

Yeni EXPERTIG kabza, kolayca
ve zahmetsizce kaynak
yapmak i¢in gerekli olan
dengeli agirliga dair yapilan
galismalarin-sonucudur.
EXPERTIG serisi, 110 ile 320
Amper (DC) arasindaki hava ve
su sogutmali torglari igerir.
EXPERTIG, TSK baglanti
figleriyle standart olarak
sunulur.

EXPERTIG torg serisi iki farkli
kabza boyutuna sahiptir.
EXPERTIG tetik gesitleri ile
kaynak makinenize en uygun
¢0zUmU bulabilirsiniz.
EXPERTIG torglar, dort farkli
elektronik tetik karti secenegi
sayesinde makineniz igin hizli
bir sekilde yapilandirilabilir.
Tetigi gikarip degistirmek
sadece birkag saniye strer.

137




./
= trafimet TIG WELDING trafimetee

EXPERTIG 9 C € eneooras

CODE «—> E N TECHNICAL DATA
TA0904S-511-WA3 4m 12,5 Single 1 “;‘. EXPERTIG 9
TA0908S-511-WA3 8m 25 Button | 014G | 1 #1—m 0.45kg ‘ 0,99 Ib

V Peak 113
OPTIONAL STARTERKIT .
Argon
CODE =
o ~ oe— 0,5+ 2,4 mm ‘ 0,020" + 3/32"
TT0101 1,6 mm 1/16" | WR2 | 1 X
35% 110A DC - 80A AC
TT0102 2,4mm 3/32" | WR2 | 1
CODE [ ] L,
TQO001 m insulator 10
TF0009 - tig 9 torch head 1
TF0010 B tig 9 flex torch head 1 &
BW0063 | IvMiESSSSS——— back cap 147,5 mm 10 M
n -
EA0129 O O-ring @ 4,5x2 mm 10 B / 6 |
TT0611 ' 1 button kit 1 2 e} o g 1/4G
TT0630 & pc-board 1 ' g !
BW0310 o (1 ] cable joint 1 13
CONSUMABLES Connection Types
. ARE NOT INCLUDED See the relevant page.
iZeun ‘I ~ handle kit 1 INTO THE TORCH PACKAGE.
s!
TH1471-040 e cable assembly -4 m/12.5 1
? CONNECTION
TH1471-080 e cable assembly - 8 m / 25’ 1
E)f Gas1/4'6 — [l
TH0005 o power cable -4m/12.5 1
TH0006 Jﬁ-f power cable - 8 m / 25' 1
Control —— >——"—
CX0077 i TSK 50-1/4 G plug 1 Cable Power TSK 50

138 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



TIG WELDING

EXPERTIG 17

CODE «—> =E =~
TA1704S-511-WA3 4m 12,5 Single 1
TA17085-511-WA3 8m 25 Button 1
TA1704F-511-WA3 4m 125" | single Button | 78K 50-1/4G | 1
TA1708F-511-WA3 8m g5 | FlexHead 1

OPTIONAL STARTER KIT
CODE (1) =
TT0103 1,6 mm 1/16" | WR2 | 1
TT0104 2,4mm 3/32" | WR2 | 1
TT0105 32mm 1/8" [ WR2 | 1
CODE [ N7
TQ0002 U insulator 10
TF0017 G- tig 17 torch head 1
TF0022 By tig 17 flex torch head 1
Bwooes | il back cap 117 mm 10
EA0130 O O-ring @ 9x2 mm 10
TT0611 ' 1 button kit 1
TT0630 & pc-board 1
BW0310 o (1 ] cable joint 1
TT0601 — handle kit 1
s!
TH1471-040 e cable assembly -4 m/12.5° 1
s!

TH1471-080 e cable assembly - 8 m / 25’ 1
TH0005 Jsf power cable -4 m /12,5 1
TH0006 Jsf power cable - 8 m / 25' 1
CX0077 .5‘ TSK 50 - 1/4 G plug 1

L/
-——
-w
v

trafimet

C € Ene0974-7

TECHNICAL DATA
R EXPERTIG 17
Frm- 0,55kg ‘ 1221b
V pPeak 113
. Argon
oe— 0,5+ 2,4mm ‘ 0,020" + 3/32"
X 35% 140A DC - 100A AC

B/
B/
0

Connection Types
See the relevant page.

CONSUMABLES
ARE NOT INCLUDED
INTO THE TORCH PACKAGE.

CONNECTION
=)
Gas1/4"G —— [T
Control —— >——
Cable Power TSK 50

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

139



= trafimet

EXPERTIG 18

TIG WELDING

CODE <« =E =~
TB1804S-511-WA3 4m | 125 Single 1
TB1808S-511-WA3 8m Button | s0-1/4G | 1

OPTIONAL STARTERKIT
CODE (1) L
TT0103 1,6 mm 1/16" [ WR2 | 1
TT0104 2,4 mm 3/32" | WR2 | 1
TT0105 3,2 mm 1/8" | WR2 | 1
CODE [ ]
TQ0002 U insulator
TG0018 .p_:—— tig 18 torch head
Te0118 | tig 18 flex torch head
Bwooes | il = back cap 117 mm
EA0130 O O-ring @ 9x2 mm
TT0611 ' 1 button kit
TT0630 & pc-board
BW0311 o (1 ] cable joint
TT0602 — handle kit 1
s!
TH1473-040 e cable assembly -4 m/12.5 1
s!

TH1473-080 e cable assembly - 8 m / 25 1
TH0082 Jﬁ-f power cable -4 m/12.5 1
TH0083 Jﬁ-f power cable - 8 m / 25' 1
CX0080 5 TSK 50 - quick plug 1

trafimet.com

C € Ene0974-7

TECHNICAL DATA
a EXPERTIG 18
ey 0,90 kg ‘ 1,98 1b
V Peak 113
. Argon

oe— 0,5+ 4,0mm ‘ 0,020" + 5/32"
X 100% 320A DC - 230A AC

@é@ 4 bar

23 1,51/min

CONSUMABLES
ARE NOT INCLUDED
INTO THE TORCH PACKAGE.

Connection Types
See the relevant page.

CONNECTION

Quick Conn. ¢——

(Water)

1/4G (Gas)

Control
Cable

—

Power TSK 50

140

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




TIG WELDING

EXPERTIG 20

CODE «—> =E =~
TB2004S-511-WA3 am | 125 Single 1
TB2008S-511-WA3 8m 25 Button | s0-1/4G | 1

OPTIONAL STARTERKIT

CODE 0 =

TT0101 1,6 mm 1/16" [ WR2_| 1

TT0102 2,4 mm 3/32" [ WR2_| 1

CODE [ ] N
TQO001 m insulator 10
Teoozo | P tig 20 torch head 1
TG0220 «W tig 20 flex torch head 1
BW0063 |ISS———— back cap 147,5 mm 10
EA0129 O 0-ring @ 4,5x2 mm 10
TT0611 ' 1 button kit 1
TT0630 & pc-board 1
BW0310 o (1 ] cable joint 1
TT0601 — handle kit 1
S
TH1474-040 o cable assembly -4 m/12.5° 1
S

TH1474-080 o cable assembly - 8 m / 25’ 1
TH0086 ﬁpf power cable -4 m /12,5 1
TH0087 ﬁpf power cable - 8 m / 25' 1
CX0080 5 TSK 50 - quick plug 1

L/
-——
-w
v

trafimet

C € EN60974-7

TECHNICAL DATA
a EXPERTIG 20
ey 0,85 kg ‘ 1,87Ib
V Peak 113
. Argon

oe— 05+32mm | 0020+ 178’
X 100% 250A DC - 175A AC

@é@ 4 bar

a3 1,5 I/min

CONSUMABLES
ARE NOT INCLUDED
INTO THE TORCH PACKAGE.

Connection Types
See the relevant page.

CONNECTION

Quick Conn. ¢——

(Water)

1/4G (Gas)

Control
Cable

—

Power TSK 50

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

141



./
= trafimet TIG WELDING trafimetee

C € EN60974-7

EXPERTIG 26

CODE «—> E N TECHNICAL DATA
TA2604S-511-WA3 4m 12,5 Single 1 “;‘. EXPERTIG 26
TA26085-511-WA3 8m 25 Button 1 Frrm- 0,80 kg ‘ 1,76 1b
TA2604F-511-WA3 4m 12,5 Single Button | TSK 50-1/4G 1 V PEAK 113
TA2608F-511-WA3 8m 25 | FlexHead 1 [ Argon

0 e— 05+40mm | 000"+ 5/32
OPTIONAL STARTER KIT X 35% 180A DC - 130A AC
CODE o
TT0103 1,6 mm 1/16" | WR2 |
TT0104 2,4mm 3/32" | WR2 |
TT0105 32mm 1/8" | WR2 |
CODE [ ]
TQ0002 U insulator
TF0026 .ﬁ_ tig 26 torch head
TF0027 B tig 26 flex torch head
Bwooes | il = back cap 117 mm
EA0130 O O-ring @ 9x2 mm
TT0611 ' 1 button kit
TT0630 & pc-board
BWO0311 . o cable joint 1 - Connection Types
CONSUMABLES See the relevant page.
— ) ARE NOT INCLUDED
no602 handle kit 1 INTO THE TORCH PACKAGE.
s#
TH1472-040 e cable assembly -4 m/12.5° 1
? CONNECTION
TH1472-080 e cable assembly - 8 m / 25’ 1
E)f Gas1/4'6 — [l
TH0007 o power cable -4m/12.5 1
TH0008 Jﬁ-f power cable - 8 m / 25' 1
Control — >——"—
CX0077 i TSK 50-1/4 G plug 1 Cable Power TSK 50

142 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

TIG WELDING

CLASSIC 9 C € enco974-7

CODE <« - E &~ TECHNICAL DATA
SA6409-10 4m 12,5 1 oy 9 CLASSIC
Lamelle g

SA6809-10 8m 25' K somizal 1 fomm- 0,45 kg ‘ 0.99 Ib

V PEAK 113
. Argon

oe— 0,5+1,6 mm ‘ 020" + 3/32”
X 35% 110A DC - 80A AC

< n

TQO001 m insulator 10 m
TF0009 H tig 9 torch head 1 o i .,
TF0010 ,‘M tig 9 flex torch head 1 F -
BW0063 I back cap 147,5 mm 10 Bi / &ﬂ
O By *
EA0129 O-ring @ 4,5x2 mm 10 }
TT0176 g french trigger 1
STARTERKIT
TP0004 | (N tig tube handle 1 IS INCLUDED
INTO THE TORCH PACKAGE.
= See the rel t .
TH1298 _pae!’ cable assembly -4 m /125" | 1 eefherelevant pages
_2.—-“
TH1299 o cable assembly - 8 m / 25’ 1
CONNECTION
TH1009 o power cable 4 m/12.5’ 1
M12x1 (Gas) —— [ J———— [
TH1010 o power cable - 8 m/ 25’ 1 -
CX0079 ,.51‘ TSK 50 - M12X1 plug 1
- Control ——
TT0102 - = starter kit - 2,4 mm /.32” 1 Cable Power TSK 50

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 143



./
= trafimet TIG WELDING trafimetee

CLASSIC 17 C € eneo97a-7

CODE «—> - BB =~ TECHNICAL DATA
SF6409-10 4m 12,5 1 “;‘. 17 CLASSIC
Lamelle
SF6809-10 8m 25' L fomm- 0,55 kg ‘ 1.221b
V PEAK 113
. Argon
oe— 0,5+2,4mm ‘ .020” + 3/32”
X 35% 140A DC - 100A AC
CODE [ 5 [~
TQ0002 W insulator 10 =
TFO017 ,ﬁ#"" tig 17 torch head 1 o
[ 4] [
TF0022 «M tig 17 flex torch head 1 / ‘\M
Bwooss | liifjy—— back cap 117 mm 10 B t
EA0130 O O-ring @ 9x2 mm 10 r
TT0176 g french trigger 1
STARTER KIT
TP0004 R tig tube handle 1 :m’:)CTL:SEgRCH P ACKAGE
= See the relevant '
TH1298 _@.M cable assembly -4 m /125" | 1 eefherelevant pages
;?r"‘
TH1299 a cable assembly - 8 m/ 25’ 1
CONNECTION
TH1009 a power cable 4 m/12.5 1
M12x1 (Gas) —— [ J————— [
TH1010 a power cable - 8 m/ 25’ 1 -
CX0079 5 TSK 50 - M12X1 plug 1
- Control ——
TT0104 - = starter kit - 2,4 mm /.32” 1 Cable Power TSK 50

144 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

TIG WELDING

CLASSIC 18 C € enoosras

CODE «—> - =E N TECHNICAL DATA
SR6437-10 4m 2s | 1 a 18 CLASSIC
SR6837-10 8m 25 Tk somizal 1 '{'1-mL 0,90 kg ‘ 1.98 b
V PEAK 113
. Argon
oe— 0,5+4,0 mm ‘ .020":5/32"
X 100% 320A DC - 230A AC
g 4 bar
g3 1.5 I/min
CODE | 5 (~

TQO0002 insulator 10

TGO0018 tig 18 torch head 1

.‘-!
TGO118 AM’ tig 18 flex torch head 1
Bwooss | lilfjy—— back cap 117 mm 10 } ’

O-ring @ 9x2 mm 10 ’
1

french trigger

EA0130

TT0176

STARTERKIT
tig tube handle 1 IS INCLUDED
INTO THE TORCH PACKAGE.

See the relevant pages.

TP0005

TH1310 cable assembly -4 m/12.5° 1

-
TH1311 ? cable assembly -8 m /25" | 1
-

CONNECTION
TH1102

power cable -4 m/12.5° 1

Quick Conn. ¢=——
(Water) —>) B@U—

TSK 50 - quick plug 1 M12x1 (Gas) — @;g:

Control —— >———
starter kit - 2,4 mm /.32” 1 Cable Power TSK 50

TH1103 power cable - 8 m/ 25’ 1

CX0080

TT0104

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 145



. J
= trafimet TIG WELDING trafimetee

CLASSIC 20 C € encoo747

CODE «—> A =E =~ TECHNICAL DATA
SV6437-10 4m 12,5 1 a 20 CLASSIC
Lamelle ’/_
SV6837-10 8m 25’ TSK 50-M12x1 1 1-m l 0,85 kg ‘ 1.87 Ib
V PEAK 113
. Argon
oe— 05+32mm ‘ 020" + 1/8”
X 100% 250A DC - 175A AC
g 4 bar
g3 1.5 /min
CODE [ L
TQO0001 m insulator 10

-
TG0020 _@g’ﬁr— tig 20 torch head 1 B W/

160220 | o Ehpm—" tig 20 flex torch head 1 -

B/ . 6 -
BW0063 | back cap 147,5 mm 10 H F ] L

O-ring @ 4,5x2 mm 10 n’

EA0129

TT0176 french trigger 1 .
15

STARTERKIT
tig tube handle 1 IS INCLUDED
INTO THE TORCH PACKAGE.

See the relevant pages.

TP0007

TH1320 cable assembly -4 m/12.5° 1

L D
-
TH1321 ? cable assembly -8 m /25" | 1

CONNECTION
TH1106

power cable -4 m/12.5° 1

Quick Conn. ¢=——
(Water) —>» D@U—

TSK 50 - quick plug 1 M12x1 (Gas) — @;g:
Control e —
TT0102 i starter kit - 2,4 mm/.32” 1 Cable Power TSK 50

TH1107 power cable - 8 m/ 25’ 1

CX0080

146 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

TIG WELDING

CLASSIC 26 C € eneo97a-7

CODE «—> - E N TECHNICAL DATA
SK6409-10 4m 125 | e 1 3 26 CLASSIC
SK6809-10 8m 25' L From 0,55 kg ‘ 1.221b
V PEAK 113
. Argon
oe— 0,5+4,0mm ‘ .020” + 5/32”
X 35% 180A DC - 130A AC
CODE [ Ny
TQO0002 U insulator 10 B
TF0026 P— tig 26 torch head 1

TF0027 «M tig 26 flex torch head 1 E /
Bwooss | lilfjy—— back cap 117 mm 10 B t

O-ring @ 9x2 mm 10 n’
french trigger 1

STARTERKIT

tig tube handle 1 IS INCLUDED

INTO THE TORCH PACKAGE.
See the relevant pages.

EA0130

TT0176

TP0005

TH1354 cable assembly - 4 m/ 12.5° 1

-
TH1355 cable assembly - 8 m / 25’ 1
-

CONNECTION
TH1003 power cable -4 m/12.5° 1
M12x1 (Gas) —— [ J————— [
TH1004 power cable - 8 m/ 25’ 1 -
CX0079 TSK 50 - M12X1 plug 1
Control ——
TT0104 starter kit - 2,4 mm/.32” 1 Cable Power TSK 50

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 147



./
= trafimet TIG WELDING trafimetee

TIG 9V C € Ene0974-7

CODE «—> E &~ TECHNICAL DATA
SC4413-00 4m 12,5 1 “o‘. EXPERTIG 9V
Valve 2
SC4813-00 8m 25 M 25om | 1 frm- 045 kg ‘ 0.99 Ib
V Peak 113
OPTIONAL STARTERKIT .
Argon
CODE =
o ~ oe— 0,5+ 2,4 mm ‘ 0,020" + 3/32"
TT0101 1,6 mm 1/16" [ WR2 | 1 X
35% 110A DC - 80A AC
TT0102 2,4mm 3/32" | WR2 | 1
-
A«
B
CODE [ N7
CONSUMABLES
TQO001 Ul insulator 10 ARE NOT INCLUDED
INTO THE TORCH PACKAGE.
TFO109 __l;!sﬂ“ tig 9V torch head 1 m
TFO110 - tig 9V flex torch head 1 Connection Types
See the relevant page.
BW0063 |ISSS———— back cap 147,5 mm 10
BW0061 Q valve 10
CONNECTION
TPoo04 | (N tube handle 1
THO005 J»f power cable -4m/12.5 1 Gas Hose
TH0006 J»f power cable - 8 m / 25' 1
CX1125 57 TSKM 25 - gas tube (2m) plug 1 Power TSKM 25 / TSK 50

148 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

TIG WELDING

TIG 17V C € Ene0974-7

CODE «—> E &~ TECHNICAL DATA
SH4413-00 4m 12,5 ’: 1 3 EXPERTIG 17V
SH4813-00 8m 25’ TSKM 25-2m | 1 ‘1- 0,55 kg ‘ 1,22 1b
Valve m
SH4431-00 4m 12,5 1 V peak 113
SH4831-00 8m 25 aKs02m | 1 [ Argon
oe— 0,5+ 2,4mm ‘ 0,020" +3/32"

CODE (1) =
TT0103 1,6 mm 1/16" | WR2 | 1
TT0104 2,4mm 3/32" | WR2 | 1
TT0105 32mm 1/8" | WR2 | 1

CODE [ L 3 / 6

TQ0002 U insulator 10 n t '
TFO117 '_l;!s”“ tig 17V torch head 1 |l r
TFO118 k%éﬂ‘ tig 17V flex torch head 1 i

CONSUMABLES
Bwoose | luijjye—— back cap 117 mm 10 ARE NOT INCLUDED

INTO THE TORCH PACKAGE.

Connection Types
BW0061 Q valve 10 See the relevant page.
EA0130 O O-ring @ 9x2 mm 10
CONNECTION

TPo004 | (M tube handle 1
THO005 pr power cable -4m/12.5 1 Gas Hose
TH0006 pr power cable - 8 m / 25' 1
CX0081 5’ TSK 50 - gas tube (2m) plug 1 Power TSKM 25 / TSK 50

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 149



= trafimet K

TIG 26V

G WELDING

CODE -« E S
SM4431-00 4m 12,5 1
Valve
SM4831-00 8m 25’ TSK 50-2m 1
OPTIONAL STARTERKIT
CODE [/} L
TT0103 1,6 mm 1/16" [ WR2 | 1
TT0104 2,4mm 3/32" [ WR2 | 1
TT0105 32mm 1/8" [ WR2 | 1
CODE [
TQ0002 G insulator 10
TFO126 !;!sﬂ“ tig 26V torch head 1
TFO127 O tig 26V flex torch head 1
Bwooss | il back cap 117 mm 10
BW0062 Q valve 10
TPoo0s | (N tube handle 1
TH0007 J,f power cable -4 m/12.5 1
TH0008 J,f power cable - 8 m / 25' 1
CX0081 57 TSK 50 - gas tube (2m) plug 1

trafimet.com

C € Ene0974-7

TECHNICAL DATA
R EXPERTIG 26V
Frm- 0,80 kg ‘ 1761b
V pPeEak 113
. Argon
oe— 0,5+ 4,0mm ‘ 0,020" + 5/32"
X 35% 180A DC - 130A AC

CONSUMABLES
ARE NOT INCLUDED m
INTO THE TORCH PACKAGE.

Connection Types
See the relevant page.

CONNECTION

Gas Hose

Power TSKM 25 / TSK 50

150

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

TIG WELDING

AUTOTIG 18 C € enoooras

CODE -« =E = TECHNICAL DATA
ST4401-00 4m 12,5 1 g AUTOTIG 18
ST4801-00 8m 25’ M12x1 1 ﬂ'\_ 0.90 Kg ‘ 1.98 b
V PEAK 113
. Argon
oe— 0,5+4,0 mm ‘ .0207+5/32"
100% 320A DC - 230A AC
2 % 4 bar
a3 1.5 I/min

80mm ‘ 150mm r n
230mm
CONSUMABLES
ARE NOT INCLUDED
INTO THE TORCH PACKAGE.
CODE [ 7 N
TQ0002 E insulator 10
1
TG1001 o Autotig 18 torch head 1 ool
TPO005 | (U tig tube handle 1 3} ——— Waterin3/8"G “—
. —
TH0082 _\Pﬁ power cable -4 m/12.5’ 1 — Power M12x1 >
— Gas 1/4" G H.0
TH0083 _\Pﬁ power cable - 8 m /25’ 1 as

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 151



./
= trafimet TIG WELDING trafimetee

AUTOTIG 20 C € enoooras

CODE > [ - LY TECHNICAL DATA
SX4401-00 4m 12,5 1 a AUTOTIG 20
SX4801-00 8m 25 |miaxT 1 oy 0,85 kg ‘ 1.87 Ib
V PEAK 113
. Argon
0 e— 0,5+32mm ‘ 020" + 1/8”
100% 250A DC - 175A AC
g % 4 bar
a3 1.5 I/min
[
! B
64mm | 117mm , 1
18Tmm

CONSUMABLES

ARE NOT INCLUDED

INTO THE TORCH PACKAGE.

CODE [ ] s
TQO001 m insulator 10
CONNECTION
TG1000 O O——— Autotig 20 torch head 1
TPO007 | (U tig tube handle 1 3} ——— Waterin3/8"G “—
2 _
THO086 pﬁ power cable -4 m/12.5 1 — PowerM12x1  ——)
— Gas 1/4" G H.0

TH0087 pﬁ power cable - 8 m / 25' 1 as

152 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



= trafimet

TIG WELDING

AUTOTIG 26 C € enoooras

CODE «—> El S TECHNICAL DATA
SN4401-00 4m 12,5 1 3 AUTOTIG 26
SN4801-00 8m 25' M12x1 1 ﬂ—m 0,80 kg ‘ 1.76 b
V PEAK 113
. Argon
oe— 0,5:4,0 mm ‘ .020” + 5/32”
X 35% 180A DC - 130A AC
80mm ‘ 150mm r n
230mm
CONSUMABLES
ARE NOT INCLUDED
INTO THE TORCH PACKAGE.
CODE k -~
TQO0002 E insulator 10
CONNECTION
TF1001  p—— Autotig 26 torch head 1
TPO005 | (U tig tube handle 1
TH0007 ’f power cable -4 m/12.5 1 o — Power M12x1
THO008 ’f power cable - 8 m/ 25’ 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 153



./
= trafimet TIG WELDING trafimetee

EASY 400 PLUS q3

Input Voltage 120 Vac - 230 Vac - 50/60 Hz
Power 100 VA

Maximum welding current 431282 gg%%wvg?k”;;zrel)e)
Diameter of the wire usable for steel filler materials 0,8 mm + 1,2 mm

Diameter of the wire usable for aluminium alloys filler materials 1,0 mm + 1,6 mm

Wire spool size @200 mm + @ 300 mm

Level of protection IP 2X

Dimensions 350 x 250 x 300 mm

Net weight (MU0633) 7.5ka

n INFORMATION OF YOUR WELDING MACHINE

Producer Brand / Model

CONNECTION CABLE ASSEMBLY

1,5 m standard cable assembly 4 m standard cable assembly 8 m standard cable assembly

TH0450-01-108 THO0450-04-108 THO0450-08-108

Cable connection

I Negative pole : TSK70 (CX0025)
~——— Water IN Quick Connector

3 —  GAS mini quick connector
L——— 2 wires pin cable

L——— Water OUT Quick Connector

Positive Pole : TSK70 (CX0018)

If the cable is custom, the last 3 digits of the part number (108) correspond to the connection number

154 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



TIG WELDING

WIRE FEEDER

EASY 400 PLUS (with 2 steel rollers set 0,8 < 1,0 mm included)

MUO0633

= trafimet

n CONTROL PANEL

4 m cable

BX1371

8 m cable

BX1372

H TIG TORCH

> see the following page

n TROLLEY KIT FOR COIL WIRE

@ Max 300 mm

TT0174

EASY 400 PLUS ACCESSORIES

INDEPENDENT WIRE OUTPUT KIT
For the use of EASY 400 PLUS with any torch

Wire feeding kit for TIG manual torches, complete of
buttons for the wire speed adjustment, loading and retract.

Kit for manual torches - 4 m

TT0177

EASY 400 PLUS ROLLER SET

Wire feeding kit for TIG automatic torches, can be used in
association with any automatic welding control equipment.

Kit for automatic torches - 4 m

TT0178

For steel wire

For steel wire

?0,8+1,0mm ?1,0+12mm
(STANDARD)
FA0201 FA0202

For aluminium wire
?12+1,6mm

For aluminium wire
@1,0+12mm

FA0203 FA0204

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 155



./
= trafimet TIG WELDING trafimetee

EASY 400 PLUS q3

n Graphite liner

n Wire feeding kit

n Contact tip

TPRO Multi 20HC

= TPRO Multi 20HC ] —o 0,5+ 3,2mm
<> 4 m cable X 100% 320A DC - 220A AC
V Peak 113 2% 4 bar
f Gas Argon ad 1,5 I/min
CODE E #’
HB3804S-358-TG3 TPRO Multi 20HC - 4 m 1
GMO0956 Black nylon +12% graphite liner 4m 1,0-1,2 (Easy) 1
FEO169 TPRO Multi 20HC wire feeder kit (inclusive of TT0170 kit) 1
TTO0170 3 contact tips kit @ 0,8/ 1,0/ 1,2 mm 1
MD0222-08 Contact tip for @ 0,8 mm wire 5
MD0222-10 Contact tip for @ 1,0 mm wire 5
MDO0222-12 Contact tip for @ 1,2 mm wire 5
TPRO Multi 18HC
= TPRO Multi 18HC ] o 0,5+ 4,0 mm
-+ 4 m cable X 100% 400A DC - 280A AC
V Peak 113 g 4 bar
‘ Gas Argon a * 1,5 I/min
CODE [ [~
HB3304S-358-TG3 TPRO Multi 18HC - 4 m 1
GMO0956 Black nylon +12% graphite liner 4m 1,0-1,2 (Easy) 1
FE0179 TPRO Multi 18HC wire feeder kit (inclusive of TT0170 kit) 1
TTO0170 3 contact tips kit @ 0,8/ 1,0/ 1,2 mm 1
MD0222-08 Contact tip for @ 0,8 mm wire 5
MD0222-10 Contact tip for @ 1,0 mm wire 5
MD0222-12 Contact tip for @ 1,2 mm wire 5

156 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



TIG WELDING

= trafimet

TPRO Multi 26
o TPRO Multi 26 f Gas Argon
<> 4 m cable (] —o 0,5 + 4,0 mm
V Peak 113 X 35% 180A DC - 130A AC
CODE [ ] N
HA2604S-358-TG3 TPRO Multi 26 - 4 m 1
GM0956 Black nylon +12% graphite liner 4m 1,0-1,2 (Easy) 1
FEO179 TPRO Multi 26 wire feeder kit (inclusive of TT0170 kit) 1
TTO0170 3 contact tips kit @ 0,8/1,0/1,2 mm 1
MD0222-08 Contact tip for @ 0,8 mm wire 5
MDO0222-10 Contact tip for @ 1,0 mm wire 5
MD0222-12 Contact tip for @ 1,2 mm wire 5
AUTOTIG 20
= Autotig 20 ] 0,5+3,2mm
-+ 4 m cable X 100% 250A DC - 175A AC
V Peak 113 2B 4 bar
f Gas Argon a3 1,5 I/min
CODE [ 5 ]
HB2004P-358-TG3 Autotig 20 - 4 m 1
GM0956 Black nylon +12% graphite liner 4m 1,0-1,2 (Easy) 1
FEO189 AUTOTIG 20 wire feeder kit (inclusive of TT0170 kit) 1
TTO0170 3 contact tips kit @ 0,8/ 1,0/ 1,2 mm 1
MD0222-08 Contact tip for @ 0,8 mm wire 5
MD0222-10 Contact tip for @ 1,0 mm wire 5
MD0222-12 Contact tip for @ 1,2 mm wire 5
AUTOTIG 18
= Autotig 18 (o] — 0,5+ 4,0 mm
<> 4 m cable X 100% 320A DC - 230A AC
V Peak 113 G 4 bar
‘ Gas Argon g ‘ 1,5 I/min
CODE E #’
HB1804P-358-EG3 Autotig 18 -4 m 1
GMO0956 Black nylon +12% graphite liner 4m 1,0-1,2 (Easy) 1
FE0189 AUTOTIG 18 wire feeder kit (inclusive of TT0170 kit) 1
TT0170 3 contact tips kit @ 0,8/1,0/1,2 mm 1
MD0222-08 Contact tip for @ 0,8 mm wire 5
MD0222-10 Contact tip for @ 1,0 mm wire 5
MD0222-12 Contact tip for @ 1,2 mm wire 5

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA

157



TIG WELDING

= trafimet

TIG
CENTRAL
ADAPTORS

trafimet.com

TORCH SIDE
CODE k [~
TIG air central connector - torch
TT0108 = side 1 a1 M12x1
TToo1s - TIG water central connector - torch |
side
FY0018 * plasmar/tig centra! conngctor body - 1 ’
torch side - air Air cooled - TT0108
FY0040 ﬂ tig central cc.>nnector body - torch 1 s y
side - water = BX0046 NO.3 FA5105
5 5 ' FY0018 | ‘
i in L= &
BX0044 H male spring pin L=8mm 10 =—m— BX0044 N0.2 | '
0046 8 o <oring oin Lot 0 —o—a— BX0047 NO5 |
— male spring pin L=5mm M12X1
1/4G
BX0047 —0—0— female spring pin 10
Water cooled - TT0018 g -
8
-=5:l: BX0046 No.3
E—=— BX0044 N0 -
—o—0— BX0047 N0.5 -
\) "
FY0040
MACHINE SIDE
FY0002
CODE k ~ :
tig central connector - machine side Machine side E i
FYooo2 .} - air & water 1 —acnes® ! E TIG - electrode holder adaptor
= i : Trak-SK 50
FY0024 electrode adaptor 1 , ! - {Ej
: |
EA0254 ———{——a) | pin extractor for central adaptor 1 ' FY0024
PT0203 e female spring pins kit (5 pcs) 1 Pin extractor - EA0254

(use only for machine side)

—fF0

158 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




TIG WELDING trafimet

TIG CONNECTORS M12X1 Ce€

TSKM25 TSK50
CODE k [~ CODE [ 5 [~
CX0087 ' TSKM25-1/4Gplug | A | 1 CX0077 TSK 50 - 1/4 G plug A1

TSK 50 - 3/8 G plug A |1

CX0089

CX0090 TSKM 25 - quick plug B 1 CX0080 TSK 50 - quick plug B 1

CX0088 5‘ TSKM 25 - 3/8 G plug A |1 CX0078 5
5" TSKM 25 - M12x1 plug A |1 CX0079 5 TSK 50 - M12X1 plug A |1

TSK 50 - gas tube (2m) plug | C 1

CX1125 5 TSKM 25 - gas tube (2m) plug| C 1 CX0081

CENTRAL CONNECTORS
CODE [ 5 (] CODE [ T [~
TTO0106 L-TEC kit - air 1 EA0326 ' 90° plastic connector 1
TT0113 L-TEC kit - water 1
TT0107 Eurotig kit - air 1
TTO0114 Eurotig kit - water 1

Cce

TSKM25 - 3/8 G TSK50 - 3/8 G
CODE k [~ CODE k [~
CX0050 5" TSKM 25 - 3/8 G plug 1 CX0051 -5f TSK 50 - 3/8 G plug 1
CX0093 é‘ TSKM 25 - 1/4 G plug 1 CX0094 5“ TSK 50 - 1/4 G plug 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 159



= trafimet

ELECTRIC PLUGS

TIG WELDING

trafimet.com

-0 G

ﬁpi"s W

CODE [ 5] ~ CODE [ ~ CODE [ ~
BX0251 5 pins Tuchel-Stecker 1 BX0282 3 pins Tuchel-Stecker 1 BX0283 6 pins Amp-Stecker 1
FOR WELDING MACHINES: Messere, Migomate, FOR WELDING MACHINES: Kjellberge, Dalexe, FOR WELDING MACHINES: Lincolne
Kjellberge, EWMe, Oerlikone, Lincoln-EWSe, Dalexe, Lorche, Merklee, Telwine, Cloose.
Jaecklee, Castoline, Nimake, Lorche, L-Tece, Froniuse,
Rowace, Merklee.
ot g
6 pins s (Qb0 ins & Jfofey 3
7 pi 1 9 pi g Eg g
CODE [~ CODE [ [~ CODE [ [~
BX0476 6 pins Harting-Stecker 1 BX0477 7 pins Stecker 1 BX0478 9 pins Rechtec 1
FOR WELDING MACHINES: Migatronice. FOR WELDING MACHINES: Elektra-Bechume, FOR WELDING MACHINES: Castoline, Froniuse.
Migatronice, SVRe.
4, 3
7 pins @ 2pins A.B 4pins
6 1
7
CODE [ T [~ CODE [~ CODE [~
BX0479 7 pins Tuchel-Stecker 1 BX0481 2 pins Amp-Stecker 1 BX0482 4 pins Amp-Stecker 1
FOR WELDING MACHINES: Kjellberge, Dalexe, FOR WELDING MACHINES: Esabe. FOR WELDING MACHINES: Kemppie, UTPae.
Castoline, Saltecos, EIma-technike.
H I
DAL G ooA B 40 o N
8 pins E B 10pins goog C 7 pins 52
F 2 A ETD & T
CODE [~ CODE [~ CODE [ 5 [~
BX0483 8 pins Amp-Stecker 1 BX0484 10 pins Amp-Stecker 1 BX0486 7 pins Rechtec 1
FOR WELDING MACHINES: Esabe/WTLe. FOR WELDING MACHINES: Kemppie. FOR WELDING MACHINES: Bestere, Migatronice,
Rehme), Cifee, EASY 400 PLUS.
H
G A o ! ©03 °
8pins F B 3 pins, 3 @ 14 pins ::1
E b Cc 2 1 14
CODE [~ CODE [ [~ CODE [ [~
BX0487 8 pins Burndy-Stecker 1 BX0488 3 pins Dioden-Stecker 1 BX0489 14 pins Amp-Stecker 1
FOR WELDING MACHINES: EWMa. FOR WELDING MACHINES: ESSe, Decae. FOR WELDING MACHINES: EWMe, Telwine,
Millere, Froe, Cifee.
IS
4pins
CODE [ 5 [~
BX0516 4 pins Amphenol-Tuchel 1

FOR WELDING MACHINES: Erguse.

160 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




TIG WELDING ? trafimet

SWITCHES
BUTTON KITS

EXPERTIG
SWITCH COVER + SILICON BUTTON KITS PC-BOARDS
CODE [T ~ CODE [ Ny
Single
TT0611 ' Button 1 TT0630 y | PeBoard 1
Kit ( uttons)
Double
TT0612 ' Buttons 1 TT0634 ” (gth‘t(t)ar:d) 1
Kit uttons
Triple
Pc-Board
TT0613 ’ Buthi(:ns 1 TT0631 ’ Single Button + 1 kOhm Potentiometer 1
TT0620 Single Button + Potentiometer 1 TT0632 Pe-Board 1
Kit Single Button + 5 kOhm Potentiometer
Pc-Board
TT0633 Single Button + 10 kOhm Potentiometer 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 161



= trafimet

TIG

TORCH HEADS

EXPERTIG
CLASSIC

TIGV

AUTOTIG

vs% MANUAL

TIG WELDING

LN

2 MANUAL

trafimet.com

CODE frmmm N CODE - ~y
TF0009 H TIGO 1 TG0018 ./”‘:— TIG 18 1
TF0010 .‘M TIG 9 FLEX 1 TG0118 «@—"-’"’ TIG 18 FLEX 1
TF0222 | & E— T'%g an'-rEX 1 TG0913 .P:— TIG 18 HC 1
TFO017 F" TIG 17 1 Taoo1s | < TIG 18 HC FLEX 1
TF0022 .\M TIG 17 FLEX 1 TG0020 w— TIG 20 1
TF0024 K TIG 24 1 760220 | & g TIG 20 FLEX 1
TF0224 —" TIG 24 FLEX 1 TG0223 «W T'?zzson':fx 1
TF0026 e TIG 26 1 Taootz | (g TIG 20 HC 1
TF0027 ™ TIG 26 FLEX 1 TG0911 Br—" TIG 20 HC FLEX 1
TG0024 S— TIG 24W 1
";‘. VALVE TGO224 | = TIG 24W FLEX 1
CODE y — ~ TG0025 S TIG 25 1
TF0109 !Lé" TIGOV 1 TG0917 */&——_‘ SUPER 50 1
TFO110 .Qp" TIG 9 V FLEX 1
TFO117 '@5-“ TIG17V 1
TFO118 .\Q!i-r' TIG 17 V FLEX 1
TF0126 !ﬂ’!' TIG 26 V 1
TFO127 ,_%'g" TIG 26 V FLEX 1
vso AUTOMATIC A AUTOMATIC
CODE y— [~ CODE fom- ~
TF1000 > p—— AUTOTIG 9 1 TG1001 o AUTOTIG 18 1
TF1001 > — AUTOTIG 26 1 TG1000 PO AUTOTIG 20 1
162 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




TIG WELDING trafimet

TUNGSTEN
ELECTRODES

CODE R —— oe— > W CODE R —— oe— > W
TR0001-10 1,00 mm 150 mm 1 TR0013-10 1,00 mm 150 mm 1
TR0001-16 1,60 mm 150 mm 1 TR0013-16 1,60 mm 150 mm 1
TR0001-20 2,00 mm 150 mm 1 TR0013-20 2,00 mm 150 mm 1
TR0001-24 2,40 mm 150 mm 1 TR0013-24 2,40 mm 150 mm 1
TR0001-32 Pure 3,20 mm 150 mm 1 TR0013-32 “’“L‘:j‘g;""‘ 3,20 mm 150 mm 1
TR0001-40 Green 4,00 mm 150 mm 1 TR0013-40 cold 4,00 mm 150 mm 1
TR0002-10 1,00 mm 175 mm 1 TR0014-10 1,00 mm 175 mm 1
TR0002-16 1,60 mm 175 mm 1 TR0014-16 1,60 mm 175 mm 1
TR0002-20 2,00 mm 175 mm 1 TR0014-20 2,00 mm 175 mm 1
TR0002-24 2,40 mm 175 mm 1 TR0014-24 2,40 mm 175 mm 1
TR0002-32 320 mm 175 mm 1 TR0014-32 320 mm 175 mm 1
TR0002-40 4,00 mm 175 mm 1 TR0014-40 4,00 mm 175 mm 1

CODE — oe— -— CODE — oe— -—
TRO007-10 1,00 mm 150 mm 1 TRO017-10 1,00 mm 150 mm 1
TR0007-16 1,60 mm 150 mm 1 TR0017-16 1,60 mm 150 mm 1
TRO007-20 2,00 mm 150 mm 1 TRO017-20 2,00 mm 150 mm 1
TR0007-24 2,40 mm 150 mm 1 TR0017-24 2,40 mm 150 mm 1
TR0007-32 c‘gia(;‘:d 3,20 mm 150 mm 1 TR0017-32 La';_‘::gi“"‘ 3,20 mm 150 mm 1
TR0007-40 4,00 mm 150 mm 1 TR0017-40 4,00 mm 150 mm 1

Gray Blue
TRO008-10 1,00 mm 175 mm 1 TRO018-10 1,00 mm 175 mm 1
TR0008-16 1,60 mm 175 mm 1 TR0018-16 1,60 mm 175 mm
TR0008-20 2,00 mm 175 mm 1 TR0018-20 2,00 mm 175 mm 1
TR0008-24 2,40 mm 175 mm 1 TR0018-24 2,40 mm 175 mm 1
TR0008-32 320 mm 175 mm 1 TR0018-32 3,20 mm 175 mm 1
TR0008-40 4,00 mm 175 mm 1 TR0018-40 4,00 mm 175 mm 1

CODE R oe— -—> W CODE — oe— - |y
TR0011-10 1,00 mm 150 mm 1 TR0021-10 1,00 mm 150 mm 1
TR0011-16 1,60 mm 150 mm 1 TR0021-16 1,60 mm 150 mm 1
TRO011-20 ™ 2,00 mm 150mm | 1 TR0021-20 m 2,00 mm 150mm | 1
TR0011-24 Black 2,40 mm 150 mm 1 TR0021-24 2,40 mm 150 mm 1
TR0011-32 3,20 mm 150 mm 1 TR0021-32 Rare earth mix 3,20 mm 150 mm 1
TR0011-40 4,00 mm 150 mm 1 TR0021-40 Turquoise 4,00 mm 150 mm 1
TR0012-16 1,40 mm 175 mm 1 TR0022-10 1,00 mm 175 mm 1
TR0012-24 2,40 mm 175 mm 1 TR0022-16 1,60 mm 175 mm 1
TR0012-32 3,20 mm 175 mm 1 TR0022-20 2,00 mm 175 mm 1

TR0022-24 2,40 mm 175 mm 1
TR0022-32 3,20 mm 175 mm 1
TR0022-40 4,00 mm 175 mm 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 163



= trafimet TIG WELDING trafimetee

TIG CONSUMABLE KITS

STARTER KITS STARTER KITS
/
3 ‘\
9-20-20HC-25 9-20-20HC-25
CODE (1] = CODE [1/] &
TT0221 1,6 mm 1/16” 1 TT0101 1,6 mm 1/16” 1
TT0222 2,4 mm 3/32” 1 TT0102 2,4 mm 3/32” 1
17-18-18 HC - 26 17-18-18HC - 26
CODE 1) & CODE 1) L]
TT0223 1,6 mm 116" 1 TT0103 1,6 mm 1/16” WR2 1
TT0224 2,4 mm 3/32" 1 TT0104 2,4 mm 3/32” 1
TT0105 3.2 1/8” [ wr2 | 1
24 - 24W mm
CODE [1/] & 24 - 24W
TT0226 1,6 mm 1/16” 1 CODE ()] [ ]
TT0203 1,6 mm 1/16” 1
TT0204 2,4 mm 3/32” 1

164 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



TIG WELDING ? trafimet

TIG CONSUMABLE KITS

STARTER KITS WITH BACK CAP MASTER KITS

9-20-20HC-25 9-20-20HC-25
CODE 1) — & CODE [ =
TT0021 1,6 mm 116 1 TT0109 1,0 mm - 1,6 mm - 2,0 mm - 2,4 mm - 3,2 mm 1
TT0022 2,4 mm 3/32” 1

17-18-18 HC - 26 17-18-18 HC - 26
CODE 1] — Ll CODE 1) &
TT0023 1,6 mm 116 1 TT0110 1,6 mm - 2,0 mm - 2,4 mm - 3,2 mm - 4,0 mm 1
TT0024 2,4 mm 3/32” 1
TT0025 3,2mm 1/8” 1

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 165



<|I I

trafimet TIG WELDING trafimet.com

TIG9/20/20HC /25 - CONSUMABLES

il == | =

|

STANDARD
CODE Gr [1/] <«—> | REF | CODE Gr 1)) <«—> | REF |
TC0012 = 4| 64mm | 1/47 | 30mm | 13N08 |10 TDO0003-05 05mm | .020" | 25mm | 13N20 |10
TC0013 5| 8mm | 516" | 30mm | 13N09 |10 TD0003-10 1,0mm | .040" | 25mm | 13N21 |10
TC0014 6| 98mm | 3/8” | 30mm | 13N10 |10 TD0003-16 16mm | 116" | 25mm | 13N22 |10
TC0015 ] 7/112mm| 7716 | 30mm | 13N11 | 10 TD0003-20 20mm | 5/64” | 25mm - 10
TC0016 8|127mm| 1/22 | 30mm | 13N12 | 10 TD0003-24 24mm | 3/32” | 25mm | 13N23 |10
TCO0017 10/ 157mm | 5/8” | 30mm | 13N13 |10 TD0003-32 32mm | 1/8” | 25mm | 13N24 |10
TC0096 4] 65mm | 1/4” | 48mm | 796F71 | 10 TQ001 i 598882 | 10
TC0097 C_ L] [s5] e8mm | 516" | 48mm | 796F72 | 10
TC0098 6| 95mm | 3/8” | 48mm | 796F73 | 10 BWOOE3 | 'immm—— 147.5mm| 41v24 | 10
TC0101 4| 65mm | 1/4” | 63mm | 796F75 | 10 BW0064 == 53mm | 41v35 |10
Toot02 | ] [5] smm | 516" | 63mm | 796F76 | 10 BW0065 P 175mm | avas | 10
TC0103 4] 65mm | 1/47 | 89mm | 796F79 | 10
TE0003-05 05mm | .020" | 21mm | 13N25 |10 EA0129 O 10
TE0003-10 1,0mm | .040" | 21mm | 13N26 |10
TE0003-16 i 16mm | 116" | 21mm | 13N27 |10
TE0003-20 20mm | 564" | 21mm - 10
TE0003-24 24mm | 3/32” | 21mm | 13N28 |10
TE0003-32 32mm | 1/8” | 21mm | 13N29 |10
GAS LENS GAS LENS XL (JUMBO)
CODE Gr [1/] <«—>» | REF | CODE Gr 1)) <«—>» | REF |&
TC0041 4| 64mm | 1/47 |255mm | 53N58 |10 il TCoi18 8|127mm | 1/2° | 48mm | 57N74 |10
TC0042 5| 8mm | 516" |255mm | 53N59 |10 il TCoi19 G 10/ 157mm | 5/8” | 48mm | 53N88 | 10
TC0043 [I:] 6| 98mm | 8/8 |255mm | 53N60 | 10 il TCo120 12/195mm | 3/4” | 48mm | 53N87 |10
TC0044 7|112mm | 7/16" |255mm | 53N61 | 10 PY TEO0088-16 1,6mm | 116 | 40mm |45V116S | 2
TC0045 8 |127mm | 1/27 |255mm | 53N61S | 10 bY TE0088-24 W:I 24mm | 3/32” | 40mm | 45V64S | 2
TE0005-05 0,5 mm .020” 22 mm 45V41 10 pA TE0088-32 3,2 mm 1/8” 40 mm - 2
TE0005-10 1,0mm | .040° | 22mm | 45v42 |10 Y TD008s-16 16mm | 1/16” | 40mm | 13N22L | 10
TE0005-16 mﬁm 16mm | 116" | 22mm | 45v43 |10 kY TD0088-20 20mm | 5/64” | 40mm - 10
TE0005-20 | .4 cuzn 20mm | 564" | 22mm 10 kY TDo08s-24 24mm | 3/32” | 40mm | 13N23L | 10
TE0005-24 24mm | 3/32” | 22mm | 45v44 |10 &Y TD0088-32 32mm | 1/8” | 40mm | 13N24L | 10
TE0005-32 32mm | 1/8” | 22mm | 45v45 |10 W Tooos [ﬂ] 54N6320 | 10
TE0025-16 16mm | 116" | 22mm - 10
TE0025-20 Vi 20mm | 564" | 22mm | - |10 BWO063 | 1475 mm)| 41v24 | 10
TE0025-24 cu 24mm | 3/32" | 22mm - 10 BW0064 == 53mm | 41v35 |10
TE0025-32 32mm | 1/8” | 22mm - 10 S . 175mm | avas | 10
TD0003-05 05mm | .020" | 25mm | 13N20 |10
TD0003-10 1,0mm | .040" | 25mm | 13N21 |10 EA0129 @) 10
TD0003-16 16mm | 116" | 25mm | 13N22 |10
TD0003-20 20mm | 5/64” | 25mm - 10
TD0003-24 24mm | 3/32” | 25mm | 13N23 |10
TD0003-32 32mm | 1/8" | 25mm | 13N24 |10 STANDARD CASLENS JUMBO
TQ0001 W 598882 | 10 _—
BWO0063 | MiE—— 147,5mm| 41v24 |10
BW0064 L= 53mm | 41v35 |10
BW0065 L 17,5mm | 41v33 |10
EA0129 O 10 e

Figure 1 Figure 2 Figure 3

Protection gas flow is usually guttered by a STANDARD ceramic nozzle (Figure 1).
Such flow is affected by turbulences of torch head which are caused by the inlet
pressure. In order to assure an uniform gas distribution, above all in stainless steel,
titanium and aluminium alloys welding, we suggest the use of GAS LENS spare parts.
The electrode holder equipped with a gas lens net, uniforms the flow (Figure 2) and
aid to save the protection gas. Where permitted by external dimensions, it is
recommended the JUMBO version which increases the protected surface with
advantage for welding quality (Figure 3).

166 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



TIG WELDING trafimet

TIG17/18/ 18 HC/ 26 - CONSUMABLES

[T

STANDARD
CODE Gr [1/] <«—>» | REF |& CODE Gr (1)) <—>» | REF |
TCO0002 4| 6,4 mm 1/4” 47 mm 10N50 | 10 Kl TD0001-05 0,5 mm .020” 50 mm 10N21 10
TC0003 @ 5 8 mm 5/16” 47 mm 10N49 | 10 Kl TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TC0004 6| 9,8mm 3/8” 47 mm 10N48 | 10 Kl TD0001-16 1,6 mm 1/16” 50 mm 10N23 | 10
TCO0005 7 | 11,2mm 7/16” 47 mm 10N47 | 10 K TD0001-20 o 2,0 mm 5/64”" 50 mm - 10
TCO0006 8 | 12,7 mm 1/2” 47 mm 10N46 | 10 Kl TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TCO0007 | D 10| 15,7 mm 5/8” 47 mm 10N45 | 10 Kl TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TC0008 12 19 mm 3/4” 47 mm 10N44 | 10 K§ TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TCO0091 5 8 mm 5/16” 76 mm 10N49L | 10 K] TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10
TC0092 C—1( D |6/ 95mm]| 38 | 76mm | 10N4sL | 10 AW Qo002 U 18cG | 10
TC0093 7] 11 mm 76 mm 10N47L | 10
TE0001-05 05mm | .020" | 47mm | 10N29 |10 4| reuusT { - |10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10 BWO0056 1= 58 mm 57Y03 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 10 BWO0G6 | oS 117 mm s7v02 | 10
TE0001-20 W 2,0 mm 5/64”" 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10 BWO0067 | W8 22,5mm | 57Y04 |10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10 EA0130 O 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10 * ONLY FOR 18 HC
GAS LENS GAS LENS XL (JUMBO)
CODE Gr [1/] <—>» | REF |& CODE Gr [1/] <—>» | REF |&
TCO0031 4| 6,4 mm 1/4” 42 mm 54N18 | 10 TCO0118 8 | 12,7 mm 1/2” 48 mm 57N74 | 10
TC0032 5 8 mm 5/16” 42 mm 54N17 | 10 TCO0119 |::| 10| 15,7 mm 5/8” 48 mm 53N88 | 10
TC0033 E(I:l 6] 9,8mm 3/8” 42 mm 54N16 | 10 TC0120 12| 19,5 mm 3/4” 48 mm 53N87 | 10
TC0034 7| 11,2mm 7/16” 42 mm 54N15 | 10 TE0009-16 1,6 mm 1/16” 51 mm 45V16 2
TCO0035 8 | 12,7 mm 1/2” 42 mm 54N14 | 10 TE0009-24 FR—, 2,4 mm 3/32” 51 mm 45V64 2
TCO0036 D 11| 19 mm 3/4” 42 mm 53N87 | 10 TE0009-32 3,2 mm 1/8” 51 mm 995795 | 2
TC0037 17,2 mm 28,6 mm | 54N19 | 10 TE0009-40 4,0 mm 5/32” 51 mm 45V63 2
TC0086 8 mm 5/16” 76 mm | 54N17L | 10 TD0001-05 0,5 mm .020” 50 mm 10N21 10
TC0087 \:@ 9,5 mm 3/8” 76 mm | 54N16L | 10 TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TC0088 7] 11 mm 76 mm 54N15L | 10 TD0001-16 1,6 mm 1/16” 50 mm 10N23 | 10
TE0006-05 0,5 mm .020” 50 mm 45vV29 | 10 TD0001-20 o 2,0 mm 5/64” 50 mm - 10
TE0006-10 1,0 mm .040” 50 mm 45V24 | 10 TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TE0006-16 1,6 mm 1/16” 50 mm 45V25 | 10 TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TE0006-20 [IIWD 2,0 mm 5/64”" 50 mm - 10 TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TE0006-24 Cu + Cuzn 2,4 mm 3/32” 50 mm 45V26 | 10 TD0001-48 4,8 mm 3/16” 50 mm 30028 10
TEO0006-32 3,2 mm 1/8” 50 mm 45V27 10 TQ0027 W 54N63 10
TE0006-40 4,0 mm 5/32” 50 mm 45v28 | 10
TD0022-10 1,0mm | .040° | 52mm - 1o BiewEE | - 58mm | 57Y03 |10
TD0022-16 1,6 mm 1/16” 52 mm - 10 BW0066 [Le——— 117 mm 57Y02 |10
TD0022-24 (= 2,4 mm 3/32” 52 mm - 10
BWO0067 | g 225mm | 57Y04 |10
TD0022-32 3,2 mm 1/8” 52 mm - 10
TD0022-40 4,0 mm 5/32" 52 mm - 10 EA0130 O 10
TQO0003 DJ] 54N01 10
BW0056 =] 58 mm 57Y03 | 10
BW0066 = 117 mm 57Y02 |10
BWO0067 | g 22,5mm | 57Y04 |10
EA0130 O 10 STANDARD GAS LENS JUMBO
Protection gas flow is usually guttered by a STANDARD ceramic nozzle (Figure 1). @
Such flow is affected by turbulences of torch head which are caused by the inlet
pressure. In order to assure an uniform gas distribution, above all in stainless steel,
titanium and aluminium alloys welding, we suggest the use of GAS LENS spare parts.

The electrode holder equipped with a gas lens net, uniforms the flow (Figure 2) and

aid to save the protection gas. Where permitted by external dimensions, it is < - ‘-
recommended the JUMBO version which increases the protected surface with ) ] ]
advantage for welding quality (Figure 3). Figure 1 Figure 2 Figure 3

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 167



<|I I

traﬁmet TIG WELDING trafimet.com

TIG17/18/18 HC/ 26 - STUBBY CONSUMABLES

il =—a [ S

2] 3] 4]

STUBBY STUBBY GAS LENS
CODE Gr (1) <«—>» | REF | CODE Gr (1] <«—>» | REF |
il TCoo12 =l 4| 64mm | 1/4” 30mm | 13N08 | 10 il TCo041 4| 64mm | 1/4” |255mm | 53N58 | 10
il TC0013 5| 8mm 5/16” | 30mm | 13N09 |10 il TCO0042 5| 8mm 5/16” | 255mm | 53N59 | 10
il TCO0014 6| 98mm | 3/8” 30mm | 13N10 | 10 il TCO0043 D:D 6| 98mm | 38" |255mm| 53N60 | 10
il TCo015 [T 7| 112mm | 746" | 30mm | 13N11 |10 il TC0044 7| 112mm | 7/16” |255mm | 53N61 | 10
il TCo016 8| 127mm | 1/2 30mm | 13N12 |10 il TCo045 8|127mm | 1/2” |255mm | 53N61S | 10
il TCO017 10| 157 mm | 5/8” 30mm | 13N13 |10 Pl TE0095-16 1,6mm | 116" | 29 mm - 10
il TC0096 4| 65mm | 1/4” 48mm | 796F71 | 10 Pl TE0095-20 {ljmu 20mm | 5/64” | 29 mm - 10
l  TCo097 C_ 1] [5] smm | 516" | 48mm | 796F72 | 10 Bl TE0095-24 | . Guzn 24mm | 3/322 | 29mm - 10
il TCo098 6| 95mm | 3/8” 48 mm | 796F73 | 10 Pl TE0095-32 32mm | 1/8” 29 mm - 10
il TCo101 4| 65mm | 1/4” 63 mm | 796F75 | 10 k] TD0095-16 1,6mm | 1/16” | 30,7 mm - 10
i TC0102 I:Cﬂ 5| 8mm 5/16 63 mm | 796F76 | 10 K TD0095-20 - 20mm | 5/64” | 30,7 mm - 10
il TCo103 4| 65mm | 1/4” 89mm | 796F79 | 10 kY TD0095-24 24mm | 3/32” |30,7mm - 10
Pl TE0002-00 il 1,0-3.2 mm|.040"-1/8" | 24,5 mm | 17CB20 | 10 K TD0095-32 32mm | 1/8” |30,7mm - 10
Kl TD0002-10 1,0mm | .040" | 29mm | 10N22S | 10 By TQO095 (] 18CG20 | 10
k) TD0002-16 1,6mm | 1/16” | 29mm | 10N23S | 10 M Qo096 (] 10
kKl TD0002-20 =1 2,0 mm 29 mm 10 |
) TD0002-24 24mm | 3/32” | 29mm | 10N24S | 10 B0 p— 58mm | 57Y08 | 10
kY TD0002-32 32mm | 1/8” 29mm | 10N25S | 10 BWO0066 | Mi—= 117mm | 57v02 |10
el TQ0002 u 18CG | 10 BW0067 148 225mm | 57Y04 | 10
M TQo008 * 1) - |10 EA0130 @) 10
BWO0056 M= 58 57Y03 | 10
mm * ONLY FOR 18 HC
BW0066 | = 117 mm | 57Y02 |10
BW0067 - 225mm | 57Y04 |10 STUBBY GAS LENS (C u)
EA0130 O 10 CODE Gr 1) <«—>» | REF |S
TC0041 4| 64mm | 1/4” |255mm | 53N58 | 10
*ONLY FOR 18 HC TC0042 5| 8mm 5/16” | 255 mm | 53N59 | 10
TC0043 D:D 6| 98mm | 38" |255mm| 53N60 | 10
TC0044 7| 112mm | 7/16” |255mm | 53N61 | 10
TC0045 8|127mm | 1/2” |255mm | 53N61S | 10
TE0096-16 1,6mm | 1/16” | 30,6 mm - 10
TE0096-20 fli=m 20mm | 5/64” | 30,6 mm - 10
TE0096-24 cu 24mm | 3/32” |30,6mm - 10
TE0096-32 32mm | 1/8” |30,6 mm - 10
TD0096-16 1,6 mm 1/16” 33 mm - 10
TD0096-20 : 20mm | 5/64 33 mm - 10
TD0096-24 24mm | 3/32” | 33mm - 10
TD0096-32 32mm | 1/8” 33 mm - 10
TQ0095 ] 18CG20 | 10
TQO096 * q 10
BW0056 L= 58mm | 57Y03 |10
The Stubby collets allow the use of the small nozzles of the 9/20
series on the 17/18/26 torch bodies. BW0066 Ii=— 117 mm | 57Y02 | 10
BW0067 | g 225mm | 57Y04 |10
EA0130 O 10

* ONLY FOR 18 HC

168 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



TIG WELDING ? trafimet

TIG 24 / 24W - CONSUMABLES

|WEE

3] 4]

STANDARD GAS LENS

CODE Gr (1)) <«—>» | REF | CODE Gr (1)) <—>» | REF |
TC0021 165| 4 mm 5/32” | 16mm | 53N23 | 10 TC0041 4| 6,4mm 1/4” | 255mm | 53N58 | 10
TC0022 H:D 4 | 6,4mm 1/4” | 16,5mm | 53N24 | 10 TC0042 5| 8mm 5/16” | 255mm | 53N59 | 10
TC0023 5 | 8mm 5/16” | 156mm | 53N25 | 10 TC0043 D:D 6| 9,8mm 3/8” | 255mm | 53N60 | 10
TC0024 6 | 9,8mm 3/8” | 156mm | 53N27 |10 TC0044 7|11,2mm | 716" |255mm | 53N61 | 10
TC0027 :G 4 | 6,4mm 1/4” 29mm | 53N28 |10 TC0045 8|127mm| 1/2” | 255mm | 53N61S | 10
TC0028 6 | 9,8mm 3/8” 29mm | 53N26 | 10 TE0005-05 05mm | .020" | 22mm | 45V41 |10
TE0004-05 05mm | .020” 12mm | 53N17 | 10 TE0005-10 W@m 1,0mm | .040" | 22mm | 45v42 |10
TE0004-10 el 1,0mm | .040” 12mm | 53N18 | 10 TE0005-16 1,6mm | 1/16” | 22mm | 45v43 |10
TE0004-16 1,6mm | 116" | 12mm | 53N19 | 10 TE0005-20 Cu + Cuzn 20mm | 5/64” | 22mm 10
TE0004-24 24mm | 3/32” | 12mm |24CB332| 10 TE0005-24 24mm | 3/32” | 22mm | 45V44 |10
TD0004-10 1,0mm | .040” 14mm | 53N16 | 10 TD0005-05 05mm | .020° | 23mm | 53N62 | 10
TD0004-16 == 1,6mm | 1/16” | 14mm | 53N14 |10 TD0005-10 1,0mm | .040" | 23mm | 53N63 | 10
TD0004-24 24mm | 3/32” | 14mm | 24C332 | 10 TD0005-16 1,6mm | 1/16” | 23mm | 53N64 | 10
TQ0004 m 53N22 10 TD0005-24 2,4 mm 3/32” 23 mm [24GLC332| 10
TQ0024 iy 53N66 | 10

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 169



= trafimet

TIG SUPER 50 - CONSUMABLES

TIG WELDING

trafimet.com

STANDARD 500A FOR @ 1,6+-4,8 ELECTRODES STANDARD 400A
CODE Gr 1] <«—>» | REF |& CODE Gr [1/] <«—>» | REF |&
TCO0118 8 |127mm | 1/2” 48mm | 57N74 |10 TC0002 4] 64mm | 14 47mm | 10N50 |10
TC0119 [:| 10| 157 mm | 5/8” 48mm | 53N88 | 10 TC0003 oD 5| 8mm 5/16” | 47mm | 10N49 |10
TC0120 12/ 195mm |  3/4” 48mm | 53N87 |10 TC0004 6| 98mm | 3/8 47mm | 10N48 |10
TE0097-16 1,6mm | 1716 - 2 TC0005 71112mm | 7716 | 47mm | 10N47 | 10
TE0097-24 24mm | 3/32” - 2 TC0006 8|127mm| 172 47mm | 10N46 |10
TE0097-32 B 32mm | 1/8” - 2 TC0007 [ D [10]157mm | s/ 47mm | 10N45 |10
TE0097-40 40mm | 5/32” - 2 TC0008 12| 19 mm 3/4” 47mm | 10N44 |10
TE0097-48 48mm | 3/16” - 2 TC0091 5| 8mm 5/16” | 76mm | 10N49L | 10
TE0098.48 16-48| 1/16" = _ ; TC0092 C—1 D |6]95mm| 3 76 mm | 10N48L | 10
mm 3/16” TC0093 7] 11mm 76 mm | 10N47L | 10
TD0097-16 1,6mm | 1/16” - 10 TE0001-05 05mm | .020" | 47mm | 10N29 |10
TD0097-24 24mm | 3/32” - 10 TE0001-10 1,0mm | .040" | 47mm | 10N30 |10
TD0097-32 = 32mm | 1/8” - 10 TE0001-16 16mm | 116" | 47mm | 10N31 |10
TD0097-40 40mm | 5/32” - 10 TE0001-20 M 20mm | 5/64” | 47 mm - 10
TD0097-48 48mm | 3/16” - 10 TE0001-24 24mm | 3/32” | 47mm | 10N32 |10
TQ0993 [ﬂ] _ 10 TE0001-32 32mm | 1/8” 47mm | 10N28 |10
TE0001-40 40mm | 5/32” | 47mm | 406488 | 10
BIV0056 _— 56mm | 57Y03 | 10 TE0001-48 48mm | 316" | 47mm | 30126 | 10
BWO0066 hijl—— 117 mm 57Y02 | 10 TD0001-05 0,5 mm .020” 50 mm 10N21 10
N g 2o | s7vos | 10 TD0001-10 1,0mm | .040" | 50mm | 10N22 |10
’ TD0001-16 16mm | 1/16” | 50mm | 10N23 |10
EA0130 O 10 TD0001-20 20mm | 5/64” | 50 mm - 10
TD0001-24 24mm | 3/32” | 50mm | 10N24 | 10
TD0001-32 32mm | 1/8” 50mm | 10N25 |10
STANDARD 500A FOR @ 6,4 ELECTRODES TD0001-40 40mm | 5/32" | 50mm | 54N20 | 10
TD0001-48 48mm | 3/16” | 50mm | 30028 |10
CODE Gr o <«—>| REF | TQO008 0 - 1o
TC0118 G 8 |127mm | 1/2” 48mm | 57N74 |10 BW0056 — s | 57v0s |10
TCO0119 10| 157 mm | 5/8” 48mm | 53N88 |10
TC0120 12/ 195mm| 34 | 48mm | 53N87 | 10 BIW00EG = 117 mm | 57Y02 | 10
E0097-68 T oo | 1 ; BWO0067 | g 225mm | 57Y04 |10
4 : - EA0130 O 10
Les:at W . 10 Series 18 HC parts can be used for Super 50 at 400A or less.
BW0993 == 64mm | 1/4" - 10
BW0994 | g 64mm | 1/4" - 10
EA0130 O 10

9 6.4mm /1/4" : collet (part 3) is included in the back cup (5); part 2b not required.

170

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




TIG WELDING ? trafimet

TIG CONSUMABLES
BLISTER

- et

CODE [ 5 Ffum- | Posxf A x Ny CODE k Fomm- | pesx A A x Ny
BWO0056P Q== tigcap 58 17181 5 10 TE0001P16 o16 17718 3 10
mm -26 -26
BWO0064P == backcap53 | g 50 | 3 10 TE0001P20 @20 |1718 3 10
BWOO65P 148 backcap 1 g9_20 | 3 10 TE0001P24 024 |17T218 3 10
BWO0067P | wilig backcap |17°181 3 10 TE0001P32 o3z |T7318 3 10
17-18 17-18
TC0003P O] ars " 6 10 TE0001P40 240 " 3 10
17-18
TC0004P () aré " 6 10 TE0003P16 216 | 9-20| 3 10
17-18
TC0005P D ar7 " 6 10 TE0003P20 20 |9-20| 3 10
17-18
TC0006P [ ] ar8 " 6 10 TE0003P24 @24 | 9-20| 3 10
TC0007P |:[] grio |75 181 s 10 TE0003P32 @32 9-20| 3 10
TC0008P I:l] g2 |T75081 6 10 TQO001P [ﬂ insulator | 9-20 | 3 10
TC0012P 1] [ gr4 9-20| 6 10 TQO002P N insulator | 1721813 10
TC0013P 11 g5 9-20| 6 10
TCO014P ) aré 9-20| 6 10
TC0015P I:[] ar7 9-20| 6 10
TCO016P I:l] ar8 9-20| 6 10
TC0017P I:l] gr10 | 9-20| 6 10
TD0001P16 o16 |TT318 a4 10
TD0001P20 @20 |173M8 4 10
TDO001P24 | =l @24 170181 4 10
TD0001P32 @32 |17318 4 10
TD0001P40 oa0 |17 M8 4 10
TDO003P16 016 | 9-20| 4 10
TD0003P20 020 | 9-20| 4 10
(==
TD0003P24 024 | 9-20| 4 10
TD0003P32 032 | 9-20| 4 10

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 171



./
= trafimet ACCESSORIES trafimetee

QUICK
CONNECTORS
WATER - MINI GAS

WATER
/Xi
ol
FIXED NUT
CODE E COLOR | gy CODE o COLOR |y CODE A COLOR | Ny
FA3020 water - @ 6 mm - 10 FA3045 @6 mm - 10 FA3066 1/8 G - 10
FA3083 water - @ 8 mm - 10 FA3046 @8 mm - 10
FA3047 210 mm - 10
FA3075 @ 6 mm red 10
FA3076 @8 mm red 10 A
FA3085 @6 mm blue 10
FA3086 8 mm blue | 10
MOVABLE NUT
CODE A COLOR |y
CODE [ 5 COLOR |y ﬁ FA3051 M 14x1 - 10
water - 5/8-18 FA3052 %G - 10
FA1088 1
UNF LH FA3053 3/8 G - 10
CODE A COLOR |y
FA3044 1/8 G - 10
FA3074 1/8 G red | 10
FA3084 1/8 G blue | 10
MINI GAS
Y
= 2o
H-"
CODE [ 5 COLOR |y CODE [ 5 COLOR |y
FA3081  |mini GAS - @5 mm - 10 FA3054 @5mm - 10

172 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



ACCESSORIES trafimet

REDUCTIONS

> — >
CODE ‘ ‘ A ‘ L] ‘ ‘ CODE ‘ ‘ F ‘ wyy ‘ ‘ CODE ‘ ‘ H ‘ yy ‘
FA5121 A M12x1 1 FA5004 . 38" G ; H
FA5122 9/16-18 UNF | 1
FA5045 9/16-18 UNF | 1 FA5146 M12x1 1
FA5123 — 3/8" G 1
FA M 14x1
FA5124 174G M14x1 1 5049 M12x1 1 M12x1
> > >
CODE ‘ ‘ B ‘ L] ‘ ‘ CODE ‘ ‘ G ‘ L] ‘ ‘ CODE ‘ ‘ M ‘ L] ‘
B 1/86 M
=y FA5131 — 3/8" G 1 =1
FA5125 1/8” G 1 % FA5114 @ M10x1 1
+t FA5132 1 1/4” G 1
1/4 G G M12x1
>
cooE | ‘ c L
FA5003 c M14x1 1
FA5028 1/8” G 1
FA5029 g 1/4” G 1
FA5039 +— M10x1 1
3/8G
FA5040 M12x1 1 Argon/CO
2
>
coDE | | ) | FA0012
FA5105 +2+ 1/4” G 1 EA0120
OR
FA5106 g 3/8” G 1 - Jo7
— ﬂ7[@ﬂﬂj@WW]3/sc @ FA0009
M 12x1
FA5110 M10x1 1 FA0O11 . GD:MD
FA0010 FA0008 | 1o6
: FA3019
. |
coE | | E L L"'W””
. FA3069
FA5107 +5+  [5/8"-18UNFRH| 1 071 174G ===
FA0051 @ @ ------ (o] o6
FA5108 3/8” 18 UNFRH 1 g9 146 -~ FAODS3 Fatosa FA3033
I FA0052
FA5109 M1 [7/8” - 18 UNFRH| 1 1746 |- Wiz 47
fatos  A3067
>
cobE | \ B |
WIE[@:MW M12x7 ===+
1/4G H f—
FA3043 ! -
fikl [ 8- @=n1s
: FA1071 FA3035
. Turzar -
FA5129 [i 1/4” G 1 g IE[[[@]W M12x1 FA0055
FA0054
—
1/4 G

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 173



= trafimet

CABLE
CONNECTORS
PANEL SOCKETS / PLUGS

ACCESSORIES

trafimet.com

C € ene0974-12

=i g

AWG = American Wire Gauge

%} %}
TBE MINI TBE MINI
CODE :::) 7] o Xeo% | AwWG | ingy CODE :::) 7] o Xeo% | Awc | gy
CX0030 10-25mmz| 14mm | 32mm | 200A 6-4 | 100 CX0529 10-25mm2| 14mm | 32mm | 200A 6-4 1
CX0530 10-25mm2| 14mm | 32mm | 200A 6-4 1
|| H ‘ H E o || H ‘ H E i
TBE STD TBE STD
CODE [:::) 7] o Xeo% | Awc | gy CODE [:::) 7] o Xeon | Awc | gy
CX0558 35-70mm2| 21mm | 38mm | 400A 1-2/0 | 1 CX0560 35-70mm2| 21mm | 38mm | 400A 1-2/0 | 1
CX0058 35-70mm2| 21mm | 38mm | 400A 1-2/0 | 50
CX0559 70-95mm2| 24mm | 38mm | 500A | 2/0-3/0 | 1
CX0059 70-95mm?| 24mm | 38mm | 500A | 2/0-3/0 | 50
om 1] g CE - o i i 0 -
TBE HIGH TBE ULTRA
CODE [:::) 7] o Xeo% | Awc | gy CODE [:::) 7] o Xeo% | Awc |y
CX0031 35-70mm2| 21mm | 49mm | 400 A 2:2/0 | 50 CX0033 | 95-120mm2| 28mm | 44mm | 590A | 3/0-4/0 | 25
CX0531 35-70mm2| 21mm | 49mm | 400A 2:2/0 | 1 CX0533 | 95-120mm2| 28mm | 44mm | 590A | 3/0-4/0 | 1
CX0032 70-95mm2| 24mm | 49mm | 500A | 2/0-3/0 | 50
CX0532 70-95mm?| 24mm | 49mm | 500A | 2/0-3/0 | 1

174

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA




ACCESSORIES ? trafimet

CABLE C € ene0974-12

CONNECTORS o

PANEL SOCKETS / PLUGS
G| E = o HE )

TSE MINI TBE MINI PLASMA 90°
CODE [:::) 7] [/} Xeo% | Awc | gy CODE [:::) 7] [/} Xeo% | Awc | gy
CX0010 10-25mm2| 14mm | 32mm | 200A 6-4 | 100 CX0180 10-25mm2| 14mm | 32mm | 200A 6-4 | 200

| H H E j i @
TSE STD TBE MINI PLASMA
CODE [:::) 7] [/} Xeo% | Awc | gy CODE [:::) 7] [/} Xeo% | AWG | gy
CX0072 35-70mm2| 21mm | 38mm | 400A 2-2/0 | 50 CX0015 10-25mm2| 14mm | 32mm | 200A 6-4 | 100

CX0073 70-95mm2| 24mm | 38 mm 500 A 2/0-3/0 | 50
CX0572 35-70mm?| 21mm | 38 mm 400 A 2-2/0 1
CX0573 70-95mm?2| 24mm | 38 mm 500 A 2/0-3/0 1

=il

CX0070

TSE HIGH ADAPTER SK
CODE [:::) 7] [/} Xe6o% | Awc | gy CODE [:::) 7] [/} Xe6o% | Awc | gy
CX0012 35-70mm2| 21 mm 49 mm 400 A 2-2/0 50 CX0070 10-25mm2| 21 mm 38 mm 1
CX0013 70-95mm?| 24mm | 49mm | 500A | 2/0-3/0 | 50

AWG = American Wire Gauge

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 175



./
= trafimet ACCESSORIES trafimetee

CABLE C € ene0974-12

CONNECTORS
SOCKETS / PLUGS

S -
TSK - BLACK TBK - BLACK
CODE ® 7] X 60% AWG ~ CODE :::) 7] X 60% AWG =~y
CX0020 10-25mm2| 14 mm 200 A 6-4 100 CX0040 10-25mmz| 14 mm 200 A 6-4 100
CX0520 10-25mm2| 14 mm 200 A 6-4 1 CX0540 10-25mmz| 14 mm 200 A 6-4 1
CX0021 35 mm? 21 mm 250 A 2 50 CX0041 35 mm? 21 mm 250 A 2 50
CX0521 35 mm? 21 mm 250 A 2 1 CX0541 35 mm? 21 mm 250 A 2 1
CX0022 50 mm? 21 mm 315 A 1/0 50 CX0042 50 mm? 21 mm 315 A 1/0 50
CX0522 50 mm? 21 mm 315 A 1/0 1 CX0542 50 mm2 21 mm 315A 1/0 1
CX0023 70 mm? 24 mm 400 A 2/0 50 CX0043 70 mm2 24 mm 400 A 2/0 50
CX0523 70 mm? 24 mm 400 A 2/0 1 CX0543 70 mm2 24 mm 400 A 2/0 1
CX0025 70 mm? 21 mm 400 A 2/0 50 CX0067 70 mm2 21 mm 400 A 2/0 50
CX0525 70 mm? 21 mm 400 A 2/0 1 CX0567 70 mm2 21 mm 400 A 2/0 1
CX0024 95 mm? 24 mm 500 A 3/0 25 CX0044 95 mm2 24 mm 500 A 3/0 25
CX0524 95 mm? 24 mm 500 A 3/0 1 CX0544 95 mm2 24 mm 500 A 3/0 1
TSK - RED TBK - RED
CODE [:::) 7. X 60% AWG ~ CODE :::) 7. X 60% AWG ~
CX0519 10-25mm?| 14 mm 200 A 6-4 1 CX0545 10-25mm2| 14 mm 200 A 6-4 1
CX0516 35 mm? 21 mm 250 A 2 1 CX0547 35-70mmz| 21 mm 400 A 2/0 1
CX0517 50 mm? 21 mm 315 A 1/0 1
CX0518 70 mm? 21 mm 400 A 2/0 1
== ¥ =8 ¥
—Cc ] Svagl ' i
| ey — - e — -
TSKULTRA TBK ULTRA
CODE ® 7] X 60% AWG ~ CODE [:::) 7] X 60% AWG [~
CX0066 | 95-120mm? 28 mm 590 A 3/0-4/0 | 15 CX0046 | 95-120mm? 28 mm 590 A 3/0-4/0 | 15
CX0566 | 95-120 mm? 28 mm 590 A 3/0-4/0 1 CX0546 | 95-120mm? 28 mm 590 A 3/0-4/0 1

AWG = American Wire Gauge

176 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



trafimet.com ? trafimet

All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA 177



? tra fi m et trafimet.com

178 All trademarks are exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Trafimet Group SpA



i Description . Gas type
<—>» |Llength X35% | Duty cycle @ 35%
>l Thickness X 60% | puty cycle @ 60%
o Diameter X 100% | puty cycle @ 100%
Gr Weight of TIG ceramic nozzles A Ampere
I‘: Connection type Q o Wire diameter
.F- Plasma cutting torch type O~ SPEED | Wire feed speed
Yomn MIG (GMAW) welding torch type @ E— | Electrode diameter
#—- TIG (GTAW) welding torch type — Contact cutting short wear parts
Tungsten electrode type ! Contact cutting long wear parts
REF International reference — Drag cutting short wear parts
#’ Quantity per pack ! Drag cutting long wear parts
PCS X a Pieces per blister - Gouging wear parts
X &l Blisters per box == TIP HOLE | Tip hole to be used with the flow meter during the air flow test
PCSX #’ Pieces per box/kit ORiNG 0-ring (used for liners)
“;‘. Air cooling IWC220 | Fixed head (used for liners)
% Water cooling i Passing head (used for liners)

L 1mL

Plasma torch weight at a height of 1 meter

Internal diameter

sraus

MIG torch weight at a height of 1 meter

External diameter

f—

m

TIG torch weight at a height of 1 meter

External diameter without cover (used for liners)

m Plasma torch without high frequency 0’ Hexagon size
m Plasma torch with high frequency AWG American Wire Gauge
V PEAK | Voltage class @ Cable size (diameter)

"i"% Air pressure -‘;‘vﬁ,’N Minimum air flow

K4 0 Air consumption -‘;‘v,ﬂx Maximum air flow

_!_: Cutting thickness 'D?Z@ Capture efficiency

é% Coolant pressure % IFF | Pressure difference with minimum flow
V MOTOR | Motor voltage Flow connector

Coolant flow rate

08
556 1 gsss

Flow nozzle

TIG torch head lenght




= trafimet

a KEMPPI company

[w] 3 [m]

| |
E .
M
Trafimet Group Spa

Via del Lavoro, 8
36020 Castegnero
Vicenza, Italy

Ph. +39 0444739900
info@trafimet.com

Trafimet Schweisstechnik GmbH
Bismarckstrale 9

36251 Bad Hersfeld
Deutschland

Ph. +49 6621 510960
info@trafimet.de

Italy

Ph. +39 0444 739800
Fax +39 0444 739899

Export

Ph. +39 0444 739900
Fax +39 0444 739999

Trafimet Group SpA a socio unico

A Kemppi Oy Group company Edition
04/2024

Code EA2775

Trafimet Kaynak Sistemleri A.S.
ikitelli 0.S.B. Heskop H Blok
Sinpas Is Modern Ticaret Merkezi
Kat.3 No.66 Basaksehir 34490
istanbul, Tiirkiye

Ph. +90 212 8091700
info@trafimet.com.tr

All trademarks are exclusive property of the respective companies.
Data and images are indicative and may be changed in any time without notice.

Distributor




